
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

BIOMOLECULES

Problems

1. Can all the trioses are optically active ? 

Watch Video Solution

2. A disaccharide 'X' on hydrolysis gives two C-epimeric

monosaccharides 'Y' and 'Z'. Then what is 'X'? 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BF1R0BS8Lm9W
https://dl.doubtnut.com/l/_tEaqtPn18RQB


Watch Video Solution

3. Can all the disaccharides are reducing sugars ? 

Watch Video Solution

4. Though fructose is a keto hexose, it is a reducing sugar.

Why? 

Watch Video Solution

5. Starch and cellulose possess the same molecular formula,

but starch is water soluble and cellulose is water insoluble.

Why? 

W t h Vid S l ti

https://dl.doubtnut.com/l/_tEaqtPn18RQB
https://dl.doubtnut.com/l/_D5z97KC4nJya
https://dl.doubtnut.com/l/_oQxU6cvs68vd
https://dl.doubtnut.com/l/_fdN0HIw0U672


Watch Video Solution

6. There are three disaccharides A, B and C. The hydrolysis

products of 'A'are functional isomers and of 'B'are epimers.

But the hydrolysis products of 'C' are neither epimers nor

functional isomers. Then what are A, B and C? 

Watch Video Solution

7. Why sucrose is called invert sugar ? 

Watch Video Solution

8. Mutarotation is observed maltose and lactose. Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_fdN0HIw0U672
https://dl.doubtnut.com/l/_IyOHh6IfXgcw
https://dl.doubtnut.com/l/_F4G1CkkVDflG
https://dl.doubtnut.com/l/_CbYbhXt90v51


9. Both sucrose and lactose possess the same molecular

formula, but sucrose is a non-reducing sugar and lactose is a

reducing sugar. Why?

Watch Video Solution

10. Which is more stable among  glucose and 

 glucose? Why?

Watch Video Solution

α − D −

β − D −

11. Glycine is optically inactive. Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_CbYbhXt90v51
https://dl.doubtnut.com/l/_gJ6AARw1udrs
https://dl.doubtnut.com/l/_5dJVZX52z5Qh
https://dl.doubtnut.com/l/_jO1hhaQo96As


12. Is it possible to get original egg after boiling? 

Watch Video Solution

13. What is called a  helix of protein ? 

Watch Video Solution

3.613

14. What is meant by avitaminosis? 

Watch Video Solution

15. Who needs more vitamins, either elders or youngsters ? 

Watch Video Solution

https://dl.doubtnut.com/l/_WOJXL8HX92cy
https://dl.doubtnut.com/l/_zeajnNr6SgJ8
https://dl.doubtnut.com/l/_XEwchjFb3G8D
https://dl.doubtnut.com/l/_eMlaR9yKZe7k


16. What is the difference between animal and plant

hormones? 

Watch Video Solution

17. Can all the trioses are optically active ? 

Watch Video Solution

18. A disaccharide 'X' on hydrolysis gives two C-epimeric

monosaccharides 'Y' and 'Z'. Then what is 'X'? 

Watch Video Solution

https://dl.doubtnut.com/l/_eMlaR9yKZe7k
https://dl.doubtnut.com/l/_4Sr9UOgv4kNa
https://dl.doubtnut.com/l/_L7QUAD1XeVG8
https://dl.doubtnut.com/l/_cOclT00cOzI1


19. Can all the disaccharides are reducing sugars ? 

Watch Video Solution

20. Though fructose is a keto hexose, it is a reducing sugar.

Why? 

Watch Video Solution

21. Starch and cellulose possess the same molecular formula,

but starch is water soluble and cellulose is water insoluble.

Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_ojJUwAg6HIOI
https://dl.doubtnut.com/l/_Sos7AfylDxO9
https://dl.doubtnut.com/l/_L7V3pYyeF7TE
https://dl.doubtnut.com/l/_NzsKfvBQsFzu


22. There are three disaccharides A, B and C. The hydrolysis

products of 'A'are functional isomers and of 'B'are epimers.

But the hydrolysis products of 'C' are neither epimers nor

functional isomers. Then what are A, B and C? 

Watch Video Solution

23. Why sucrose is called invert sugar ? 

Watch Video Solution

24. Mutarotation is observed maltose and lactose. Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_NzsKfvBQsFzu
https://dl.doubtnut.com/l/_V2sJpFyZV7q2
https://dl.doubtnut.com/l/_aJ8cFOvRew67


25. Both sucrose and lactose possess the same molecular

formula, but sucrose is a non-reducing sugar and lactose is a

reducing sugar. Why?

Watch Video Solution

26. Which is more stable among  glucose and 

 glucose? Why?

Watch Video Solution

α − D −

β − D −

27. Why glucoses called dextrose andfructose is called

laevulose ?

Watch Video Solution

https://dl.doubtnut.com/l/_d6DRKHaUOCHn
https://dl.doubtnut.com/l/_cMeTMQU7srg4
https://dl.doubtnut.com/l/_okdeaOlHZOLH


28. Glycine is optically inactive. Why? 

Watch Video Solution

29. Is it possible to get original egg after boiling? 

Watch Video Solution

30. What is called a  helix of protein ? 

Watch Video Solution

3.613

31. Why adenine always pairs with thymine and guanine with

cytosine ?

https://dl.doubtnut.com/l/_zwxtzcaaSVfL
https://dl.doubtnut.com/l/_blU8ne5h3WVL
https://dl.doubtnut.com/l/_J5EG2fkiPRj0
https://dl.doubtnut.com/l/_iPhLK1JhgXP7


Watch Video Solution

32. Why DNA finger printing is useful for indentifying

criminals ?

Watch Video Solution

33. What is meant by avitaminosis? 

Watch Video Solution

34. Who needs more vitamins, either elders or youngsters ? 

Watch Video Solution

https://dl.doubtnut.com/l/_iPhLK1JhgXP7
https://dl.doubtnut.com/l/_AMlV1YL6cqog
https://dl.doubtnut.com/l/_CD4dP8CJevGg
https://dl.doubtnut.com/l/_sL0pZLGFkvEB


Subjective Exercise 1 Short Answer Questions

35. What is the difference between animal and plant

hormones? 

Watch Video Solution

36. Progesterone

Watch Video Solution

1. What are di, tri and oligo saccharides? Give examples. 

Watch Video Solution

https://dl.doubtnut.com/l/_5hfjMXVu5v8W
https://dl.doubtnut.com/l/_lo5o7OA1znKi
https://dl.doubtnut.com/l/_5ABgbe2TFC8U
https://dl.doubtnut.com/l/_MRzURMw4ACfy


2. What is the difference between starch and cellulose? 

Watch Video Solution

3. What is meant by  notations

among monosaccharides? 

Watch Video Solution

d − , 1 − and D, L −

4. What is animal starch? Why is it called so? 

Watch Video Solution

5. Define reducing and non-reducing sugars. 

Watch Video Solution

https://dl.doubtnut.com/l/_MRzURMw4ACfy
https://dl.doubtnut.com/l/_xVcz56piUWx6
https://dl.doubtnut.com/l/_tw16OB6V6qqj
https://dl.doubtnut.com/l/_afz6Bi0yPu4I


6. Give the structures of  -Glucopyranose and 

Glucopyranose. 

Watch Video Solution

α β −

7. Starch is soft but cellulose is hard and rigid. Explain? 

Watch Video Solution

8. What is mutarotation? Discuss with respect to van

Ekenstein's rearrangement. 

Watch Video Solution

https://dl.doubtnut.com/l/_afz6Bi0yPu4I
https://dl.doubtnut.com/l/_HTffOV3fVMak
https://dl.doubtnut.com/l/_cBIagfU9AI9x
https://dl.doubtnut.com/l/_LEDdKOz5Nojq
https://dl.doubtnut.com/l/_ujMtBPUlhy1g


9. What is the basic structural difference between starch and

cellulose ?

Watch Video Solution

10. Why hydrolysis of sucrose is called inversion of sucrose ? 

Watch Video Solution

11. Explain the cyclic structures of glucose and fructose. 

Watch Video Solution

12. Write the linkage present between the monomers of the

following disaccharides: 

https://dl.doubtnut.com/l/_ujMtBPUlhy1g
https://dl.doubtnut.com/l/_2MSDpJMb23dD
https://dl.doubtnut.com/l/_W7TRKoyPjkcu
https://dl.doubtnut.com/l/_ifB5Sx3qGShE


a) Sucrose, b) Maltose and c) Lactose 

Watch Video Solution

13. Eventhough fructose contains ketone group, it is reducing

sugar, Why? 

Watch Video Solution

14. How many stereomers are possible for aldohexose and

ketohexose ? 

Watch Video Solution

https://dl.doubtnut.com/l/_ifB5Sx3qGShE
https://dl.doubtnut.com/l/_95BH0tsL96U4
https://dl.doubtnut.com/l/_2wuMBXK9e8PC


Subjective Exercise 2 Short Answer Questions

15. What are the hydrolysis products of sucrose, maltose and

lactose ?

Watch Video Solution

16. How can you say that in the pentaacetate of D-Glucose,

there is no free aldehydic group ?

Watch Video Solution

17. Give two main functions of carbohydrates in plants. 

Watch Video Solution

https://dl.doubtnut.com/l/_gOWLowjCaHqY
https://dl.doubtnut.com/l/_hDjVICKmAWfc
https://dl.doubtnut.com/l/_itzopSYgXx3I


1. What are petides ? Give example ?

Watch Video Solution

2. What is the main component present in purine and

pyramidine ? 

Watch Video Solution

3. Which sugars are present in DNA and RNA ? Give these

structures. 

Watch Video Solution

https://dl.doubtnut.com/l/_wDwsXmQi4X5d
https://dl.doubtnut.com/l/_kz2tq1gwkUvp
https://dl.doubtnut.com/l/_Tcy79bPPG5zV


4. What are the main differences between DNA and RNA? 

Watch Video Solution

5. Explain the structures of DNA and RNA. 

Watch Video Solution

6. Write the structures of purine and pyrimidine bases.

Watch Video Solution

7. What are essential and non-essential amino acids? 

Watch Video Solution

https://dl.doubtnut.com/l/_sHlK3GIAo5cM
https://dl.doubtnut.com/l/_C6N8JhZldnFM
https://dl.doubtnut.com/l/_zYirPwpDc5Qx
https://dl.doubtnut.com/l/_GigNrKDpH34k


8. Differentiate between nucleoside and nucleotide. 

Watch Video Solution

9. What is Glycoside bond ? Where'N' glycoside bond is

present ? 

Watch Video Solution

10. What is meant by denaturation and renaturation? 

Watch Video Solution

https://dl.doubtnut.com/l/_GigNrKDpH34k
https://dl.doubtnut.com/l/_EavGvrsVfjwm
https://dl.doubtnut.com/l/_6Zkk7OxuT5wb
https://dl.doubtnut.com/l/_NqUMvu0CGfcT


11. What is a peptide bond? How is the sequence of amino

acids taken? 

Watch Video Solution

12. Write the structures of purines. 

Watch Video Solution

13. Write the structures of pyrimidine bases. 

Watch Video Solution

14. Draw the structures of ribose and deoxyribose sugars. 

https://dl.doubtnut.com/l/_7wmqNBkG6Ojf
https://dl.doubtnut.com/l/_Yu1oliNQkHCe
https://dl.doubtnut.com/l/_xE3FATVbANz0
https://dl.doubtnut.com/l/_ZdHJthU9Whuu


Watch Video Solution

15. Write the applications of DNA finger printing, 

Watch Video Solution

16. Explain the denaturation of proteins.

Watch Video Solution

17. Define enzymes. Explain the mechanism of enzyme

catalysed reaction. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZdHJthU9Whuu
https://dl.doubtnut.com/l/_Nlzo7eJ62uY0
https://dl.doubtnut.com/l/_3XLcSMm4lXz8
https://dl.doubtnut.com/l/_6BedndS2MtJb


Subjective Exercise 3 Short Answer Questions

18. What are the different types of RNA found in the cell?

Watch Video Solution

19. Explain that the two strands of DNA are not identical, but

are complementary.

Watch Video Solution

1. What are hormones and how are they classified ? 

Watch Video Solution

https://dl.doubtnut.com/l/_Cp6MP2W4ukVq
https://dl.doubtnut.com/l/_ssoJpQM3u92y
https://dl.doubtnut.com/l/_6AblGcGCs2cW
https://dl.doubtnut.com/l/_tIMhgTq9aTpd


2. What are stereoidal and non steroidal hormones ? Give

examples. 

Watch Video Solution

3. What are the deficiencies caused by vitamins A, D, E and K?

What are the characteristics of vitamins ? Write the sources

of vitamins. 

Watch Video Solution

4. Write the formula and function of vitamin A. 

Watch Video Solution

https://dl.doubtnut.com/l/_tIMhgTq9aTpd
https://dl.doubtnut.com/l/_P1MmeXAFHHf2
https://dl.doubtnut.com/l/_Tjszm8iWdrfs


5. Write the deficiency defects of vitamins

Watch Video Solution

B1, B2, B6 and B12

6. Write two plant hormones.

Watch Video Solution

7. What are water soluble and fat soluble vitamins ? 

Watch Video Solution

8. Write the role of thyroxin. 

https://dl.doubtnut.com/l/_CLNaWGA6njbr
https://dl.doubtnut.com/l/_hpCrjfOGA9lf
https://dl.doubtnut.com/l/_fm0P5tiWECas
https://dl.doubtnut.com/l/_HlY3LAC9SJxF


Watch Video Solution

9. What are water soluble and fat soluble vitamins ? 

Watch Video Solution

10. Write the effects of deficiency of vitamins

 

Watch Video Solution

B1, B2, B6, B12 and C.

11. What are the deficiencies caused by vitamins . A, D, E and

K? 

Watch Video Solution

https://dl.doubtnut.com/l/_HlY3LAC9SJxF
https://dl.doubtnut.com/l/_pW6yMZc6Rq4C
https://dl.doubtnut.com/l/_NzgHHmgBdhY0
https://dl.doubtnut.com/l/_ONohwwOFXc6V


Objective Exercise 1

1. Which one of the following is a pentose sugar? 

A. Ribose 

B. Arabinose 

C. Lyxose 

D. All the three 

Answer: D

Watch Video Solution

2. Monosaccharides contain 

A. Six carbon atoms only 

https://dl.doubtnut.com/l/_FhED7h8JjsP1
https://dl.doubtnut.com/l/_2wIeliYVshDb


B. Five carbon atoms only 

C. Four carbon atoms only 

D. May contain 3 to 7 carbon atoms. 

Answer: D

Watch Video Solution

3. Raffinose on hydrolysis gives 

A. glucose, fructose and lactose 

B. glucose, fructose and galactose 

C. fructose, glucose and erithrose 

D. glucose, fructose and mannose 

https://dl.doubtnut.com/l/_2wIeliYVshDb
https://dl.doubtnut.com/l/_U1DVoYAwp1l0


Answer: B

Watch Video Solution

4. Which of the following is not an oligosac charide ? 

A. Xylose 

B. Maltose 

C. Raffinose 

D. Sucrose 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_U1DVoYAwp1l0
https://dl.doubtnut.com/l/_aLzKo2gV6Nnm


5. A Laevorotatory sugar present in fruits is 

A. Glucose 

B. Fructose 

C. Sucrose 

D. Lactose 

Answer: B

Watch Video Solution

6. Glucose is not 

A. a hexose 

B. a carbohydrate

https://dl.doubtnut.com/l/_lnafqq5LaMZy
https://dl.doubtnut.com/l/_elrBclNqZP4H


C. an oligosaccharide 

D. an aldose 

Answer: C

Watch Video Solution

7. On heating glucose with Fehling solution, we get a

precipitate whose colour is 

A. Orange 

B. Red 

C. Black 

D. White 

Answer: B

https://dl.doubtnut.com/l/_elrBclNqZP4H
https://dl.doubtnut.com/l/_7LQtX7v57d4j


Watch Video Solution

8. Glucose gives silver mirror test with Tollen's reagent. It

shows the presence of 

A. Carboxylic group 

B. Alcoholic group 

C. Ketonic group 

D. Aldehydic group 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7LQtX7v57d4j
https://dl.doubtnut.com/l/_0LGdwrUqgf7v


9. The reagent which forms crystalline osazone derivatives

with glucose is 

A. Fehling solution 

B. Phenyl hydrazine 

C. Benedict's solution 

D. Hydroxylamine 

Answer: B

Watch Video Solution

10. When glucose is heated with nitric acid the product is 

A. Lactic acid 

https://dl.doubtnut.com/l/_HNo9qMqHb0kL
https://dl.doubtnut.com/l/_q65pn5fcnLCs


B. Saccharic acid 

C. Glycollic acid 

D. Oxalic acid 

Answer: B

Watch Video Solution

11. Glucose when heated with  in presence of dry 

 gas gives a and B methyl glycosides because it contains 

A. a  group 

B. a  group 

C. a ring structure 

D. Five  groups 

CH3OH

HCl

−CHO

−CH2OH

−OH

https://dl.doubtnut.com/l/_q65pn5fcnLCs
https://dl.doubtnut.com/l/_7bWbMF3zOD6s


Answer: C

Watch Video Solution

12. When hemiacetal reacts with alcohol the product is 

A. dihemiacetal 

B. alcohol 

C. acetal 

D. Peptide 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7bWbMF3zOD6s
https://dl.doubtnut.com/l/_1lu6R2bClmuD


13. Freshly prepared a-D-glucose solution has specific rotation

and after sometime it becomes 

A. 

B. 

C. 

D. None 

Answer: A

Watch Video Solution

+111∘

+52∘

+99∘

−92∘

14. Which does not show mutarotation? 

A. Glucose 

https://dl.doubtnut.com/l/_iVNuPmEt0PC3
https://dl.doubtnut.com/l/_QoJqxJ9DClx8


B. Fructose 

C. Maltose 

D. Sucrose 

Answer: D

Watch Video Solution

15. Ring structure of glucose is due to formation of

hemiacetal and ring formation is in between

A. 

B. 

C. 

D.  

C1 and C5

C1 and C4

C1 and C3

C2 and C4

https://dl.doubtnut.com/l/_QoJqxJ9DClx8
https://dl.doubtnut.com/l/_q8jTz3SX4HPh


Answer: A

Watch Video Solution

16. The wrong statement about glucose is 

A. It has one  alcoholic group 

B. It has four alcoholic group 

C. It has one aldehydic group 

D. It has one  alcoholic groups 

Answer: D

Watch Video Solution

1∘ −

2∘ −

3∘ −

https://dl.doubtnut.com/l/_q8jTz3SX4HPh
https://dl.doubtnut.com/l/_Mi0sYDVYxJIY


17. Fructose contains 

A. 3 Secondary alcoholic groups 

B. One ketonic group 

C. 2 Primary alcoholic groups 

D. All the above 

Answer: D

Watch Video Solution

18. The fischer projection of glyceraldehyde representing

correct configuration in terms of D & L, R & S and d & 1

https://dl.doubtnut.com/l/_bfXcUOtDcSAp
https://dl.doubtnut.com/l/_Z07nY9yHiSls


designations respectively 

A. D, R, d

B. D, R, l

C. D, S, d

D. D, S, l

Answer: A

h id l i

https://dl.doubtnut.com/l/_Z07nY9yHiSls


Watch Video Solution

19. Which of the following is called as Laevulose? 

A. Glucose 

B. Fructose 

C. Lactose 

D. Maltose  

Answer: B

Watch Video Solution

20. The sweetest sugar among the following is 

A. Fructose 

https://dl.doubtnut.com/l/_Z07nY9yHiSls
https://dl.doubtnut.com/l/_agMIgco1dOrn
https://dl.doubtnut.com/l/_qHTW6u6mgDP6


B. Glucose 

C. Sucrose 

D. lactose   

Answer: A

Watch Video Solution

21. For naturally occurring fructose, the configuration and

sign of specific rotation respectively 

A. 

B.  

C. 

D. 

D, −

D, +

L, −

L. +

https://dl.doubtnut.com/l/_qHTW6u6mgDP6
https://dl.doubtnut.com/l/_ngnQq8q99xTd


Answer: A

Watch Video Solution

22. Glyceraldehyde and Dihydroxy acetone are a pair of 

A. Anomers

B. Enantiomeres 

C. Functional isomers 

D. Epimers 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ngnQq8q99xTd
https://dl.doubtnut.com/l/_BbWqrFgl6iCM


23. According to CIP rules, the configuration of 

glyceraldehyde can be designed as 

A. R 

B. S 

C. D 

D. L 

Answer: A

Watch Video Solution

( + ) −

24. Accroding to CIP rules, the configuration of chiral carbon

atoms in  glucose are D − ( + ) −

https://dl.doubtnut.com/l/_8jQZPQPqQeMm
https://dl.doubtnut.com/l/_jxOsxzEqyy3w


A. 2S, 3S, 4R, 5R 

B. 2S, 3R, 4S, 5R 

C. 2R, 3R, 4S, 5S

D. 2R, 3S, 4R, 5R 

Answer: D

Watch Video Solution

25. Glucose and cane sugar can't be distinguished by 

A. Fehling's solution 

B. Baeyer's reagent 

C. Tollens' reagent 

D. Benedict's solution 

https://dl.doubtnut.com/l/_jxOsxzEqyy3w
https://dl.doubtnut.com/l/_5uWzbknlZo8I


Answer: B

Watch Video Solution

26. In which of the following all are disaccharides? 

A. Maltose, Sucrose, Lactose 

B. Maltose, Lactose, Glucose 

C. Glycogen, Lactose, Sucrose 

D. Starch, Maltose, Lactose 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5uWzbknlZo8I
https://dl.doubtnut.com/l/_G8LFiIZcx8KE


27. A disaccharide on hydrolysis gives 

A. Two molecules of the same mono saccharide 

B. Two differnt monosaccharides 

C. Three molecules of the same mono saccharide

D. Two molecules of the same or different

monosaccharides 

Answer: D

Watch Video Solution

28. Change in optical rotation of sucrose solution due to

hydrolysis is called 

https://dl.doubtnut.com/l/_DWayeFCUowGu
https://dl.doubtnut.com/l/_wlBsd7j94fzO


A. Specific rotation 

B. Inversion 

C. Rotatory motion 

D. Mutarotation 

Answer: B

Watch Video Solution

29. Inverted sugar is 

A. Optically inactive form of sugar 

B. Equimolecular mixture of glucose and fructose 

C. Mixture of glucose and fructose 

D. A variety of cane sugar 

https://dl.doubtnut.com/l/_wlBsd7j94fzO
https://dl.doubtnut.com/l/_8vJxMnz0RwMP


Answer: B

Watch Video Solution

30. Which of the following is not a reducing sugar? 

A. Glucose 

B. Sucrose 

C. Lactose  

D. Maltose 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8vJxMnz0RwMP
https://dl.doubtnut.com/l/_ldynNxmmaDN8


31. Explain the classification of carbohydrates.

A. Link between two carbon atoms in a carbohydrate by a

covalent bond 

B. Link between a carbon atom and an oxygen atom 

C. Link between carbon atoms in a carbo hydrate through

an oxygen atom formed by elimination of water 

D. None of these 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1IemlQSNPWT6


32. Identify the one which does not belong to the class to

which the other three belong based on hydrolysis

A. Sucrose 

B. Fructose 

C. Lactose 

D. Maltose 

Answer: B

Watch Video Solution

33. Which among the following does not give a silver mirror

test with Tollen's reagent?

https://dl.doubtnut.com/l/_cTqQCgkJ9C9Z
https://dl.doubtnut.com/l/_umwk2cOEo2l9


A. Fructose 

B. Glucose 

C. Galactose 

D. Sucrose 

Answer: D

Watch Video Solution

34. Sucrose molecule contains

A. a glucopyranose and a fructopyranose units 

B. a glucopyranose and a fructofuranose units 

C. a glucofuranose and a fructopyranose units 

D. a glucofuranoseand a fructofuranose units 

https://dl.doubtnut.com/l/_umwk2cOEo2l9
https://dl.doubtnut.com/l/_RCFoeQ52ZgMd


Answer: B

Watch Video Solution

35. Maltose consists of

A. Only  glucose units 

B.  Glucose units 

C. Glucose and fructose 

D. Fructose only Polysaccharides 

Answer: A

Watch Video Solution

α − D

α − and B − D

https://dl.doubtnut.com/l/_RCFoeQ52ZgMd
https://dl.doubtnut.com/l/_ZjcAfMgZx80G


36. Which of the following is animal polysaccharide?

A. Amylopectin 

B. Glycogen 

C. Amylose 

D. Cellulose 

Answer: B

Watch Video Solution

37. Amylose consists of

A. Branched chain of  glucose units 

B. Unbranched chain of  glucose units

α − D −

β − D −

https://dl.doubtnut.com/l/_BpwOGFHEjlJ8
https://dl.doubtnut.com/l/_tvzhdUuh516Q


C. Units of sucrose

D. Unbranched chain of  glucose units 

Answer: D

Watch Video Solution

α − D −

38. Amylopectin is a polymer of

A.  glucose

B.  glucose 

C.  fructose 

D.  fructose 

Answer: B

W t h Vid S l ti

β − D

α − D

β − D

α − D

https://dl.doubtnut.com/l/_tvzhdUuh516Q
https://dl.doubtnut.com/l/_U9RO9XkqCInM


Watch Video Solution

39. In Amylpectin the linkage absent is

A. 

B. 

C. 

D. Both  

Answer: C

Watch Video Solution

C1&C4

C1&C6

C1&C2

C1&C6 and C1&C4

40. Directconversion of starch into glucose may   be carried

out by 

https://dl.doubtnut.com/l/_U9RO9XkqCInM
https://dl.doubtnut.com/l/_bFancS28XB9z
https://dl.doubtnut.com/l/_3OgInMv0Ubht


A. fermentationwith diastase 

B. fermentation with zymase 

C. heating it with dil HCI 

D. fermentation with maltase 

Answer: C

Watch Video Solution

41. The intermediate compound in the conversion of starch to

glucose is

A. Lactose 

B. Maltose 

C. Fructose 

https://dl.doubtnut.com/l/_3OgInMv0Ubht
https://dl.doubtnut.com/l/_L9Ht8HJfmmX4


D. Sucrose 

Answer: B

Watch Video Solution

42. Starch is turned to disaccharide in presence of

A. Maltase 

B. Zymase 

C. Diastase 

D. Lactase 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_L9Ht8HJfmmX4
https://dl.doubtnut.com/l/_IgKnyPiSLufX


43. Which one of the following statements about starch is

correct?

A. It occurs in the cell wall of plants 

B. It is a disaccharide 

C. It gives a dark blue colour with iodine solution 

D. It gives an orange red precipitate on boiling with

Fehling's solution 

Answer: C

Watch Video Solution

44. Which of the following carbohydrates is the essential

constituent of cell wall?

https://dl.doubtnut.com/l/_4xXKVknygNOA
https://dl.doubtnut.com/l/_FZPlXSQH1QQh


A. Starch 

B. Maltose 

C. Cellulose 

D. Sucrose 

Answer: C

Watch Video Solution

45. Cellulose is

A. L- fructose 

B. D-fructose 

C. D-glucose 

D. Amylose

https://dl.doubtnut.com/l/_FZPlXSQH1QQh
https://dl.doubtnut.com/l/_GbCJxYOesFLf


Answer: C

Watch Video Solution

46. Cellulose is

A. hydrogen Bonding

B.  glycosidic linkage 

C. cell wall material 

D. vegetable matter 

Answer: A

Watch Video Solution

β(1.4)

https://dl.doubtnut.com/l/_GbCJxYOesFLf
https://dl.doubtnut.com/l/_SSEDPTGSltAj


47. Which of the following can exist as food storages and

structural materials?

A. Monosaccharides 

B. Disaccharides 

C. Oligosaccharides 

D. Polysaccharides 

Answer: D

Watch Video Solution

48. The carbohydrates are stored in animal bodies as

A. Starch 

https://dl.doubtnut.com/l/_Z4bk42DC5M7t
https://dl.doubtnut.com/l/_tHOMOWPYWfuE


B. Amylum 

C. Glycogen 

D. Cellulose 

Answer: C

Watch Video Solution

49. Which of the following is a branched chain

polysaccharide?

A. Cellulose 

B. Raffinose 

C. Amylose 

D. Glycogen 

https://dl.doubtnut.com/l/_tHOMOWPYWfuE
https://dl.doubtnut.com/l/_3zkNScxhmssF


Answer: D

Watch Video Solution

50. Which of the following antiseptic is a carbohydrate ?  

A) Streptomycin  

B) Gentamycin  

C)Neomycin 

A. A, B 

B. A, C 

C. B, C 

D. A, B, C 

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_3zkNScxhmssF
https://dl.doubtnut.com/l/_LGWyplop5ZwC


Watch Video Solution

51. (A) Glucose shows mutarotation 

(R) Glucose is in pyranose form and has free anomeric

hydroxyl group.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LGWyplop5ZwC
https://dl.doubtnut.com/l/_KOU9y4RV8krG


52. (A) Sucrose is not a reducing sugar. 

(R) In sucrose, glucose is in pyranose form and fructose is in

furanose form.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KOU9y4RV8krG
https://dl.doubtnut.com/l/_XKC6OKbSz4XS


53. (A) Fructose is the sweetest naturally occuring sugar. 

(R) Fructose is a functional isomer of glucose.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PUcoBMmQrYlY


54. (A) Cellulose is not digested by human beings. 

(R) Human beings are not having cellulose digestable

enzymes.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fji7lj0iWreT
https://dl.doubtnut.com/l/_4yuVjk3Z7hE4


55. (A) In a sucrose molecule, glucose is present in the

furanose form and fructose is present in the pyranose form. 

(R) Pyranose and furanose are homocyclic ring compounds.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4yuVjk3Z7hE4


56. (A) Reducing sugars undergo mutarotion. 

(R) During mutarotation, one pure anomer is converted into

an equilibrium mixture of two anomers

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DCrKO9QioH0q
https://dl.doubtnut.com/l/_OpbcSJNiuX9Z


57. (A) Galactose is the  epimer of glucose. 

(R) Glucose and galactose differ in configura- tion at .

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: A

Watch Video Solution

C4

C4

https://dl.doubtnut.com/l/_OpbcSJNiuX9Z


58. (A) Sucrose is an example of reducing sugar. 

(R) Sucrose gives silver mirror test with Tollens reagent.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_obhXkfM6oj1V


59. (A): Lactose on hydrolysis gives glucose and gallactose. 

(R): Lactose is an example of disaccharide. 

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vUzNRLTJeErW


60. (A) Cellulose is not digested by human beings. 

(R) Human beings are not having cellulose digestable

enzymes.

A. Both A & R are true and R is the correct explanation of

A 

B. Both A & R are true, but R is not the correct explanation

of A 

C. A is true, R is false 

D. A is false, R is true 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Fkxh1Kv25FiK
https://dl.doubtnut.com/l/_L3nfndbdxAFt


61. The peptide linkage is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−
∣

C
∣
H − COO − NH

−
∣

C
∣
H − CO − NH −

−
∣

C
∣
H − CH2 − CO − NH2

−
∣

CH − NH − NH − CO −

62. Which of the following contains nitrogen ?

A. Fats

B. Proteins 

C. Carbohydrates

https://dl.doubtnut.com/l/_L3nfndbdxAFt
https://dl.doubtnut.com/l/_3aDDnaTMESmk


D. Hydrocarbons

Answer: B

Watch Video Solution

63. The building unit of all proteins are

A. Monosaccharides 

B. lipids

C. amino acids

D. primary amines

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3aDDnaTMESmk
https://dl.doubtnut.com/l/_DFYXmmTsxxs4


64. Number of peptide linkages in the artificial sweetner

''aspartame'' is

A. 3

B. 2

C. 6

D. 4

Answer: B

Watch Video Solution

65. The structural feature which distinguishes proline from 

- amino acids is that

α

https://dl.doubtnut.com/l/_xpxZWp9lDLd1
https://dl.doubtnut.com/l/_Uu0eoG5qoi0S


A. It is optically inactive

B. It contains aromatic group

C. It is a dicarboxylic acid

D. It is a secondary amine 

Answer: D

Watch Video Solution

66. Which of the following amino acids possesses a non polar

side chain

A. isoleucine

B. serine

C. cysteine

https://dl.doubtnut.com/l/_Uu0eoG5qoi0S
https://dl.doubtnut.com/l/_MzTPTSqFM0aH


D. glutamic acid

Answer: A

Watch Video Solution

67. Which of the following amino acids contains a thiol group

in the side chain

A. methionine

B. cysteine

C. valine

D. serine 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MzTPTSqFM0aH
https://dl.doubtnut.com/l/_6rSrF6LUkrAq


68. The amino acid which contain a hydroxy group in the side

chain

A. cysteine

B. glutamine

C. serine

D. Leucine

Answer: C

Watch Video Solution

69. Essential amino acid among the following is

https://dl.doubtnut.com/l/_6rSrF6LUkrAq
https://dl.doubtnut.com/l/_ojEd8bSIl5mp
https://dl.doubtnut.com/l/_wKdEccO81lOl


A. Glycine

B. Tryptophan

C. Alanine

D. Proline 

Answer: B

Watch Video Solution

70. The number of amino acids found in proteins that a

human body can synthesize is

A. 20

B. 10

C. 5 

https://dl.doubtnut.com/l/_wKdEccO81lOl
https://dl.doubtnut.com/l/_vLfeWRh8dlA1


D. 14 

Answer: B

Watch Video Solution

71. Which one of the following is not an essential anino acid?

A. Valine

B. Leucine

C. Lysine

D. Alanine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vLfeWRh8dlA1
https://dl.doubtnut.com/l/_OnP4Q6Th0bXL


72. Among the following the basic amino acid is

A. Glycine

B. Argenine

C. Proline

D. Cysteine 

Answer: B

Watch Video Solution

73. Which of the following statement is not correct ?

A. proteins are polyamides formed from amino aicds

https://dl.doubtnut.com/l/_rncL8wbnYhDg
https://dl.doubtnut.com/l/_bZCtVSCGSxqp


B. except glycine, all other amino acids show optical

activity

C. natural proteins are made up of L -isomers of amino

acids

D. in  amino acids,  groups are

attached to different carbon atoms 

Answer: D

Watch Video Solution

α −NH2 and − COOH

74. For an aminoacid 'X', the isoelectric point is 6.1. Then 'X' is

A. Acidic amino acid

B. Basic amino acid

https://dl.doubtnut.com/l/_bZCtVSCGSxqp
https://dl.doubtnut.com/l/_149tgNhFdhbF


C. Neutral amino acid

D. Acidic or basic amino acid 

Answer: C

Watch Video Solution

75. Which of the following statements is not correct

A. amino acid can exist as inner salt

B. each polypeptide has one C-terminal and other N-

terminal

C. enzymes are naturally occurring simple proteins

D. the union of two amino acids produces two peptide

linkages 

https://dl.doubtnut.com/l/_149tgNhFdhbF
https://dl.doubtnut.com/l/_GVEzsOhYz8r5


Answer: D

Watch Video Solution

76. The primary structure of a protein tells about

A. 3D arrangement of all atoms

B. shape of poly peptide chain

C. specific sequence of amino acids

D. 3D arrangement of oligo peptide chains 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GVEzsOhYz8r5
https://dl.doubtnut.com/l/_XNNo37iJfu0M


77. The dipeptide glyclalanine contains

A. glycine as C-terminal residue

B. glycine as N-terminal residue

C. alanine as N-terminal residue

D. either (1) or (2) 

Answer: B

Watch Video Solution

78.  - pleated structure of proteins is

A. Primary structure 

B. Secondary structure 

β

https://dl.doubtnut.com/l/_CT7IRSincaD9
https://dl.doubtnut.com/l/_BenJS1aoPLJc


C. Tertiary structure 

D. Quaternary structure 

Answer: B

Watch Video Solution

79. The back bone for different segments in a protein is in the

following form.

A. helix 

B. -pleated 

C. Coil

D. 1 or 3 

Answer: D

α −

α

https://dl.doubtnut.com/l/_BenJS1aoPLJc
https://dl.doubtnut.com/l/_zNtD8D3dIlmW


Watch Video Solution

80. The helical structure of proteins is stabilized by

A. H-bonding 

B. van der Waals' forces 

C. ionic bond 

D. peptide bond 

Answer: A

Watch Video Solution

81. Secondary structure of protein refers to

https://dl.doubtnut.com/l/_zNtD8D3dIlmW
https://dl.doubtnut.com/l/_S2occB0mDLBy
https://dl.doubtnut.com/l/_avusDMSkKDSb


A. Mainly denatured proteins and structure of prosthetic

groups  

B. Three-dimensional structure, especially the bond

between amino acid residues that are distinct from

each other in the polypeptide chain  

C. Linear sequence of amino acid residues in the

polypeptide chain  

D. Regular folding patterns of continuous portions of the

polypeptide chain 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_avusDMSkKDSb


82. The bond that determines the secondary structure of a

protein is

A. Co-ordinate bond  

B. Covalent bond  

C. Hydrogen bond  

D. Ionic bond 

Answer: C

Watch Video Solution

83. Which of the following is a globular protein ?

A. Collagen  

https://dl.doubtnut.com/l/_Wy00bhbQ3zBR
https://dl.doubtnut.com/l/_KA3kNkfgUsOU


B. Myoglobin and Haemoglobin  

C. Myosin  

D. Enzymes

Answer: B

Watch Video Solution

84. Tertiary structure of a protein will lead the polypeptide

chains to get the following shapes

A. linear, octahedral  

B. angular, tetrahedral  

C. fibrous, globular  

D. fibrous, planar 

https://dl.doubtnut.com/l/_KA3kNkfgUsOU
https://dl.doubtnut.com/l/_RNaPC9mFM4mb


Answer: C

Watch Video Solution

85. Maximum possible hydrogen bonds are present in

A.  Helix  

B. Keratin  

C. Silk fibroin  

D. -D - fructose 

Answer: A

Watch Video Solution

3.613

β

https://dl.doubtnut.com/l/_RNaPC9mFM4mb
https://dl.doubtnut.com/l/_DOwnBvMof76D


86. Mark the wrong statement about denaturation of

proteins  

A. The primary structure of the protein does not change  

B. Globular proteins are converted into fibrous proteins  

C. Fibrous proteins are converted into globular proteins  

D. The biological activity of the protein is not cancelled 

Answer: D

Watch Video Solution

87. The restriction of the biological nature and activity of

proteins by heat or chemical agent is called

https://dl.doubtnut.com/l/_BxGZnbAI7LBq
https://dl.doubtnut.com/l/_fzxt2x3IyMBO


A. dehydration  

B. denaturation  

C. deoxidation  

D. denitrogenation

Answer: B

Watch Video Solution

88. Addition of an electrolyte such as sodium dodecyl

sulphate causes

A. renaturation of proteins since it stabilises hydrophobic

interactions  

https://dl.doubtnut.com/l/_fzxt2x3IyMBO
https://dl.doubtnut.com/l/_igEuseZK0EWi


B. denaturation of proteins since it disturbs hydrophobic

interactions  

C. renaturation of proteins since it maintains necessary

isoelectric point  

D. denaturation of proteins since it causes cleavage of

 bonds

Answer: B

Watch Video Solution

O = C − N − H

89. Which of the following is an example of ''irreversible

denaturation'' of a protein ?

A. boiling egg  

https://dl.doubtnut.com/l/_igEuseZK0EWi
https://dl.doubtnut.com/l/_1wk7J5FpHb6l


B. change of amino acid  

C. enzymatic action  

D. its synthesis 

Answer: A

Watch Video Solution

90. Enzymes are

A. Complex nitrogenous substances produced in living

cells 

B. Steroids  

C. Living organisms  

D. Dead organisms 

https://dl.doubtnut.com/l/_1wk7J5FpHb6l
https://dl.doubtnut.com/l/_fFwnSYm4MAFj


Answer: A

Watch Video Solution

91. Nuclear types of proteins based on molecular shape . 

A. 1  

B. 2.  

C. 3  

D. 4 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fFwnSYm4MAFj
https://dl.doubtnut.com/l/_JtrMcapn7GSj


92. Structure that gives the sequence of amino acids of a

protein  

A. Primary  

B. Secondary  

C. Tertiary  

D. Quaternary 

Answer: A

Watch Video Solution

93. The function of enzymes in the living system is to

A. transport oxygen  

https://dl.doubtnut.com/l/_ocdtjXj0DvGu
https://dl.doubtnut.com/l/_iSGzw6coMncB


B. provide immunity  

C. catalyse biochemical reactions  

D. provide energy 

Answer: C

Watch Video Solution

94. Which one of the following is not a protein ?

A. Wool  

B. Nail  

C. Hair  

D. DNA 

https://dl.doubtnut.com/l/_iSGzw6coMncB
https://dl.doubtnut.com/l/_Y7t6AoGiLcrz


Answer: D

Watch Video Solution

95. Enzymes belong to which class of compounds ?

A. Polysaccharides  

B. Polypeptides  

C. Polynitro heterocyclic compounds  

D. Hydrocarbons 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Y7t6AoGiLcrz
https://dl.doubtnut.com/l/_ybVldvfgROIb


96. Enzymes are made up of

A. Edible proteins  

B. Proteins with specific structure  

C. Nitrogen containing carbohydrates  

D. Carbohydrates 

Answer: B

Watch Video Solution

97. Regarding enzymes, incorrect statement is

A. an enzyme is generally a protein  

B. an enzyme may be a conjugated protein  

https://dl.doubtnut.com/l/_ARiGJmrhlq6q
https://dl.doubtnut.com/l/_YFid2HqFtJfn


C. enzyme gets deactivated during reactions  

D. enzyme gets activated during reactions 

Answer: D

Watch Video Solution

98. Which of the following constitutes the genetic material of

the cell ?

A. Nucleic acids  

B. Proteins  

C. Lipids  

D. Carbohydrates  

Answer: A

https://dl.doubtnut.com/l/_YFid2HqFtJfn
https://dl.doubtnut.com/l/_BqoWNv53Wh0A


Watch Video Solution

99. Nuclic acids are called acids mainly because of the

presence of

A.  group  

B.  group of sugar unit  

C.  group of the heterocyclic base  

D.  group of phosphate unit 

Answer: D

Watch Video Solution

−COOH

−OH

−OH

−OH

100. Which of the following is not a pyrimidine base

https://dl.doubtnut.com/l/_BqoWNv53Wh0A
https://dl.doubtnut.com/l/_YMy8Rbtx8V1B
https://dl.doubtnut.com/l/_SPvILFJJXGfp


A. Uracil  

B. Thymine  

C. Cytosine  

D. Guanine 

Answer: D

Watch Video Solution

101. The following does not belong to either purines or

pyrimidines

A. Tryptophan  

B. Cytosine  

C. Uracil  

https://dl.doubtnut.com/l/_SPvILFJJXGfp
https://dl.doubtnut.com/l/_6SNPIDPEuikn


D. Adenine 

Answer: A

Watch Video Solution

102. Purine without ketonic group is

A. adenine 

B. adenosine  

C. cytidine  

D. thymidine 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6SNPIDPEuikn
https://dl.doubtnut.com/l/_FivvdoOdOyKA


103. The purine base present in RNA is

A. Guanine  

B. Thymine  

C. Cytosine  

D. Uracil 

Answer: A

Watch Video Solution

104. 6 - amino purine is

A. Adenosine  

B. Adenine  

https://dl.doubtnut.com/l/_WUmtOuk2zWoY
https://dl.doubtnut.com/l/_tkwJpAgwCAVf


C. Cytosine  

D. Thymine 

Answer: B

Watch Video Solution

105. The bases that are common in both RNA and DNA are

A. adenine, guanine, cytosine  

B. adenine, guanine, thymine  

C. adenine, uracil, cytosine  

D. guanine, uracil, thymine

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_tkwJpAgwCAVf
https://dl.doubtnut.com/l/_zHnSLH7dLCXj


Watch Video Solution

106. Adenosine monophosphane (AMP) is a

A. nucleotide  

B. nucleoside 

C. insecticide  

D. antibacterial 

Answer: A

Watch Video Solution

107. The 3.-5. phosphodiester linkages inside a polynucleotide

chain serve to join

https://dl.doubtnut.com/l/_zHnSLH7dLCXj
https://dl.doubtnut.com/l/_nFTmlnNgZwY8
https://dl.doubtnut.com/l/_bp5vWaO2uTe1


A. 5' and l' carbons  

B. 5' and 3' carbons  

C. 1' and 5 carbons  

D. 3' and 5' carbons 

Answer: B

Watch Video Solution

108. Which one of the following is not present in DNA ?

A. adenine  

B. ribose  

C. cytosine  

D. guanine 

https://dl.doubtnut.com/l/_bp5vWaO2uTe1
https://dl.doubtnut.com/l/_EAtW11MINA68


Answer: B

Watch Video Solution

109. The pentose sugar in DNA and RNA has  

A. Open chain structure  

B. Pyranose structure  

C. Furanose structure  

D. None of the above 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EAtW11MINA68
https://dl.doubtnut.com/l/_GWhHBtMqlsgt


110. Adenosine is an example of a

A. Nucleotide  

B. Nucleoside  

C. Purine base  

D. Pyridine base 

Answer: B

Watch Video Solution

111. Nucleoside on hydrolysis gives

A. Pentose sugar and purine base  

https://dl.doubtnut.com/l/_j8d6BFBfwVdR
https://dl.doubtnut.com/l/_YgZSEmmUVx3o


B. Pentose sugar, phosphoric acid, purine or pyrimidine

base  

C. Pentose sugar and a heterocyclic base  

D. Heterocyclic base and phosphoric acid 

Answer: C

Watch Video Solution

112. In nucleic acids, the sequence is represented as

A. Phosphate - base - sugar  

B. Sugar - base - phosphate  

C. Base - sugar - phosphate  

D. Base - phosphate - sugar 

https://dl.doubtnut.com/l/_YgZSEmmUVx3o
https://dl.doubtnut.com/l/_i5iUdijPmmEd


Answer: C

Watch Video Solution

113. In nucleic acids, the nucleotides are linked to one another

through

A. Hydrogen bond  

B. Peptide bond  

C. Glycosidic linkage  

D. Phosphate groups 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_i5iUdijPmmEd
https://dl.doubtnut.com/l/_VqryTyoUZOw4
https://dl.doubtnut.com/l/_7IkgXVHrEGfb


114. In a nucleotide the phosphate linkage is generally

attached to

A. C - 1 of sugar  

B. C - 2 of sugar  

C. C - 5 of sugar  

D. N- of base 

Answer: C

Watch Video Solution

115. Adenine pairs with thymine through

A. two hydrogen bonds  

https://dl.doubtnut.com/l/_7IkgXVHrEGfb
https://dl.doubtnut.com/l/_9l1Qd5Wg6uEr


B. one hydrogen bond  

C. three hydrogen bonds  

D. four hydrogen bonds 

Answer: A

Watch Video Solution

116. Primary and secondary structures of nucleic acid reveals

A. Nucleotide sequence & Single or double helix

structure  

B. Amino acid sequence & 3D-folding  

C. Amino acid sequence & shape of protein  

D. Single/double helix structure and Nucleotide sequence. 

https://dl.doubtnut.com/l/_9l1Qd5Wg6uEr
https://dl.doubtnut.com/l/_JnXjizLTUaRJ


Answer: D

Watch Video Solution

117. Hydrolysis of adenosine triposphate involves rupture of

A. Base-sugar bond  

B. Sugar-phosphate bond  

C.  bond 

D.  bond 

Answer: C

Watch Video Solution

P − O − P

P − N − P

https://dl.doubtnut.com/l/_JnXjizLTUaRJ
https://dl.doubtnut.com/l/_eXplP1RUSEfM


118. The base present in Cytidine :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ABX29L0aheeF


Answer: D

Watch Video Solution

119. The backbone of a nucleotide strand contains the

following sequence of arrangement

A. Base-Sugar  

B. Sugar-Phosphate  

C. Base-Phosphate  

D.  

Answer: B

Watch Video Solution

Base1 − Base2

https://dl.doubtnut.com/l/_ABX29L0aheeF
https://dl.doubtnut.com/l/_fDuqKV0rCZxj
https://dl.doubtnut.com/l/_ymS957oiaW4m


120. The couplings between base units of DNA is through

A. Hydrogen bonding  

B. Electrostatic bonding  

C. Covalent bonding  

D. vander Waals forces 

Answer: A

Watch Video Solution

121. The main role of DNA in a living system is

A. It is the structural material of cell walls  

B. It is an enzyme  

https://dl.doubtnut.com/l/_ymS957oiaW4m
https://dl.doubtnut.com/l/_bh7tbe9UmwvX


C. It carries the hereditary characteristics of the organism

 

D. It participates in cellular respiration 

Answer: C

Watch Video Solution

122. Synthesis of identical copies of DNA is called

A. transcription  

B. replication  

C. translation  

D. reverse transcription

https://dl.doubtnut.com/l/_bh7tbe9UmwvX
https://dl.doubtnut.com/l/_UnPoQMjdCXyE


Answer: B

Watch Video Solution

123. (A) Guanine unites with Cytosine but not with Thymine. 

(R) Guanine and Cytosine are purine bases while Thymine is a

pyrimidine base.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UnPoQMjdCXyE
https://dl.doubtnut.com/l/_JU0qNa0yylWf


124. (A) Adenine pairs up with thymine but not with cytosine. 

(R) With cytosine, no hydrogen bonds are possible for

adenine.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JU0qNa0yylWf
https://dl.doubtnut.com/l/_AKq7MDgWZdjJ


125. (A): Proteins are made up of a -amino acids 

(R) : During denaturation, secondary and tertiary structures

of proteins are destroyed. 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

126. (A) The pyrimidine base thymine is present in RNA. 

(R) DNA controls the synthesis of proteins

https://dl.doubtnut.com/l/_7hfwHTRlgw6U
https://dl.doubtnut.com/l/_355wrbdBUmoq


A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

127. (A) The simplest  -amino acid is optically inactive. 

(R) Simplest  amino acid has no chiral carbon centre.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

α

α

https://dl.doubtnut.com/l/_355wrbdBUmoq
https://dl.doubtnut.com/l/_xsWvgvEsWObY


D. A is false, R is true

Answer: A

Watch Video Solution

128. (A) The folding of polypeptide chains leads to globular

proteins. 

(R) Globular structure is a part of secondary structure of

protein.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

https://dl.doubtnut.com/l/_xsWvgvEsWObY
https://dl.doubtnut.com/l/_X494z4dWZvpA


Answer: C

Watch Video Solution

129. (A): All DNA and RNA molecules contain adenine, guanine

and cytosine base molecules 

(R): Adenine, guanine and cytosine molecules are examples of

the same base type 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_X494z4dWZvpA
https://dl.doubtnut.com/l/_oO8U0LjpBChN


Watch Video Solution

130. (A) Enzymes are globular proteins. 

(R) Enzymes provide active site to substrate.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

131. Water soluble vitamins are

https://dl.doubtnut.com/l/_oO8U0LjpBChN
https://dl.doubtnut.com/l/_sr7tjEI0zh10
https://dl.doubtnut.com/l/_Hpw2iOBd5mKv


A. A,D 

B. E,K 

C. DE

D. CB 

Answer: D

Watch Video Solution

132. Which of the following is not a source of vitamina-A

A. Milk 

B. Liver 

C. Yeast 

D. Egg

https://dl.doubtnut.com/l/_Hpw2iOBd5mKv
https://dl.doubtnut.com/l/_24p06G58ihMF


Answer: C

Watch Video Solution

133. Night blindness is due to the deficiency of

A. Vitamin A 

B. Hormones 

C. Vitamin  

D. Riboflavin 

Answer: A

Watch Video Solution

B12

https://dl.doubtnut.com/l/_24p06G58ihMF
https://dl.doubtnut.com/l/_2l9MkvWvzKPz


134. The chief source of vitamin D is

A. Fish liver oil 

B. Spinach 

C. Cow dung 

D. Citrous fruit

Answer: A

Watch Video Solution

135. Antiricketic Vitamin is

A. Vitamin A 

B. Vitamin B12

https://dl.doubtnut.com/l/_zOFG0wUQ7vFn
https://dl.doubtnut.com/l/_7GiM8iunhO7l


C. Vitamin C

D. Vitamin D

Answer: D

Watch Video Solution

136. Dificiency of Vitamin E leads to

A. Neurosis of heart muscles

B. Degeneration of lacrymal gland

C. Beri - Beri

D. Dermatitis.

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_7GiM8iunhO7l
https://dl.doubtnut.com/l/_IZ81JjqFziHH


Watch Video Solution

137. In all green leaves and vegetables which of the following

vitamin is avialable ?

A. Vitamin A 

B. Vitamin D

C. Vitamin K

D. Vitamin 

Answer: C

Watch Video Solution

B12

https://dl.doubtnut.com/l/_IZ81JjqFziHH
https://dl.doubtnut.com/l/_2RfyhJ8uSkiW


138. Which of the following vitamin is Naphtha-quinone

derivative ?

A. A

B. B

C. D

D. K

Answer: D

Watch Video Solution

139. Anti haemorrhagic vitamin is

A. A

https://dl.doubtnut.com/l/_P7SqZOrFHcxY
https://dl.doubtnut.com/l/_ELWoVkCzjFSE


B. B

C. D

D. K

Answer: D

Watch Video Solution

140. Deficiency of Vitamin  leads to

A. Bow legs

B. Cheilosis

C. Pellegra

D. Vision ions

B12

https://dl.doubtnut.com/l/_ELWoVkCzjFSE
https://dl.doubtnut.com/l/_1x3bqD3Vs3fQ


Answer: B

Watch Video Solution

141. The following vitamin plays a role in transportation of

amino acids across the cell membrane.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B1

B2

B3

B6

https://dl.doubtnut.com/l/_1x3bqD3Vs3fQ
https://dl.doubtnut.com/l/_nRXpThQA118f
https://dl.doubtnut.com/l/_SGe8b38DGW5Q


142. Convulsion is due to deficiency of vitamin

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B1

B2

B5

B6

143. Which of the following is not a source of vitamina-A

A. Fish oils

B. Carrots

https://dl.doubtnut.com/l/_SGe8b38DGW5Q
https://dl.doubtnut.com/l/_lD91o3NurAEr


C. Yeast 

D. Milk

Answer: D

Watch Video Solution

144. Vitamin  is rich in

A. Sewage sludge

B. Liver of pig

C. Egg

D. all

Answer: B

W t h Vid S l ti

B12

https://dl.doubtnut.com/l/_lD91o3NurAEr
https://dl.doubtnut.com/l/_3NqALEyAC50u


Watch Video Solution

145. Ascorbic acid resembles the structure of

A. Vitamin A 

B. Glucose

C. Cellulose 

D. Vittamin D

Answer: B

Watch Video Solution

146. Deficiency of Vitamin ''C'' leads to

A. gum swelling

https://dl.doubtnut.com/l/_3NqALEyAC50u
https://dl.doubtnut.com/l/_Hb9XJSDXPw8C
https://dl.doubtnut.com/l/_2lEGgwa5seH8


B. blead easily and teetch become loose

C. delay in would healing

D. all

Answer: C

Watch Video Solution

147. Dark red tongue, fissuring at corners of mouth and lips

are the symptoms of the deficiency of which vitamin

A. C

B. A

C. 

D. D

B2

https://dl.doubtnut.com/l/_2lEGgwa5seH8
https://dl.doubtnut.com/l/_LeBiPvCD8PfX


Answer: C

Watch Video Solution

148. Vitamin  is known as

A. Pyridoxine

B. Thiamine

C. Tocopherol

D. Riboflavin 

Answer: A

Watch Video Solution

B6

https://dl.doubtnut.com/l/_LeBiPvCD8PfX
https://dl.doubtnut.com/l/_JxYaAqAmt8Iw


149. Vitamin D is called

A. Ascorbic acid

B. Calciferol or ergocalciferol

C. Thiamine

D. Riboflavin 

Answer: B

Watch Video Solution

150. Which of the following vitamins is not soluble in water ?

A. C

B. B1

https://dl.doubtnut.com/l/_wN7uLfbJav6r
https://dl.doubtnut.com/l/_E7wEsubreHC6


C. 

D. D

Answer: D

Watch Video Solution

B2

151. The best source of vitamin C is

A. Cod liver oil

B. Egg yolk

C. Citrous fruits

D. Fish liver oil

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_E7wEsubreHC6
https://dl.doubtnut.com/l/_QJGM9at6FwH2


Watch Video Solution

152. The deficiency of vitamin K causes

A. Haemorrhage

B. Lengthening time of blood clotting

C. Inflammation of tongue

D. Both (1) and (2)

Answer: D

Watch Video Solution

153. Nervousness anaemia is caused by the deficiency of

vitamin 

https://dl.doubtnut.com/l/_QJGM9at6FwH2
https://dl.doubtnut.com/l/_StWy0tAIUHuZ
https://dl.doubtnut.com/l/_BtCg6ufHB6Js


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B1

B2

B6

B12

154. Deficiency of vitamin E causes 

A. Scurvy

B. Loss of appetite

C. Loss of sexual power and reproduction

D. Beri Beri

https://dl.doubtnut.com/l/_BtCg6ufHB6Js
https://dl.doubtnut.com/l/_lwI3tN0wbDNc


Answer: C

Watch Video Solution

155. Which of the following is a fat soluble vitamin? 

A. Vitamin A 

B. Riboflavin

C. Pyridoxine

D. Thiamine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lwI3tN0wbDNc
https://dl.doubtnut.com/l/_sCQyRJa1IoKm


156. The metal present in vitamin  is

A. Iron

B. Manganese

C. Cobalt

D. Magnesium

Answer: C

Watch Video Solution

B12

157. The deficiency of which of the following vitamins

adversely affects eye sight? 

A. A

https://dl.doubtnut.com/l/_PT46tGjIDj7U
https://dl.doubtnut.com/l/_NDeo2WbsiB8B


B. D

C. 

D. E

Answer: A

Watch Video Solution

B12

158. Match List - I with List - II and select the correct answer

using the codes given below. 

A. I - C, II - D, III - B , IV - A

B. I - C, II - D, III- A, IV - B

List - I List - II

I) Anti - beriberi factor A) Vitamin C

II) Pancreas B) Glycerides

III) Palm oil C) Vitamin B1

IV) L (+) -Ascorbic acid D) Insulin

https://dl.doubtnut.com/l/_NDeo2WbsiB8B
https://dl.doubtnut.com/l/_uZn5HL7qRLfd


C. I -A, II - B, III - D, IV - C

D. I - A,II - B, III - C, IV - D

Answer: A

Watch Video Solution

159. Match the following 

 


The correct match is

A. 

B. 

C. 

List I List II

A) B1 I) Riboflavin

B) B2 II) Retinol

C) A III) Ascorbic acid

D) C IV) Thiamine

A B C D

IV I III II

A B C D

IV III I II

A B C D

III IV II I

https://dl.doubtnut.com/l/_uZn5HL7qRLfd
https://dl.doubtnut.com/l/_J5r3uvgJ8gY3


D. 

Answer: D

Watch Video Solution

A B C D

IV I II III

160. Match List - I (name of vitamin) with List - II (deficiency

result/disease) and select the correct answer using the codes

given below - 

A. I- B, II -A, III-C, IV-D

B. I-A,II-B,III-C,IV-D

C. I-D, II-C,III-B,IV-A

List - I List - II

I) Ascorbic acid A) Beri - Beri

II) Retinol B) Cracked lips

III) Thiamine C) Scurvy

IV) Thiamine D) Night blindness

https://dl.doubtnut.com/l/_J5r3uvgJ8gY3
https://dl.doubtnut.com/l/_OaBwpytXPRX7


D. I-C,II-D,III-B,IV-A

Answer: D

Watch Video Solution

161. Which of the following substance acts as stimulator?

A. Vitamin

B. Enzyme

C. Hormone

D. Carbohydrate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OaBwpytXPRX7
https://dl.doubtnut.com/l/_KbxRsRnjoR6x


162. Receptors of hormones are generally  

A. Carbohydrates  

B. Vitamins  

C. Lipids  

D. Protiens 

Answer: D

Watch Video Solution

163. Steroid hormones are produced by the 

(a) Adrenal cortex 

(b) Pancreas 

(c ) Thyroid 

https://dl.doubtnut.com/l/_QqfRwQMXAJEF
https://dl.doubtnut.com/l/_URqOUnW6BRMr


(d) Testis 

(e ) Pitutiary

A. a and d  

B. a, b, and c  

C. c, d  

D. d, e 

Answer: A

Watch Video Solution

164. Substances produced by endocrine glands are

A. Vitamins  

B. Harmones  

https://dl.doubtnut.com/l/_URqOUnW6BRMr
https://dl.doubtnut.com/l/_R4N8dqqejTVQ


C. Herb  

D. Drug 

Answer: B

Watch Video Solution

165. Which of the following is a derivative of amino acid ?

A. Thyroxin  

B. Estradiol  

C. Estrogene  

D. Progesterone 

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_R4N8dqqejTVQ
https://dl.doubtnut.com/l/_yaf3GSoStuW3


Watch Video Solution

166. Total number of carbon atoms present in steroid nucleus.

A. 24  

B. 17  

C. 10  

D. 20 

Answer: B

Watch Video Solution

167. Which of following hormone is produced by testis ?

A. Progesterone  

https://dl.doubtnut.com/l/_yaf3GSoStuW3
https://dl.doubtnut.com/l/_xzcuH3dmd2EC
https://dl.doubtnut.com/l/_k5dCJbY25d4W


B. Estradiol  

C. Testosterone  

D. Estrone 

Answer: C

Watch Video Solution

168. Harmone containing only ketonic functional group is

A. Estradiol  

B. Progresterone  

C. Testosterone  

D. Insulin 

https://dl.doubtnut.com/l/_k5dCJbY25d4W
https://dl.doubtnut.com/l/_m8lLGQ16y6PS


Answer: B

Watch Video Solution

169. Phosphorylation of glucose is increased by

A. Auxins  

B. Insulin  

C. Ethylene  

D. Trausmatic acid 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_m8lLGQ16y6PS
https://dl.doubtnut.com/l/_s08XenCWyoTf


170. Thyroxin is  

A. Protein type vitamin  

B. Aminoacid type nucleic acid  

C. Protein type hormone  

D. Aminoacid type hormone 

Answer: D

Watch Video Solution

171. (A) Vitamin 'C' is ascorbic acid. 

(R) All acids are vitamins

A. Both A & R are true, R is the correct explanation of A  

https://dl.doubtnut.com/l/_Zaf75jmDfkSr
https://dl.doubtnut.com/l/_prziD1Cs0pXt


B. Both A & R are true, R is not correct explanation of A . 

C. A is true, R is false  

D. A is false, R is true

Answer: C

Watch Video Solution

172. (A): All hormones are proteins 

(R): All hormone receptors are proteins 

A. Both A & R are true, R is the correct explanation of A  

B. Both A & R are true, R is not correct explanation of A . 

C. A is true, R is false  

D. A is false, R is true

https://dl.doubtnut.com/l/_prziD1Cs0pXt
https://dl.doubtnut.com/l/_IlTRbPEMV8oy


Answer: D

Watch Video Solution

173. (A) Vitamins are important in diet. 

(R) Deficiency of vitamins causes diseases.

A. Both A & R are true, R is the correct explanation of A  

B. Both A & R are true, R is not correct explanation of A . 

C. A is true, R is false  

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IlTRbPEMV8oy
https://dl.doubtnut.com/l/_ldw8S2TA9GEn


Objective Exercise 2

1. Which of the following monosaccharides is a pentose

A. Glucose

B. Frutose

C. Ribose

D. Galactose 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HCzVUuaLde12


2.  


Correct match is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

List - I List - II

Chemical property Structure elucidation

of Glucose of Glucose

A) Acetylation 1) Presence of

carbonyl group

B) Reaction with HCN 2) Six carbon atoms

straight chain.

C) Reaction with HI/P 3) Presence of

1∘ − alcohol group

D) Oxidation 4) Presence of

with HNO3 5 - OH groups 

A B C D

1 2 3 4

A B C D

4 1 2 3

A B C D

3 1 2 4

A B C D

3 2 1 4

https://dl.doubtnut.com/l/_xaJaGbwDKqVj


Watch Video Solution

3. Fructose gives the silver mirror test because it

A. Contains an aldehyde group 

B. Contains a keto group 

C. Undergoes rearrangement under the alkaline

conditions of the reagent to form a mixture of glucose

and mannose 

D. It has pyranose structure 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xaJaGbwDKqVj
https://dl.doubtnut.com/l/_Mkkh8QhH8Hwn


4. Reactants  products . This

reaction is made to take place by coupling with 

A.  

B. 

C. 

D. 

Answer: B

Watch Video Solution

→ ΔG = + 63KJ  mole− 1

ATP
H2O
−−→ ADP

ATP
H2O
−−→ A

ATP
H2O
−−→ AMP

ADP
H2O
−−→ A

5. Which of the following reagents can not be used to

distinguish between glucose and fructose?

https://dl.doubtnut.com/l/_J3f70gjKrPxz
https://dl.doubtnut.com/l/_HUs3EGVJmw18


A. Tollens' reagent 

B. Fehling's solution 

C. Benedict's solution 

D. All of these

Answer: D

Watch Video Solution

6. Oxidation of glucose with  gives

A. D-Gluconic acid 

B. L-Glucaric acid 

C. L-Gluconic acid 

D. L-Glucaric acid

Ag2O

https://dl.doubtnut.com/l/_HUs3EGVJmw18
https://dl.doubtnut.com/l/_WuO3EzPuF51G


Answer: A

Watch Video Solution

7. In an aquose solution of D-Glucose the percentage of

 anomers at equilibrium condition are respectively

A. 80 and 20

B. 20 and 80

C. 36 and 64

D. 64 and

Answer: C

Watch Video Solution

α and β

https://dl.doubtnut.com/l/_WuO3EzPuF51G
https://dl.doubtnut.com/l/_0tXUqGKNwXfT
https://dl.doubtnut.com/l/_rNtxubcpb9wP


8.  Glucose and  glucose differ from each

other due to difference in one carbon with respect to its?

A. Size of hemiacetal ring

B. Number of OH groups

C. Configuration

D. Conformation

Answer: C

Watch Video Solution

α − D − β − D

9. Which of the following statements is correct about D-

Glucose & D-Galactose compounds?

A. They are diastereomers

https://dl.doubtnut.com/l/_rNtxubcpb9wP
https://dl.doubtnut.com/l/_fNROai5clPpl


B. Both are components of lactose

C. They are  epimers

D. All the above are correct

Answer: D

Watch Video Solution

C − 4

10. The number of chiral centers in the open chain structure

of glucose is______

A. 1

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_fNROai5clPpl
https://dl.doubtnut.com/l/_48AlDAA2siZ7


Answer: B

Watch Video Solution

11. The specific rotation of a freshly prepared solution of

 Glucose changes from a value of  to a constant

value of . The values of x and y are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α − D − x ∘

y ∘

19∘ , 52.5∘

111∘ , 52.5∘

52.5∘ , 19∘

52.5∘ , 111∘

https://dl.doubtnut.com/l/_48AlDAA2siZ7
https://dl.doubtnut.com/l/_2zQ5IZDMeinz


12. With how many molecules of acetic anhydride does not

molecule of glucose react?

A. 3

B. 4

C. 5

D. 6

Answer: C

Watch Video Solution

13. Which one of the following statements is not true for

glucose?

https://dl.doubtnut.com/l/_2zQ5IZDMeinz
https://dl.doubtnut.com/l/_O1y6mTsfP9Hb
https://dl.doubtnut.com/l/_kygWCpT0MyxN


A.  glucose undergoes mutarotation

B. It has four asymmetric carbons in Fischer projcction

formula

C. It gives saccharic acid with Tollen's reagent

D. It reacts with hydroxyl amine

Answer: C

Watch Video Solution

α − D( + ) −

14. 

List - I List - II

A) α  and β − D  Glucose 1) Mutarotation

B) ( + ) and ( − )  Glucose 2) Enantiomers

C) D- and L-notation 3) Anomers

D) α −  form −−→←−− β −  form 4) Configurational isomers

https://dl.doubtnut.com/l/_kygWCpT0MyxN
https://dl.doubtnut.com/l/_OI6L9eKvBEpO


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

2 3 4 1

A B C D

2 3 1 4

A B C D

3 2 4 1

A B C D

3 2 1 4

15. D -Glucose shows mutarotation because,

A. it is dextrorotatory 

B. it undergoes inter conversion between its Pyranose

structure and furanose structure 

https://dl.doubtnut.com/l/_OI6L9eKvBEpO
https://dl.doubtnut.com/l/_gSJrufmRsmX4


C. it undergoes interconversion between its 

Glucopyranose structures

D. it undergoes interconversion with  fructose 

Answer: C

Watch Video Solution

a and β( + )

D( − )

16. The number of chiral centres in the cyclic hemiacetal form

of Glucose is

A. 3

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_gSJrufmRsmX4
https://dl.doubtnut.com/l/_TDOKcZFS3SZQ


Answer: C

Watch Video Solution

17. The end product (B) formed in the reaction sequence.

Glucose .

A. hexanoic acid 

B. hexane 

C. heptane 

D. heptanoic acid Di and polysaccharides 

Answer: C

Watch Video Solution

HCN
−−−→
H3O

−
A

HI ,P
−−−→

Δ
B

https://dl.doubtnut.com/l/_TDOKcZFS3SZQ
https://dl.doubtnut.com/l/_Q8ZidhpLRb6v
https://dl.doubtnut.com/l/_EVLm6oytewbe


18. The two functional groups present in a typical

carbohydrate are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−COH and − COOH

> C = O and − OH

−OH and − NH2

−OH and − COOH

19. Incorrect statements among the following 

(A) Sucrose is reducing sugar 

(B) Two  glucose units in maltose are linked by 1,4-α − D −

https://dl.doubtnut.com/l/_EVLm6oytewbe
https://dl.doubtnut.com/l/_SsOAOFvPrDoc


linkage 

(C )  glucose and  fructose units are linked by 1,

4-linkage in lactose 

(D) All polysaccharides are reducing nonsugars

A. Only A, B 

B. A, B, C, D 

C. A, C, D only 

D. A, B, C only 

Answer: C

Watch Video Solution

β − D β − D

20. Regarding lactose some statements are given below 

(A) On hydrolysis lactose gives galactose and β − D −

https://dl.doubtnut.com/l/_SsOAOFvPrDoc
https://dl.doubtnut.com/l/_BsqFOngEvx2f


-glucose 


In lactose  galactose has acetal structure

and -glucose has hemiacetal structure 


(C ) In lactose molecule -galactose is a nonreducing

unit and  glucose is a reducing unit 


The correct statements are

A. A, C

B. A, B

C. B, C

D. A, B, C

Answer: D

Watch Video Solution

β − D

C1  of β − D −

C1  of β − D

β − D

β − D −

https://dl.doubtnut.com/l/_BsqFOngEvx2f


21. The end products of protein hydrolysis are

A. Peptides  

B. Monosaccharides  

C. Lipids  

D. a - Amino acids

Answer: D

Watch Video Solution

22. IUPAC name of Glycine is

A. 2-amino propanoic acid  

B. 2-amino butanoic acid  

https://dl.doubtnut.com/l/_QdQ57QQAho0C
https://dl.doubtnut.com/l/_DkExyaIuRpuE


C. amino ethanoic acid  

D. 2-amino pent-1, 5-dioic acid

Answer: C

Watch Video Solution

23. D-Alanine differs from L - Alanine with respect to

A. configuration  

B. chemical formula  

C. number of  groups  

D. number of  groups 

Answer: A

W t h Vid S l ti

−NH

−COOH

https://dl.doubtnut.com/l/_DkExyaIuRpuE
https://dl.doubtnut.com/l/_9uMxSw3dSMsI


Watch Video Solution

24. Which of the following does not exit as a zwitter ion ?

A. Glycine  

B. Alanine  

C. Sulphanilic acid  

D. Picric acid

Answer: D

Watch Video Solution

25. Nature of aqueous solutions of two different amino acids

X and Y are acidic and basic. Now X and Yare

https://dl.doubtnut.com/l/_9uMxSw3dSMsI
https://dl.doubtnut.com/l/_Mj4zHDZ8LZOa
https://dl.doubtnut.com/l/_oUbKzuRJ2BWh


A. Alanine and Valine  

B. Aspartic acid and Aspargine  

C. Glutamine and Glutamic acid  

D. Aspartic acid and Lysine

Answer: D

Watch Video Solution

26. If the amino group of Glycine and carboxylic acid group of

Alanine undergo elimination of wter molecule, the name of

the compound thus formed is

A. Alanylglycine(dipeptide)  

B. Glycyl alanine(tri peptide)  

https://dl.doubtnut.com/l/_oUbKzuRJ2BWh
https://dl.doubtnut.com/l/_8AgV65EvvUjR


C. Glycyl alanine(dipeptide)  

D. Alanineglycine (dipeptide)

Answer: A

Watch Video Solution

27. Number of peptide linkages in the artificial sweetner

''aspartame'' is

A. 2  

B. 21 

C. 1 

D. 1

Answer: C

https://dl.doubtnut.com/l/_8AgV65EvvUjR
https://dl.doubtnut.com/l/_pHlggaBSFFtN


Watch Video Solution

28. Regarding secondary structure of a protein, correct

statement(s) is/are 

(A) peptide bonds possess regional planarity 

(B) C = O and  of different peptide chains are held

by Van der Waal attarctions 

(C ) closely packed arrangement so as to minimise repulsion

between ''R'' groups.

A. only C  

B. only B  

C. A and B only  

D. A and C only 

−NH −

https://dl.doubtnut.com/l/_pHlggaBSFFtN
https://dl.doubtnut.com/l/_zJjNsmRuSV7S


Answer: D

Watch Video Solution

29. Choose the correct statement from the following

A. All amino acids have comon isoelectric point  

B. All naturally occurring a - amino acids are optically

acitive except glycine  

C. At  all amino acids are present as their anions  

D. In strongly basic solutions, all amino acids are present

as their cations 

Answer: B

Watch Video Solution

pH = 0

https://dl.doubtnut.com/l/_zJjNsmRuSV7S
https://dl.doubtnut.com/l/_VBLeplWVN3lI


30. The secondary structure of a protein refers to

A. hydrophobic interactions  

B. sequence of a-amino acids  

C. fixed configuration of the polypeptide backbone  

D. helical backbone 

Answer: D

Watch Video Solution

α −

31. The following group/linkage is absent in Adenine but

present in Guanine

https://dl.doubtnut.com/l/_VBLeplWVN3lI
https://dl.doubtnut.com/l/_PMbHvPr4CF7h
https://dl.doubtnut.com/l/_ru0SBiJkF3S2


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−C ≡ N

−NH2

C = O

−CONH2

32. Cytosine, Thymine and Uracil are similar with respect to

A.  at 2nd position in pyrimidine ring 

B.  group at 4th carbon in pyrimidine ring 

C.  at 4th position in pyrimidine ring

C = O

NH2

C = O

https://dl.doubtnut.com/l/_ru0SBiJkF3S2
https://dl.doubtnut.com/l/_zw4vRWgvecF7


D. absence of  group at 2nd position in pyrimidine

ring 

Answer: A

Watch Video Solution

C = O

33. Phosphate ester of X is called a nucleotide. X is

A. adenine

B. guanine 

C. nucleoside 

D. thymine 

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_zw4vRWgvecF7
https://dl.doubtnut.com/l/_5IHERrh5aA3N


Watch Video Solution

34. In the nucleotide namely adenosine-5'-tri phosphate, the

sequence of linkages among N(base), C(sugar) and

P(phosphate) is

A.  

B.  

C. 

D.  

Answer: B

Watch Video Solution

C − P − N − P − P

N − C − P − P − P

P − C − N − P − P

P − P − P − C − N

https://dl.doubtnut.com/l/_5IHERrh5aA3N
https://dl.doubtnut.com/l/_jYqN5B2wldv2


35. Combination of proteins with nucleic acids gives

A. enzymes 

B. polypeptides 

C. nucleo proteins 

D. Dipeptides

Answer: C

Watch Video Solution

36. Vitamin D deficiency causes

A. Sterility  

B. Xerophthalmia  

https://dl.doubtnut.com/l/_F0mU4NCVqMbQ
https://dl.doubtnut.com/l/_71ISkUmzOjkt


C. Rickets  

D. Beriberi 

Answer: C

Watch Video Solution

37. The vitamin which is water soluble and acts as antioxidant

is

A. A  

B. B  

C. D 

D. C 

Answer: D

https://dl.doubtnut.com/l/_71ISkUmzOjkt
https://dl.doubtnut.com/l/_eID5QAnltYAE


Watch Video Solution

38. Which one of the following statements is true regarding

vitamin ?

A. Vitamins are needed in large amounts to maintain

good health  

B. Vitamins are secreted by ductless glands  

C. Vitamins A,D,E,K are fat soluble and vitamins B complex

and C are water soluble  

D. All vitamins are synthesised in human body 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_eID5QAnltYAE
https://dl.doubtnut.com/l/_WFtpMsZOjyN4


39. Which one of the vitamin is syntbesised in. our body by

using sun rays ?

A. A

B. B complex

C. C

D. D

Answer: C

Watch Video Solution

40. Which one of the following statements is incorrect

regarding vitamins ?

https://dl.doubtnut.com/l/_PdopRTiRrPS9
https://dl.doubtnut.com/l/_nq86MDg6bfag


A. Vitamin A is essential for growth and vision 

B. Vitamin D is essential for development of bones 

C. A red coloured carotene in the body breaks into vitamin

C 

D. Vitamin K is essential for blood coagulation 

Answer: C

Watch Video Solution

41. Curd'contain the following vitamin

A. Vitamin  

B. Vitamin  

C. Vitamin A

B12

B6

https://dl.doubtnut.com/l/_nq86MDg6bfag
https://dl.doubtnut.com/l/_t73Sz1EsU0AW


D. Vitamin 

Answer: D

Watch Video Solution

42. Vitamin E is also called

A. Cyanocobalamin

B. Tocopherol 

C. Lactoflavin 

D. Ascorbic acid 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_t73Sz1EsU0AW
https://dl.doubtnut.com/l/_trpOMJdYnYoU


43. Milk contains vitamins

A. A, D and E

B.  

C. C, D and K 

D. 

Answer: D

Watch Video Solution

A, B12 and D

B1, B2 and D

44. Which of the following is not an example of

phytohormones ?

A. Cytokinins 

https://dl.doubtnut.com/l/_IYL2CLXOnfgO
https://dl.doubtnut.com/l/_W03N33ikZXhp


B. Ethylene 

C. Auxins 

D. Insulin  

Answer: D

Watch Video Solution

45.  

The correct match is

A. 

B. 

List - I List - II

(1) Steriod hormone (a) Cytokinins

(2) None steroid hormone (b) Estrogens

(3) Plant hormone (c ) Auxins

(4) Peptide hormone (d) Insulin

1 − b, 2 − b, 3 − c, 4 − d

1 − b, 2 − a, 3 − d, 4 − c

https://dl.doubtnut.com/l/_W03N33ikZXhp
https://dl.doubtnut.com/l/_plpjy8gXqRie


C. 

D. 

Answer: C

Watch Video Solution

1 − b, 2 − a, 3 − c, 4 − d

1 − c, 2 − a, 3 − d, 4 − b

46. Which of the following maintains constant sugar level in

blood ?

A. Gibberlins 

B. Insulin 

C. Glucogen 

D. Estrone

Answer: B

https://dl.doubtnut.com/l/_plpjy8gXqRie
https://dl.doubtnut.com/l/_HhJJNf0PVWCA


Watch Video Solution

47. Which of the following hormones contains iodine ?

A. Insulin

B. Thyroxine 

C. Adrenaline 

D. Testosterone 

Answer: B

Watch Video Solution

48. The hormone which controls the uterine cycle in women is

https://dl.doubtnut.com/l/_HhJJNf0PVWCA
https://dl.doubtnut.com/l/_23dsuIvf3az0
https://dl.doubtnut.com/l/_dik3OfJLbblz


Practice Exercise

A. Estrone 

B. Androsterone 

C. Progesterone 

D. Testosterone

Answer: C

Watch Video Solution

1. Which of the following amino acids does not correspond to

the general formula given below  

A. Cysteine 

R − CH(NH2) − COOH

https://dl.doubtnut.com/l/_dik3OfJLbblz
https://dl.doubtnut.com/l/_qAuc6S9xmodC


B. Proline 

C. Argenine 

D. Glutamic acid 

Answer: B

Watch Video Solution

2. Among Valine, Leucine, Isoleucine, Lysine and phenyl

alanine, odd member is

A. Leucine since others are acidic . 

B. Valine since others are basic 

C. Isoleucine since others are optically active 

D. Lycine since others are neutral

https://dl.doubtnut.com/l/_qAuc6S9xmodC
https://dl.doubtnut.com/l/_EYsxQjIkXg1m


Answer: D

Watch Video Solution

3. In L-Phenyl alanine the amino group lies at

A. right side to chiral centre 

B. left side to chiral centre 

C. para position to  in benzene ring 

D. ortho position to  in benzene ring 

Answer: B

Watch Video Solution

−COOH

−COOH

https://dl.doubtnut.com/l/_EYsxQjIkXg1m
https://dl.doubtnut.com/l/_SaCGg03gVc5e


4. The pH at which an amino acid carries no net charge is

called it's

A. isoelectric point 

B. inversion point 

C. neutralisation poin 

D. triple point 

Answer: A

Watch Video Solution

5. For a neutral amino acid (X), isoelectric point is 5.8. Now its

solubility at this point in water is

https://dl.doubtnut.com/l/_JthPGSxft0uR
https://dl.doubtnut.com/l/_zbxg35GzZd1x


A. maximum 

B. minimum 

C. zero 

D. unpredictable 

Answer: B

Watch Video Solution

6. Which of the following molecule is capable of forming

zwitter ion ?

A. 

B. 

C. 

CH3 − CHOH − NH2

NH2CH2COOH

CH3 − COOH

https://dl.doubtnut.com/l/_zbxg35GzZd1x
https://dl.doubtnut.com/l/_a1K98mmZVQQp


D. 

Answer: B

Watch Video Solution

CCI3 − NO2

7. RNA differs from DNA with respect to the following

A. type of base unit 

B. type of sugar unit 

C. type of H-bond 

D. 1 and 2 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_a1K98mmZVQQp
https://dl.doubtnut.com/l/_CTBcUkt25J15


8. The number of tripeptides formed by three different amino

acids having three different amino acids is 

A. Three 

B. Four 

C. Five 

D. Six 

Answer: D

Watch Video Solution

9. Proteins contain the following chemical linkages in

addition to  linkages−CO − NH −

https://dl.doubtnut.com/l/_GS9YHvmMfHmx
https://dl.doubtnut.com/l/_igKK4tnsd2o2


A.  

B.  

C.  

D. 

Answer: B

Watch Video Solution

NH − − − − − O = C

−HS = SH

C = N − − − − H − O −

−O − O −

10. In a protein ,the different type of attractions that exist are

(A) H bonding 

(B) hydrophobic 

(C ) ionic 

(D) covalent

A. B, C and D only 

https://dl.doubtnut.com/l/_igKK4tnsd2o2
https://dl.doubtnut.com/l/_cEBI7GY48uDC


B. A, C and D only 

C. A, B and C only 

D. A, B, C and D 

Answer: C

Watch Video Solution

11. Denaturation of protein leads to loss of its biological

activity by

A. Formation of amino acids 

B. Loss of primary structure 

C. Loss of both primary & quaternary structures 

D. Loss of both secondary and tertiary structures 

https://dl.doubtnut.com/l/_cEBI7GY48uDC
https://dl.doubtnut.com/l/_ipaaRueqvsEg


Answer: D

Watch Video Solution

12. Number of C = O groups in thymine and in X are equal.

Now, X is

A. cytosine 

B. uracil 

C. adenine 

D. guanine 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ipaaRueqvsEg
https://dl.doubtnut.com/l/_g1vYkD3zbf3E
https://dl.doubtnut.com/l/_BonfLfOpr0KV


13. The sugar unit present in the nucleotides of RNA is

A.  ribose 

B. ribose 

C. D  ribose 

D.  ribose 

Answer: A

Watch Video Solution

D − β −

L − β −

−α −

L − α −

14. In nucleosides, math N-atom of pyrimidine base is joined

to n" C-atom of ribose sugar moiety. Here m and n are

respectively 

A. 1, 1

https://dl.doubtnut.com/l/_BonfLfOpr0KV
https://dl.doubtnut.com/l/_wA35wNCt6W30


B. 

C. 

D. 

Answer: A

Watch Video Solution

1, 4

1, 2

1, 5

15. Sterol, the basic unit of vitamin D, consists of 4 rings they

are

A. Three 6-carbon rings one five carbon ring 

B. Three 5-carbon rings one six carbon ring 

C. Four 6-carbon rings only 

D. Four 5-carbon rings only 

https://dl.doubtnut.com/l/_wA35wNCt6W30
https://dl.doubtnut.com/l/_ObGzLCBKDPdj


Answer: A

Watch Video Solution

16. Match items List - I with those in List - II from the

combinations shows : 

A. 

B. 

C. 

D. 

List - I List - II

(I) Saliva (A) Genetic material

(II) Nucleic acid (B) Digestive enzyme

(III) Ascorbic acid (C ) Antibiotic

(IV) Testosterone (D) Sex hotmone

(E ) Vitamin

I − B, II − A, III − C, IV − E

I − B, II − A, III − E, IV − D

I − A, II − B, III − E, IV − C

I − C, II − B, III − A, IV − D

https://dl.doubtnut.com/l/_ObGzLCBKDPdj
https://dl.doubtnut.com/l/_LxIMfpWGAVHv


Answer: B

Watch Video Solution

17. Vitamin  deficiency causes 

A. Beriberi 

B. Night blindness 

C. Rickets 

D. Sterility 

Answer: A

Watch Video Solution

B1

https://dl.doubtnut.com/l/_LxIMfpWGAVHv
https://dl.doubtnut.com/l/_XuzQs1ByQPU7


18. Vitamin A deficiency causes 

A. Beriberi 

B. Night blindness 

C. Rickets 

D. Sterility

Answer: B

Watch Video Solution

19. The condition of vitamin deficiency is known as

A. Vitaminosis 

B. Avitaminosis 

https://dl.doubtnut.com/l/_j72S6YB2uqGB
https://dl.doubtnut.com/l/_J06c9Ct0XAwj


C. Both 1 and 2 

D. Anemea 

Answer: B

Watch Video Solution

20. Which one of the following is Retinol ? 

A. Vitamin A 

B. Vitamin C 

C. Vitamin  

D. Vitamin 

Answer: A

W t h Vid S l ti

B1

B6

https://dl.doubtnut.com/l/_J06c9Ct0XAwj
https://dl.doubtnut.com/l/_RQ1afybhXvwM


Watch Video Solution

21. Proteins cannot be denatured by the addition of

A. water 

B. acids 

C. detergents 

D. heat 

Answer: A

Watch Video Solution

22. For artificial ripening of fruit which of the following is

used ?

https://dl.doubtnut.com/l/_RQ1afybhXvwM
https://dl.doubtnut.com/l/_3OUKmRVZc5P5
https://dl.doubtnut.com/l/_ISV9P2ZGqkR3


A. Testosterone 

B. Insulin 

C. Ethylene 

D. Estrogen

Answer: C

Watch Video Solution

23. In insulin molecule S - S linkage is in between

A. Cysteine-Glycine 

B. Cysteine - Cysteine 

C. Cysteine-Valanine 

D. Proline - Cysteine

https://dl.doubtnut.com/l/_ISV9P2ZGqkR3
https://dl.doubtnut.com/l/_0iGtTdcCOnMW


Answer: B

Watch Video Solution

24. Optically active polyhydroxy aldehydes or ketones are

known as 

A. Amino acids 

B. Proteins 

C. Lipids 

D. Carbohydrates 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0iGtTdcCOnMW
https://dl.doubtnut.com/l/_KGA59RiugFuZ
https://dl.doubtnut.com/l/_8SdwoCCivZk1


25. The product formed in the oxidation of glucose with

bromine water is 

A. Glucaric acid 

B. Gluconic acid 

C. Glucuronic acid 

D. Sorbitol

Answer: B

Watch Video Solution

26. The formation of gluconic acid in the oxidation of glucose

with bromine water  indicates the presence of 

A. Keto group 

https://dl.doubtnut.com/l/_8SdwoCCivZk1
https://dl.doubtnut.com/l/_j3eOZdUSJgjA


B. Aldehydic group 

C. Hydroxyl group 

D. Primary alcohol group 

Answer: B

Watch Video Solution

27. The specific rotation of aqueous sucrose is 

A.  

B.  

C.  

D. 

+52.50

−92.40

+66.50

+20∘

https://dl.doubtnut.com/l/_j3eOZdUSJgjA
https://dl.doubtnut.com/l/_DBwfTPvvumaa


Answer: C

Watch Video Solution

28. Which one of the following statements is incorrect

regarding sucrose ? 

A. It is a disaccharide of  glucose and -D-

fructose 

B. It is a dextrorotatory sugar 

C. It is a reducing sugar 

D. Hydrolysis of sucrose yields invert sugar 

Answer: C

Watch Video Solution

α − D − β

https://dl.doubtnut.com/l/_DBwfTPvvumaa
https://dl.doubtnut.com/l/_2ArHYUjD1q9r


29. Which one of the following statements is incorrect

regarding amylopection 

A. It is a linear polysaccharide 

B. It does not react with  solution 

C. It is the constituent of starch 

D. 1,4-and 1,6-glycosidic linkages are present

Answer: A

Watch Video Solution

I2

30. An example for indigestible (in humans) linear

polysaccharide is ? 

https://dl.doubtnut.com/l/_2ArHYUjD1q9r
https://dl.doubtnut.com/l/_gIe8XrICsan0
https://dl.doubtnut.com/l/_ikZgI2WQWhCp


A. Cellulose 

B. Glycogen 

C. Amylopection 

D. Amylose 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ikZgI2WQWhCp


31. Match the following 

 

Watch Video Solution

https://dl.doubtnut.com/l/_07YXsrZwlpLe


32. Which one of the following statements is not true

regarding cellulose ? 

A. It is a colourless amorphous solid 

B. It is a branched chain polysaccharide 

C. It does not reduce the Tollen's reagent 

D. It contains  glycosidic linkages between

glucose units. 

Answer: B

Watch Video Solution

β − 1, 4 −

33. Statement-1: Glucose is in pyranose form and has free

anomeric hydroxyl group 

https://dl.doubtnut.com/l/_8VgrWb0Rbmmh
https://dl.doubtnut.com/l/_IJs8pSTf6Jod


Statement-1: In sucrose, glucose is in pyranose form and

fructose is in furanose form. 

A. Both I and II are true 

B. I is true, but II is false 

C. I is false, but II is true 

D. Both I and II are false 

Answer: A

Watch Video Solution

34. Fructose is a functional isomer of glucose. 

A. glucose

B. sucrose 

https://dl.doubtnut.com/l/_IJs8pSTf6Jod
https://dl.doubtnut.com/l/_l7lv4O4eEjLP


C. lactose

D. ribose

Answer: A

Watch Video Solution

35. Which of the following statements are correct regarding

glucose ? 

A) It is a dextrose 

B) It forms osazone 

C) It forms gluconic acid with bromine - water 

D) It is a ketohexose 

A. A,D

B. B,D

https://dl.doubtnut.com/l/_l7lv4O4eEjLP
https://dl.doubtnut.com/l/_d1tNJB2r9q5g


C. C,D

D. A,B,C

Answer: D

Watch Video Solution

36. Glucose fails to react with 

A)  


B) Schiff’s reagent 

C)  


D) 

A. A,B

B. A,C

C. B,D

NaHSO3

PhNHNH2

Br2. H2O

https://dl.doubtnut.com/l/_d1tNJB2r9q5g
https://dl.doubtnut.com/l/_U7qlECIImVrO


D. C,D

Answer: A

Watch Video Solution

37. Which of the following statements is/are not true

regarding glycogen ? 

A) It is non reducing sugar 

B) It has  glycosidic linkages only 


C) It is an animal starch 

  D) The monomer units are glucose and mannose

A. A, B 

B. A, B, C 

C. B, D 

α − 1, 4 −

https://dl.doubtnut.com/l/_U7qlECIImVrO
https://dl.doubtnut.com/l/_DNEoOvwAGOPF


D. A, B, D 

Answer: C

Watch Video Solution

38. On treating with dilute acidic solution sucrose gives 

A. glucose only 

B. fructose only 

C. a mixture of glucose and fructose 

D. a mixture of glucose and galactose

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DNEoOvwAGOPF
https://dl.doubtnut.com/l/_BYEGF38PDVUP


Subjective Exercise 1 Short Answer Questions

1. What are di, tri and oligo saccharides? Give examples. 

Watch Video Solution

2. What is the difference between starch and cellulose? 

Watch Video Solution

3. What is meant by  notations

among monosaccharides? 

Watch Video Solution

d − , 1 − and D, L −

https://dl.doubtnut.com/l/_2HuvkgFqhD67
https://dl.doubtnut.com/l/_erVWES1vObVC
https://dl.doubtnut.com/l/_Vd6qX1DR9jM8


Subjective Exercise 1 Very Short Answer Questions

1. What is animal starch? Why is it called so? 

Watch Video Solution

2. Define reducing and non-reducing sugars. 

Watch Video Solution

3. Give the structures of  -Glucopyranose and 

Glucopyranose. 

Watch Video Solution

α β −

https://dl.doubtnut.com/l/_garAWxxJsamG
https://dl.doubtnut.com/l/_R8E39SJ6u3Ml
https://dl.doubtnut.com/l/_fivSoBT3VKuV


4. Starch is soft but cellulose is hard and rigid. Explain? 

Watch Video Solution

5. What is mutarotation? Discuss with respect to van

Ekenstein's rearrangement. 

Watch Video Solution

6. What is the basic structural difference between starch and

cellulose ?

Watch Video Solution

https://dl.doubtnut.com/l/_IZ9RZ0ZMW0P1
https://dl.doubtnut.com/l/_xTTEjLsNslQn
https://dl.doubtnut.com/l/_sCdAwXTjs4Ah


7. Why hydrolysis of sucrose is called inversion of sucrose ? 

Watch Video Solution

8. Explain the cyclic structures of glucose and fructose. 

Watch Video Solution

9. Write the linkage present between the monomers of the

following disaccharides: 

a) Sucrose, b) Maltose and c) Lactose 

Watch Video Solution

https://dl.doubtnut.com/l/_iAlqgLrVanaW
https://dl.doubtnut.com/l/_HpWtY7DFekGb
https://dl.doubtnut.com/l/_4fZPZAEqHijF


10. Eventhough fructose contains ketone group, it is reducing

sugar, Why? 

Watch Video Solution

11. How many stereomers are possible for aldohexose and

ketohexose ? 

Watch Video Solution

12. What are the hydrolysis products of sucrose, maltose and

lactose ?

Watch Video Solution

https://dl.doubtnut.com/l/_3H68MoUxHY6t
https://dl.doubtnut.com/l/_aPDzMg7WLAUF
https://dl.doubtnut.com/l/_XunQF8fDl6Jz
https://dl.doubtnut.com/l/_pH5jHTlJb6uD


Subjective Exercise 2 Short Answer Questions

13. How can you say that in the pentaacetate of D-Glucose,

there is no free aldehydic group ?

Watch Video Solution

14. Give two main functions of carbohydrates in plants. 

Watch Video Solution

1. What are petides ? Give example ?

Watch Video Solution

https://dl.doubtnut.com/l/_pH5jHTlJb6uD
https://dl.doubtnut.com/l/_NjpWFDfz7rFM
https://dl.doubtnut.com/l/_sQrrUQg8EABW


2. What is the main component present in purine and

pyramidine ? 

Watch Video Solution

3. Which sugars are present in DNA and RNA ? Give these

structures. 

Watch Video Solution

4. What are the main differences between DNA and RNA? 

Watch Video Solution

https://dl.doubtnut.com/l/_lf0E7AWRcU6B
https://dl.doubtnut.com/l/_ODzIv56tQa3E
https://dl.doubtnut.com/l/_s0d5Pl6dgr26


Subjective Exercise 2 Very Short Answer Questions

5. Explain the structures of DNA and RNA. 

Watch Video Solution

6. Write the structures of purine and pyrimidine bases.

Watch Video Solution

1. What are essential and non-essential amino acids? 

Watch Video Solution

https://dl.doubtnut.com/l/_XPzhNnHwcKTP
https://dl.doubtnut.com/l/_m1aBfYGS8I1i
https://dl.doubtnut.com/l/_SQM584j6DSlS


2. Differentiate between nucleoside and nucleotide. 

Watch Video Solution

3. What is Glycoside bond ? Where'N' glycoside bond is

present ? 

Watch Video Solution

4. What is meant by denaturation and renaturation? 

Watch Video Solution

https://dl.doubtnut.com/l/_qwatJfeOYXya
https://dl.doubtnut.com/l/_1QJX8kcjCr1D
https://dl.doubtnut.com/l/_3kp1GBRYPlaH


5. What is a peptide bond? How is the sequence of amino

acids taken? 

Watch Video Solution

6. Write the structures of purines. 

Watch Video Solution

7. Write the structures of pyrimidine bases. 

Watch Video Solution

8. Draw the structures of ribose and deoxyribose sugars. 

https://dl.doubtnut.com/l/_GC1pUWRfzj8y
https://dl.doubtnut.com/l/_XAtyCEovsAEQ
https://dl.doubtnut.com/l/_QrksBd5ZfmPn
https://dl.doubtnut.com/l/_6GBcjoqJogch


Watch Video Solution

9. Write the applications of DNA finger printing, 

Watch Video Solution

10. Explain the denaturation of proteins.

Watch Video Solution

11. Define enzymes. Explain the mechanism of enzyme

catalysed reaction. 

Watch Video Solution

https://dl.doubtnut.com/l/_6GBcjoqJogch
https://dl.doubtnut.com/l/_RWeGU0YL4cjH
https://dl.doubtnut.com/l/_RfxlvAO7N8aB
https://dl.doubtnut.com/l/_pFOjXvMwfkiK


Subjective Exercise 3 Short Answer Questions

12. What are the different types of RNA found in the cell?

Watch Video Solution

13. Explain that the two strands of DNA are not identical, but

are complementary.

Watch Video Solution

1. What are hormones and how are they classified ? 

Watch Video Solution

https://dl.doubtnut.com/l/_HtdwWcktNuWj
https://dl.doubtnut.com/l/_YL5yVI5ya1nE
https://dl.doubtnut.com/l/_y886MMfVvM7P
https://dl.doubtnut.com/l/_8gq0bMcb3m5R


2. What are stereoidal and non steroidal hormones ? Give

examples. 

Watch Video Solution

3. What are the deficiencies caused by vitamins A, D, E and K?

What are the characteristics of vitamins ? Write the sources

of vitamins. 

Watch Video Solution

4. Write the important sources of vitamins.

Watch Video Solution

https://dl.doubtnut.com/l/_8gq0bMcb3m5R
https://dl.doubtnut.com/l/_XrfRQpRMlb50
https://dl.doubtnut.com/l/_HiixinW5SM4M


Subjective Exercise 3 Very Short Answer Questions

5. Write the formula and function of vitamin A. 

Watch Video Solution

6. Write the deficiency defects of vitamins

Watch Video Solution

B1, B2, B6 and B12

1. Write two plant hormones.

Watch Video Solution

https://dl.doubtnut.com/l/_2pt78jdVRbLj
https://dl.doubtnut.com/l/_9wGk7oTiuHiJ
https://dl.doubtnut.com/l/_p9h9cwDNhjHF
https://dl.doubtnut.com/l/_hl3jHjxUT3HN


2. What are water soluble and fat soluble vitamins ? 

Watch Video Solution

3. Write the role of thyroxin. 

Watch Video Solution

4. What are water soluble and fat soluble vitamins ? 

Watch Video Solution

5. Write the effects of deficiency of vitamins

 

Watch Video Solution

B1, B2, B6, B12 and C.

https://dl.doubtnut.com/l/_hl3jHjxUT3HN
https://dl.doubtnut.com/l/_30qKOi5lYF1R
https://dl.doubtnut.com/l/_WTJq2nGAmDdS
https://dl.doubtnut.com/l/_QScsIg1ufW00


Objective Exercise 1 Monosaccharides

6. What are the deficiencies caused by vitamins . A, D, E and

K? 

Watch Video Solution

1. Which one of the following is a pentose sugar? 

A. Ribose

B. Arabinose

C. Lyxose

D. All the three

https://dl.doubtnut.com/l/_QScsIg1ufW00
https://dl.doubtnut.com/l/_cpbdgrvxXj1j
https://dl.doubtnut.com/l/_SXn7PiHvJk26


Answer: D

Watch Video Solution

2. Monosaccharides contain 

A. Six carbon atoms only

B. Five carbon atoms only

C. Four carbon atoms only

D. May contain 5 to 6 carbon atoms

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SXn7PiHvJk26
https://dl.doubtnut.com/l/_3qezLo2Yze29


3. An oligosaccharide contains

A. 1-6 monosaccharides

B. 2-10 monosaccharides

C. 6-3 monosaccharides

D. 10-16 monosaccharides

Answer: B

Watch Video Solution

4. Which of the following is not an oligosac charide ? 

A. Xylose

B. Maltose

https://dl.doubtnut.com/l/_pxS5v0rwVcC1
https://dl.doubtnut.com/l/_IpGoPK11P030


C. Lactose

D. Sucrose

Answer: A

Watch Video Solution

5. A Laevorotatory sugar present in fruits is 

A. Glucose

B. Fructose

C. Sucrose

D. Lactose

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_IpGoPK11P030
https://dl.doubtnut.com/l/_TLnkcKS0mX92


Watch Video Solution

6. Glucose is not

A. hexose

B. a carbohydrate

C. an oligosaccharide

D. an aldose

Answer: C

Watch Video Solution

7. On heating glucose with Fehling solution, we get a

precipitate whose colour is

https://dl.doubtnut.com/l/_TLnkcKS0mX92
https://dl.doubtnut.com/l/_5Zky63cQ8CWu
https://dl.doubtnut.com/l/_g7vHqtHQIa6W


A. Orange

B. Red

C. Black

D. White

Answer: B

Watch Video Solution

8. Glucose gives silver mirror test with Tollen's reagent. It

shows the presence of

A. Carboxylic group

B. Alcoholic group

C. Ketonic group

https://dl.doubtnut.com/l/_g7vHqtHQIa6W
https://dl.doubtnut.com/l/_H78c4QCenPnj


D. Aldehydic group

Answer: D

Watch Video Solution

9. Correct statement for a-D Glucose and B-D Glucose I)

Enantiomers II) Anomers III) Isomers IV) Not Enantiomers

A. All are correct

B. Only II, III, IV are correct

C. II, III are correct

D. Only II is correct

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_H78c4QCenPnj
https://dl.doubtnut.com/l/_6KIml2xeRNjc


10. When glucose is heated with nitric acid the product is

A. Lactic acid

B. Saccharic acid

C. Glycollic acid

D. Oxalic acid

Answer: B

Watch Video Solution

11. When hemiacetal reacts with alcohol the product is

A. Dihemiacetal

https://dl.doubtnut.com/l/_6KIml2xeRNjc
https://dl.doubtnut.com/l/_V5nIPGj8T6yJ
https://dl.doubtnut.com/l/_plpfs7OCDmYm


B. Alcohol

C. Acetal

D. Peptide

Answer: C

Watch Video Solution

12. Ring structure of glucose is due to formation of

hemiacetal and ring formation is in between

A. 

B. 

C. 

D. 

C1 and C5

C1 and C4

C1 and C3

C2 and C4

https://dl.doubtnut.com/l/_plpfs7OCDmYm
https://dl.doubtnut.com/l/_KiMeQFT7iWOu


Answer: A

Watch Video Solution

13. The wrong statement about glucose is 

A. It has one  - alcoholic group

B. It has four  - alcoholic group

C. It has one aldehydic group

D. It has one  - alcoholic groups

Answer: D

Watch Video Solution

1∘

2∘

3∘

https://dl.doubtnut.com/l/_KiMeQFT7iWOu
https://dl.doubtnut.com/l/_oJxL1ID839FB


14. Fructose contains

A. 3 Secondary alcoholic groups

B. One ketonic group

C. 2 Primary alcoholic groups

D. All the above

Answer: D

Watch Video Solution

15. The fischer projection of glyceraldehyde representing

correct configuration in terms of D & L, R & S and d & 1

https://dl.doubtnut.com/l/_gcwZ3kzPXZEQ
https://dl.doubtnut.com/l/_XEb7YvEVAkd3


designations respectively 

A. D,R,d

B. D,R,I

C. D,S,d

D. D,S,I

Answer: A

h id l i

https://dl.doubtnut.com/l/_XEb7YvEVAkd3


Watch Video Solution

16. The reaction which suggest that glucose has one carbonyl

group is 

I) Glucose + HCN 

II) Glucose +  


III) Glucose + HI 

IV) Glucose + conc. 

A. All

B. I, II are correct

C. I only

D. I, II, III are correct

Answer: B

Watch Video Solution

NH2OH

HNO3

https://dl.doubtnut.com/l/_XEb7YvEVAkd3
https://dl.doubtnut.com/l/_gesAgwWFM2XU


Watch Video Solution

17. Conc.  can be stored in container of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

C6H6O10

C6H10O8

C5H8O9

C6H9O8

18. Glucose A then the homologue of A is

A. 

HI
−−→

C6H14

https://dl.doubtnut.com/l/_gesAgwWFM2XU
https://dl.doubtnut.com/l/_CXPAgr1hlsS1
https://dl.doubtnut.com/l/_r8A1yMXLO9vF


B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H12

C5H12

C6H10

19. The reagents which don't react with glucose are I) Schiff's

reagent II) Tollen's reagent III) Fehling reagent IV)

A. All

B. I,IV,V only

C. I,II,III only

NaHSO3V )NH3

https://dl.doubtnut.com/l/_r8A1yMXLO9vF
https://dl.doubtnut.com/l/_RYHvZaZDYdGJ


D. I,IV,III only

Answer: B

Watch Video Solution

20. Glyceraldehyde and Dihydroxy acetone are a pair of 

A. Anomers

B. Enantiomeres

C. Functional isomers

D. Epimers

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RYHvZaZDYdGJ
https://dl.doubtnut.com/l/_yDqL3PW4IQbx


21. Chemical formula of gluconic acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOOC − (CHOH)4 − COOH

HOOC − (CHOH)4 − CH2OH

HOOC − (CHOH)4 − CHO

HOOC − (CHOH)3 − COOCH3

https://dl.doubtnut.com/l/_L2cI7hOEVqFz


22. Compound represented by this structure 

A. D-threose

B. L-threose

C. D-erythrose

D. L-erythrose

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BdCAjQTOXlpM


23. Glucose on treating with excess of phenyl hydrazine gives.

A. Gluconic acid

B. Saccharicaed

C. Osazone

D. Sorbitol

Answer: C

Watch Video Solution

24. In pyranose of glucose oxide (ether) linkage is formed

between

A.  and C1 C6

https://dl.doubtnut.com/l/_OoQWY5IHIHnT
https://dl.doubtnut.com/l/_ZKKHTjaEKePa


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2 and C6

C1 and C5

C2 and C3

25. Which of the following is called as Laevulose?

A. Glucose

B. Fructose

C. Lactose

D. Maltose

https://dl.doubtnut.com/l/_ZKKHTjaEKePa
https://dl.doubtnut.com/l/_NIBPARJbpr05


Answer: B

Watch Video Solution

26. The sweetest sugar among the following is 

A. Fructose

B. Glucose

C. Sucrose

D. Galactose

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NIBPARJbpr05
https://dl.doubtnut.com/l/_zOX1kEMSrkRL


27. For naturally occurring fructose, the configuration and

sign of specific rotation respectively 

A. D,-

B. D,+

C. L,-

D. L,+

Answer: A

Watch Video Solution

28. The two forms of D-Glucopyranoše are called

A. Diastereomers

https://dl.doubtnut.com/l/_L8aVB5nbRDvE
https://dl.doubtnut.com/l/_hzxi0q2fhXnm


B. Anomers

C. Epimers

D. Enantiomers Disaccharides

Answer: B

Watch Video Solution

29. Glucose and cane sugar can't be distinguished by

A. Fehling's solution

B. Baeyer's reagent

C. Tollens' reagent

D. Benedict's solution

https://dl.doubtnut.com/l/_hzxi0q2fhXnm
https://dl.doubtnut.com/l/_kRQozf8RE6Sh


Answer: B

Watch Video Solution

30. In which of the following all are disaccharides? 

A. Maltose, Sucrose, Lactose

B. Maltose,Lactose,Glucose

C. Glycogen, Lactose, Sucrose

D. Starch, Maltose, Lactose

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kRQozf8RE6Sh
https://dl.doubtnut.com/l/_Wf6LUSX6yXZu


31. A disaccharide on hydrolysis gives

A. Two molecules of the same monosaccharide

B. Two differnt monosaccharides

C. Three molecules of the same monosa ccharide

D. Two molecules of the same or different

monosaccharides

Answer: D

Watch Video Solution

32. Inverted sugar is

A. Optically inactive form of sugar

https://dl.doubtnut.com/l/_klv2CURCSZ8B
https://dl.doubtnut.com/l/_sbJr8f4kynDk


B. Equimolecular mixture of glucose and Equimolecular

mixture of glucose and

C. Mixture of glucose and fructose

D. A variety of cane sugar

Answer: B

Watch Video Solution

33. Which of the following on hydrolysis give similar

monosaccharide units 

(a) Sucrose 

(b) Lactose 

(c) Maltose 

(d) Amylose

https://dl.doubtnut.com/l/_sbJr8f4kynDk
https://dl.doubtnut.com/l/_pnPQ8ZsdB774


A. A,B

B. A,C

C. A,D

D. C,D

Answer: D

Watch Video Solution

34. Correct statements regarding sucrose 

A) It is a reducing sugar 

B) It is a disaccharide with  glycosidic linkage 


C) It posseses two types of rings 

D) It is dextro rotatory

A. A, B, C, D

C1 − C2

https://dl.doubtnut.com/l/_pnPQ8ZsdB774
https://dl.doubtnut.com/l/_IH9Vh2Xepq6q


B. B, C, D

C. A, C, D

D. A, B, C

Answer: B

Watch Video Solution

35. Change in optical rotation of sucrose solution due to

hydrolysis is called 

A. Specific rotation

B. Inversion

C. Rotatory motion

D. Mutarotation

https://dl.doubtnut.com/l/_IH9Vh2Xepq6q
https://dl.doubtnut.com/l/_E3e643khdQVU


Answer: B

Watch Video Solution

36. Which of the following is not a reducing sugar?

A. Glucose

B. Sucrose

C. Lactose

D. Maltose

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_E3e643khdQVU
https://dl.doubtnut.com/l/_ZFvUjJChUcHF


37. Identify the one which does not belong to the class to

which the other three belong based on hydrolysis

A. Sucrose

B. Fructose

C. Lactose

D. Maltose

Answer: B

Watch Video Solution

38. Which among the following does not give a silver mirror

test with Tollen's reagent?

https://dl.doubtnut.com/l/_hYknFBgkmDJQ
https://dl.doubtnut.com/l/_GgWnzDQpu0Mf


A. Fructose

B. Glucose

C. Galactose

D. Sucrose

Answer: D

Watch Video Solution

39. Sucrose molecule contains

A. a glucopyranose and a fructopyranose units

B. a glucopyranose and a fructofuranose units

C. a glucofuranose and a fructopyranose units

D. a glucofuranose and a fructofuranose units

https://dl.doubtnut.com/l/_GgWnzDQpu0Mf
https://dl.doubtnut.com/l/_bpuH6rKmNLIk


Answer: B

Watch Video Solution

40. Maltose consists of

A. Only -D glucose units

B.  and  D Glucose units

C. Glucose and fructose

D. Frutose only

Answer: A

Watch Video Solution

α

α β

https://dl.doubtnut.com/l/_bpuH6rKmNLIk
https://dl.doubtnut.com/l/_EUOMvX36KyxD


41. The glycosidic linkage in carbohydrates is

A. Link between two carbon atoms in a carbohydrate by a

covalent bond

B. Link between a carbon atom and an oxygen atom

C. Link between carbon atoms in a carbo- hydrate through

an oxygen atom formed by elimination of water

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1OOn9ArEmD5i


42. Match of the following 

 

The correct match is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a b c

2 1 3

a b c

3 2 1

a b c

2 4 3

a b c

2 3 1

https://dl.doubtnut.com/l/_0A0WuvGx1wl0
https://dl.doubtnut.com/l/_gPgN9UJC5fgR


Objective Exercise 1 Polysaccharides

43. 18g each of A: maltose B : Sucrose C: Lactose A are

separately taken and hydrolysed comple tely. The order of

increase in the mass of products formed with each of them.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A > B > C

B > A > C

C > A > A

A = B = C

https://dl.doubtnut.com/l/_gPgN9UJC5fgR


1. Which of the following is animal polysaccharide?

A. Amylopectin

B. Glycogen

C. Amylose

D. Cellulose

Answer: B

Watch Video Solution

2. In Amylpectin the linkage absent is

A. 

B. 

C1&C4

C1&C6

https://dl.doubtnut.com/l/_SUiMkkJRcoxa
https://dl.doubtnut.com/l/_sUFGJdYZIRbS


C. 

D. Both  and 

Answer: C

Watch Video Solution

C1&C2

C1&C6 C1&C4

3. Amylose consists of

A. Branched chain of  -D-glucose units

B. Unbranched chain of  glucose units

C. Units of sucrose

D. Unbranched chain of  glucose units

Answer: D

W t h Vid S l ti

α

Bη − D

α − D −

https://dl.doubtnut.com/l/_sUFGJdYZIRbS
https://dl.doubtnut.com/l/_Ubn4XkaHRPx4


Watch Video Solution

4. Amylopectin is a polymer of

A. -D glucose

B.  glucose

C.  fructose

D.  fructose

Answer: B

Watch Video Solution

β

α − D

β − D

α − D

5. Which of the following antiseptic is a carbohydrate ?  

A) Streptomycin  

https://dl.doubtnut.com/l/_Ubn4XkaHRPx4
https://dl.doubtnut.com/l/_5H6zZDKOZNuh
https://dl.doubtnut.com/l/_jZ8bkfLTr5YO


B) Gentamycin  

C)Neomycin 

A. Direct conversion of starch into glucose may be carried

out by

B. fermentation with diastase

C. fermentation with zymase

D. heating it with dil HCI

Answer: D

Watch Video Solution

6. The intermediate compound in the conversion of starch to

glucose is

https://dl.doubtnut.com/l/_jZ8bkfLTr5YO
https://dl.doubtnut.com/l/_COx6BI3vxUth


A. fermentation with diastase

B. fermentation with zymase

C. heating it with dil HCl

D. fermentation with maltase

Answer: C

Watch Video Solution

7. The intermediate compound in the conversion of starch to

glucose is

A. Lactose

B. Maltose

C. Fructose

https://dl.doubtnut.com/l/_COx6BI3vxUth
https://dl.doubtnut.com/l/_KFnJeN6PWjgI


D. Sucrose

Answer: B

Watch Video Solution

8. Regarding amylopectin, the wrong statement is

A. it is a branched chain polysaccharide

B. it is insoluble in water

C. it gives blue colour with iodine solution

D. one molecule may contain 25-30 D-glucose units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KFnJeN6PWjgI
https://dl.doubtnut.com/l/_tLoK5boPyNp1


9. Regarding starch the wrong statement is

A. It is present in sorghum

B. It is least soluble in hot water

C. It is not oxidised by tollens reagent

D. It can form osozone

Answer: B

Watch Video Solution

10. Raffinose on hydrolysis gives

A. Glucose, Fructose, Galactose

B. Fructose, Glucose, Maltose

https://dl.doubtnut.com/l/_TF1Povi2Qkub
https://dl.doubtnut.com/l/_6YGEGB2ApTZD


C. Galactose, Fructose, Mannose

D. Maltose, Fructose, Galactose

Answer: A

Watch Video Solution

11. Which of the following carbohydrates is the essential

constituent of cell wall?

A. Starch

B. Maltose

C. Cellulose

D. Sucrose

Answer: C

https://dl.doubtnut.com/l/_6YGEGB2ApTZD
https://dl.doubtnut.com/l/_Lrsk3rG16sWw


Watch Video Solution

12. Cellulose is

A. L-fructose

B. D-fructose

C. D-glucose

D. Amylose

Answer: C

Watch Video Solution

13. Which of the following can exist as food storages and

structural materials?

https://dl.doubtnut.com/l/_Lrsk3rG16sWw
https://dl.doubtnut.com/l/_X4nzQyA16hYg
https://dl.doubtnut.com/l/_qgvq7X5MVwYX


A. Monosaccharides

B. Disaccharides

C. Oligosaccharides

D. Polysaccharides

Answer: D

Watch Video Solution

14. The carbohydrates are stored in animal bodies as

A. Starch

B. Amylum

C. Glycogen

D. Cellulose

https://dl.doubtnut.com/l/_qgvq7X5MVwYX
https://dl.doubtnut.com/l/_7978fq2XuH3J


Answer: C

Watch Video Solution

15. Which of the following is a branched chain

polysaccharide?

A. Cellulose

B. Raffinose

C. Amylose

D. Glycogen

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7978fq2XuH3J
https://dl.doubtnut.com/l/_yW4dXgzBHJMl
https://dl.doubtnut.com/l/_Zc8AwWSQfoDO


Objective Exercise 2 Monosaccharides

16. The glycosidic linkage in carbohydrates is

A.  - linkage

B. - linkage

C.  - linkage

D.  linkage

Answer: D

Watch Video Solution

C1 − C4β

C1 − C6α

C1 − C6β

C1 − C4α

1. Fructose gives the silver mirror test because it

A. Contains an aldehyde group

https://dl.doubtnut.com/l/_Zc8AwWSQfoDO
https://dl.doubtnut.com/l/_iaP8psgcjO5U


B. Contains a keto group

C. Undergoes rearrangement under the alkaline

conditions of the reagent to form a mixture of glucose

and mannose

D. It has pyranose structure

Answer: C

Watch Video Solution

2. Which of the following monosaccharides is a pentose

A. Glucose

B. Frutose

C. Ribose

https://dl.doubtnut.com/l/_iaP8psgcjO5U
https://dl.doubtnut.com/l/_YJuSwntZL4Fc


D. Galactose

Answer: C

Watch Video Solution

3. Ractants  products  KJ  This

reaction is made to take plane by coupling with

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

→ ΔG = + 63 mole− 1

ATP
H2O

A DP

ATP
H2O
−−→ A

ATP
H2O
−−→ AMP

ADP
H2O
−−→ A

https://dl.doubtnut.com/l/_YJuSwntZL4Fc
https://dl.doubtnut.com/l/_BrLUGILpxej6


4. Which of the following reagents can not be used to

distinguish between glucose and fructose?

A. Tollens' reagent

B. Fehling's solution

C. Benedict's solution

D. All of these

Answer: D

Watch Video Solution

5. Oxidation of glucose with  givesAg2O

https://dl.doubtnut.com/l/_BrLUGILpxej6
https://dl.doubtnut.com/l/_dcsL32poBUnD
https://dl.doubtnut.com/l/_KQXeCXojnIdA


A. D-Gluconic acid

B. L-Glucaric acid

C. L-Gluconic acid

D. L-Glucaric acid

Answer: A

Watch Video Solution

6. In an aquose solution of D-Glucose the percentage of

 anomers at equilibrium condition are respectively

A. 80 and 20

B. 20 and 80

C. 36 and 64

α and β

https://dl.doubtnut.com/l/_KQXeCXojnIdA
https://dl.doubtnut.com/l/_gQirDDFZxOX2


D. 64 and 36

Answer: C

Watch Video Solution

7.  Glucose and  glucose differ from each

other due to difference in one carbon with respect to its?

A. Size of hemiacetal ring

B. Number of OH groups

C. Configuration

D. Conformation

Answer: C

Watch Video Solution

α − D − β − D

https://dl.doubtnut.com/l/_gQirDDFZxOX2
https://dl.doubtnut.com/l/_7NHbuP2DEbBG


8. Which of the following statements is correct about D -

Glucose and D - Galactose compounds?

A. They are diastereomers

B. Both are components of lactose

C. They are C - 4 epimers

D. All the above are correct

Answer: D

Watch Video Solution

9. The number of chiral centers in the open chain structure of

glucose is______

https://dl.doubtnut.com/l/_7NHbuP2DEbBG
https://dl.doubtnut.com/l/_Ic0Efs7AzfiJ
https://dl.doubtnut.com/l/_1eNptxrkk7uJ


A. 3

B. 4

C. 5

D. 6

Answer: B

Watch Video Solution

10. 

A. 

B. 

C. 

D. 

X
HI

←−− Glucose
HNO3

−−−→ Y . What are X and Y ?

X Y

n-Hexane Gluconi acid

X Y

Gluconic acid Saccharic acid

X Y

n-Hexanol Saccharic acid

X Y

n-Hexane Saccharic acid

https://dl.doubtnut.com/l/_1eNptxrkk7uJ
https://dl.doubtnut.com/l/_MX1Yi8iQSyuQ


Answer: D

Watch Video Solution

11. With how many molecules of acetic anhydride does not

molecule of glucose react?

A. 3

B. 4

C. 5

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MX1Yi8iQSyuQ
https://dl.doubtnut.com/l/_K7ZWTjpL2nDj
https://dl.doubtnut.com/l/_eH1ftt9jl3Fw


12. Which one of the following has two  Glucose

units ?

A. Maltose

B. Lactose

C. Cellulose

D. Sucrose

Answer: A

Watch Video Solution

α − D −

https://dl.doubtnut.com/l/_eH1ftt9jl3Fw


13. Match the following columns

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

2 3 4 1

A B C D

2 3 1 4

A B C D

3 2 4 1

A B C D

3 2 1 4

https://dl.doubtnut.com/l/_P9UNW1f16T0s


14. The number of chiral centres in the cyclic hemiacetal form

of Glucose is

A. 3

B. 4

C. 5

D. 6

Answer: C

Watch Video Solution

15. Which of the following statements about ribose is

incorrect ?

https://dl.doubtnut.com/l/_F9v1Tk4u1JWD
https://dl.doubtnut.com/l/_tWX9HdxgwVfC


A. It is a polyhydroxy ketone

B. It is an aldehyde sugar

C. It has five carbon atoms

D. It exhibits optical activity

Answer: A

Watch Video Solution

16. Which one'of the following is the configu- ration standard

for giving D, L-configuration of sugars?

A. Erythrose

B. Arabinose

C. Glyceraldehyde

https://dl.doubtnut.com/l/_tWX9HdxgwVfC
https://dl.doubtnut.com/l/_h42Naxehf6k3


D. Glucose

Answer: C

Watch Video Solution

17.  

The correct match is

A. 

B. 

A B C D

3 4 1 2

A B C D

4 3 1 2

https://dl.doubtnut.com/l/_h42Naxehf6k3
https://dl.doubtnut.com/l/_SDqGieMyKef0


C. 

D. 

Answer: A

Watch Video Solution

A B C D

5 3 4 2

A B C D

5 4 1 3

18. When the monosaccharide is converted to D-

glyceraldehyde, then which carbon has the same

configuration as in D-glyceraldehyde ?

A. Lowest numbered asymmetric carbon

B. Highest numbered asymmetric carbon

C. More oxidised carbon

D. Highest numbered carbon

https://dl.doubtnut.com/l/_SDqGieMyKef0
https://dl.doubtnut.com/l/_TcNWXsaXuPtQ


Answer: B

Watch Video Solution

19. The mixture of compounds formed when glucose

undergoes reversible isomerisation with sodium hydroxide

solution

A. D-Glucose, D-mannose and D-fructose

B. D-Glucose, D-galactose and D-fructose

C. D-Galactose, D-glucose and L-fructose

D. D-Glucose, L-fructose and D-galactose

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TcNWXsaXuPtQ
https://dl.doubtnut.com/l/_HDZf6SUTOKJg


20. D -Glucose shows mutarotation because,

A. it is dextrorotatory

B. it undergoes inter conversion between its pyranose

structure and furanose structure

C.  and  Glucopyranose structures

D. it undergoes interconversion with D(-) fructose

Answer: C

Watch Video Solution

α β( + )

21. The end product (B) formed in the reaction sequence.

Glucose .
HCN
−−−→
H3O

−
A

HI ,P
−−−→

Δ
B

https://dl.doubtnut.com/l/_HDZf6SUTOKJg
https://dl.doubtnut.com/l/_p1yx4Em1Iphg
https://dl.doubtnut.com/l/_7HEfQBagHNFV


A. hexanoic acid

B. hexane

C. heptane

D. heptanoic acid

Answer: C

Watch Video Solution

22. Glucose  Energy 


The above reaction is an examples of

A. hydrolysis

B. Saponification

C. Dehydration

H2O
−−−−→
Enzyme

C2H5OH + CO2 +

https://dl.doubtnut.com/l/_7HEfQBagHNFV
https://dl.doubtnut.com/l/_tWiQRO3XXMQg


D. Fermentation

Answer: D

Watch Video Solution

23. Amylopectin is a polymer of

A.  glucopyranose

B. fructose

C. - fructose

D.  glucose

Answer: A

Watch Video Solution

α − D

β −

β − D

https://dl.doubtnut.com/l/_tWiQRO3XXMQg
https://dl.doubtnut.com/l/_J6fUk19H0AgQ


24. The total number of C atoms in  D fructofuranose are

A. 6

B. 5

C. 4

D. 7

Answer: A

Watch Video Solution

β −

25. Which one of the following has two  Glucose

units ?

A. Maltose

α − D −

https://dl.doubtnut.com/l/_k2qbo5zjMirN
https://dl.doubtnut.com/l/_Y0vaqviWVyRD


B. Lactose

C. Cellulose

D. Sucrose

Answer: A

Watch Video Solution

26. Which of the following carbohydrates is the essential

constituent of cell wall?

A. starch

B. cellulose

C. maltose

D. sucrose

https://dl.doubtnut.com/l/_Y0vaqviWVyRD
https://dl.doubtnut.com/l/_TKbeqsVuVqyR


Answer: B

Watch Video Solution

27. Which of the following does not refer to the principle

forms of carbohydrate present in our food?

A. fructose

B. sucrose

C. starch

D. cellulose

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TKbeqsVuVqyR
https://dl.doubtnut.com/l/_i1X2pBEscXcT
https://dl.doubtnut.com/l/_QEaRst6ydFVJ


28. Which of the following does not represent a disaccharide

?

A. Maltose

B. Sucrose

C. Lactose

D. Lactose

Answer: D

Watch Video Solution

29. The two functional groups present in a typical

carbohydrate are

A. −CHO and − COOH

https://dl.doubtnut.com/l/_QEaRst6ydFVJ
https://dl.doubtnut.com/l/_6FplGKxW7Pms


B.  and -OH

C.  and 

D. 

Answer: B

Watch Video Solution

> C = O

−OH −NH2

−OH and − COOH

30. Incorrect statements among the following 

(A) Sucrose is reducing sugar 

(B) Two  glucose units in maltose are linked by 1,4-

linkage 

(C )  glucose and  fructose units are linked by 1,

4-linkage in lactose 

(D) All polysaccharides are reducing nonsugars

α − D −

β − D β − D

https://dl.doubtnut.com/l/_6FplGKxW7Pms
https://dl.doubtnut.com/l/_uajRmoE4Oil1


A. Only A, B

B. A, B, C, D

C. A, C, D only

D. A, B, C only

Answer: C

Watch Video Solution

31. Which is incorrect statement ?

A. Starch is a polymer of  -D-glucose

B. Amylose is a component of cellulose

C. Structure of galactose has five carbons and one oxygen

in cycle.

α

https://dl.doubtnut.com/l/_uajRmoE4Oil1
https://dl.doubtnut.com/l/_hZwasloTGEXF


D. Fructose is reducing sugar

Answer: B

Watch Video Solution

32. On hydrolysis with dil.  starch and cellulose give

'X' and 'Y'. Then 'X' and 'Y' are a pair of

A. Enantiomers

B. Anomers

C. Functional isomers

D. Homologues

Answer: B

Watch Video Solution

H2SO4,

https://dl.doubtnut.com/l/_hZwasloTGEXF
https://dl.doubtnut.com/l/_uzRmN85Xd9UO


33. Which of the followng linkage holds the monosaccharide

units in disaccharide molecule

A. peptide linkage

B. ionic linkage

C. glycoide linkage

D. H-bonding

Answer: C

Watch Video Solution

34. Sucrose reacts with acetic anhydride to form

https://dl.doubtnut.com/l/_uzRmN85Xd9UO
https://dl.doubtnut.com/l/_VXm4w50l3HzY
https://dl.doubtnut.com/l/_Gn0FqSfKWlxJ


A. Pentaacetate

B. Hexaacetate

C. Tetraacetate

D. Octaacetate

Answer: D

Watch Video Solution

35. Consider the statements: 

I) Maltose is also known as malt sugar 

II) Sucrose is also known as cane sugar 

III) Lactose is also known as grape sugar 

IV) Starch is also known as Amylum 

The correct statement is / are

https://dl.doubtnut.com/l/_Gn0FqSfKWlxJ
https://dl.doubtnut.com/l/_DD2zSHtvWTTO


A. I,II and IV

B. I,II and III

C. II,III and IV

D. I and II

Answer: A

Watch Video Solution

36. The set of chemical reactions by which the various

molecules of the cell are synthesized is called

A. Anabolism

B. Catabolism

C. Metabolism

https://dl.doubtnut.com/l/_DD2zSHtvWTTO
https://dl.doubtnut.com/l/_jeUh7dlI6Hhf


D. Photosynthesis

Answer: A

Watch Video Solution

37. Which one of the following has two  Glucose

units ?

A. Maltose

B. Lactose

C. Cellulose

D. Sucrose

Answer: A

Watch Video Solution

α − D −

https://dl.doubtnut.com/l/_jeUh7dlI6Hhf
https://dl.doubtnut.com/l/_3GLtRnAukOg5


38. Which of the following is not a reducing sugar?

A. Glucose

B. Maltose

C. Sucrose

D. Lactose

Answer: C

Watch Video Solution

39. The Glycosidic linkage present in sucrose is between

A. C-1 of - glucose and C-4 of  glucoseβ α −

https://dl.doubtnut.com/l/_3GLtRnAukOg5
https://dl.doubtnut.com/l/_G48jn0XxotdS
https://dl.doubtnut.com/l/_c1YBhvf6K167


B. C-1 of  - glucose and C-4 of - fructose

C. C-1 of  glucose and C-4 of  - fructose

D. C-1 of  glucose and C-4 of -

Answer: D

Watch Video Solution

α α

α α

α − D β

40. Which one of the following statements is correct ?

A. 'Starch on complete hydrolysis gives fructose

B. Lactose on hydrolysis gives Glucose and Fructose

C. Glucose on slow oxidation to  and  by enzyme

does not liberate energy

D. Cellulose is not disgestible in the humarn body

CO2 H2O

https://dl.doubtnut.com/l/_c1YBhvf6K167
https://dl.doubtnut.com/l/_2nmIV81DCnms


Objective Exercise 1 Amino Acids And Proteins

Answer: A

Watch Video Solution

1. The peptide linkage is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−
∣

CH − COO − NH

∣

CH − CO − NH −

−
∣

CH − CH2 − CO − NH2

−
∣

CH − NH − NH − CO −

https://dl.doubtnut.com/l/_2nmIV81DCnms
https://dl.doubtnut.com/l/_Z87gsq8YT8ib


2. Which of the following contains nitrogen ?

A. Fats

B. Proteins

C. Carbohydrates

D. Hydrocarbons

Answer: B

Watch Video Solution

3. The building unit of all proteins are

A. monosaccharides

https://dl.doubtnut.com/l/_Z87gsq8YT8ib
https://dl.doubtnut.com/l/_UA6uCjXmUjK2
https://dl.doubtnut.com/l/_EjCrQC4EtrBy


B. lipids

C. amino acids

D. primary amines

Answer: C

Watch Video Solution

4. Number of peptide links in a tripeptide

A. 3

B. 2

C. 6

D. 4

https://dl.doubtnut.com/l/_EjCrQC4EtrBy
https://dl.doubtnut.com/l/_wlDp9NiTwLQP


Answer: B

Watch Video Solution

5. The structural feature which distinguishes proline from  -

amino acids is that

A. It is optically inactive

B. It contains aromatic group

C. It is a dicarboxylic acid

D. It is a secondary amine

Answer: D

Watch Video Solution

α

https://dl.doubtnut.com/l/_wlDp9NiTwLQP
https://dl.doubtnut.com/l/_Wyua314DMnnN
https://dl.doubtnut.com/l/_Di5OeDf13d2U


6. Which of the following amino acids possesses a non polar

side chain

A. isoleucine

B. serine

C. cysteine

D. glutamic acid

Answer: A

Watch Video Solution

7. Which of the following amino acids contains a thiol group

in the side chain

A. methionine

https://dl.doubtnut.com/l/_Di5OeDf13d2U
https://dl.doubtnut.com/l/_mDDeucGXrbH1


B. cysteine

C. valine

D. serine

Answer: B

Watch Video Solution

8. The amino acid which contain a hydroxy group in the side

chain

A. cysteine

B. glutamine

C. serine

D. leucine

https://dl.doubtnut.com/l/_mDDeucGXrbH1
https://dl.doubtnut.com/l/_BYDKElkSx8uB


Answer: C

Watch Video Solution

9. Essential amino acid among the following is

A. Glycine

B. Tryptophan

C. Alanine

D. Proline

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BYDKElkSx8uB
https://dl.doubtnut.com/l/_iSVB37A4WCzi


10. The number of amino acids found in proteins that a

human body can synthesize is

A. 20

B. 10

C. 5

D. 14

Answer: B

Watch Video Solution

11. Which one of the following is not an essential anino acid?

A. Valine

https://dl.doubtnut.com/l/_yRSvGGy2btBT
https://dl.doubtnut.com/l/_ge1XDvyOdXhd


B. Leucine

C. Lysine

D. Alanine

Answer: D

Watch Video Solution

12. Which of the following statement is not correct ?

A. proteins are polyamides formed from amino aicds

B. except glycine, all other amino acids show optical

activity

C. natural proteins are made up of L -isomers of amino

acids

https://dl.doubtnut.com/l/_ge1XDvyOdXhd
https://dl.doubtnut.com/l/_usNz03BgB7vV


D. in  amino aicds,  and -COOH groups are

attached to different carbon atom

Answer: D

Watch Video Solution

α −NH2

13. The amino acid which contain a hydroxy group in the side

chain

A. Cysteine

B. Glutamine

C. Serine

D. leucine

Answer: C

https://dl.doubtnut.com/l/_usNz03BgB7vV
https://dl.doubtnut.com/l/_RyV2vOCjnTRx


Watch Video Solution

14. Which of the following is an optically active compound ? 

A. Glycine

B. Lysine

C. Isoleucine

D. Aspartic acid

Answer: A

Watch Video Solution

15. Which one of the following amino acid does not contain

heterocyclic ring structure

https://dl.doubtnut.com/l/_RyV2vOCjnTRx
https://dl.doubtnut.com/l/_dMqiNeQfmehV
https://dl.doubtnut.com/l/_JOgkyY6dwdLv


A. Tryptophan

B. Histidine

C. Proline

D. Valine

Answer: D

Watch Video Solution

16. Among the following the basic amino acid is

A. Glycine

B. Argenine

C. Proline

D. Cysteine

https://dl.doubtnut.com/l/_JOgkyY6dwdLv
https://dl.doubtnut.com/l/_zZopjieE1ybI


Answer: B

Watch Video Solution

17. Which of the following is an example of ''irreversible

denaturation'' of a protein ?

A. boiling egg

B. change of amino acid

C. enzymatic action

D. its synthesis

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zZopjieE1ybI
https://dl.doubtnut.com/l/_kAPu3DBVhz42
https://dl.doubtnut.com/l/_86AaYnmY8UCV


18. Which of the following statements is not correct?

A. amino acid can exist as inner salt

B. each polypeptide has one C - terminal and other N -

terminal

C. enzymes are naturally occurring simple proteins

D. the union of two amino acids produces two peptide

linkages

Answer: D

Watch Video Solution

19. The dipeptide glyclalanine contains

https://dl.doubtnut.com/l/_86AaYnmY8UCV
https://dl.doubtnut.com/l/_gLseWBbFJh7N


A. 3D arrangement of all atoms

B. shape of poly peptide chain

C. specific sequence of amino acids

D. 3D arrangement of oligo peptide chains

Answer: C

Watch Video Solution

20. The dipeptide glyclalanine contains

A. glycine as C-terminal residue

B. glycine as N-terminal residue

C. alanine as N-terminal residue

D. either (1) or (2)

https://dl.doubtnut.com/l/_gLseWBbFJh7N
https://dl.doubtnut.com/l/_luzUCBijFnbO


Answer: B

Watch Video Solution

21. Secondary structure of protein refers to

A. Mainly denatured proteins and structure of prosthetic

groups

B. Three-dimensional structure, especially the bond

between amino acid residues that are distinct from

each other in the poly-peptide chain

C. Linear sequence of amino acid residues in the

polypeptide chain

https://dl.doubtnut.com/l/_luzUCBijFnbO
https://dl.doubtnut.com/l/_kLYvbBJ4eVPd


D. Regular folding patterns of continuous portions of the

polypeptide chain

Answer: D

Watch Video Solution

22.  - pleated structure of proteins is

A. Primary structure

B. Secondary structure

C. Tertiary structure

D. Quaternary structure

Answer: B

W t h Vid S l ti

β

https://dl.doubtnut.com/l/_kLYvbBJ4eVPd
https://dl.doubtnut.com/l/_gasNjjPK1fSm


Watch Video Solution

23. The bond that determines the secondary structure of a

protein is

A. Co-ordinate bond

B. Covalent bond

C. Hydrogen bond

D. Ionic bond

Answer: C

Watch Video Solution

24. Which of the following is a globular protein ?

https://dl.doubtnut.com/l/_gasNjjPK1fSm
https://dl.doubtnut.com/l/_LtSAfHoZjboT
https://dl.doubtnut.com/l/_rQylhwMTa9vP


A. Collagen

B. Myoglobin and Haemoglobin

C. Myosin

D. Enzymes

Answer: B

Watch Video Solution

25. Tertiary structure of a protein will lead the polypeptide

chains to get the following shapes

A. linear, octahedral

B. angular, tetrahedral

C. fibrous, globular

https://dl.doubtnut.com/l/_rQylhwMTa9vP
https://dl.doubtnut.com/l/_bPhw3kryBPJd


D. fibrous, planar

Answer: C

Watch Video Solution

26. Mark the wrong statement about denaturation of

proteins  

A. The primary structure of the protein does not change

B. Globular proteins are converted into fibrous proteins

C. Fibrous proteins do not posses globular structure

D. The biological activity of the protein is not cancelled

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bPhw3kryBPJd
https://dl.doubtnut.com/l/_v1hy2BNvvesM


27. The restriction of the biological nature and activity of

proteins by heat or chemical agent is called

A. dehydration

B. denaturation

C. deoxidation

D. denitrogenation

Answer: B

Watch Video Solution

28. Regarding enzymes, incorrect statement is

https://dl.doubtnut.com/l/_v1hy2BNvvesM
https://dl.doubtnut.com/l/_K1W9wYaxCqH4
https://dl.doubtnut.com/l/_VzGUZemGVlPH


A. an enzyme is generally a protein

B. an enzyme may be a conjugated protein

C. enzyme gets deactivated during reactions

D. enzyme gets activated during reactions

Answer: D

Watch Video Solution

29. Enzymes are made up of

A. Edible proteins

B. Proteins with specific structure

C. Nitrogen containing carbohydrates

D. Carbohydrates

https://dl.doubtnut.com/l/_VzGUZemGVlPH
https://dl.doubtnut.com/l/_PdJeWZANDDK3


Answer: B

Watch Video Solution

30. Enzymes are

A. Complex substances produced in cells

B. Steroids

C. Living organisms

D. Dead organisms

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PdJeWZANDDK3
https://dl.doubtnut.com/l/_08NkmeIfHj72


31. Structure that gives the sequence of amino acids of a

protein  

A. Primary

B. Secondary

C. Tertiary

D. Quaternary

Answer: A

Watch Video Solution

32. The function of enzymes in the living system is to

A. transport oxygen

https://dl.doubtnut.com/l/_7afmLM7ZeLqC
https://dl.doubtnut.com/l/_ma9dd6WhLMAn


B. provide immunity

C. catalyse biochemical reactions

D. provide energy

Answer: C

Watch Video Solution

33. Which one of the following is not a protein ?

A. Wool

B. Nail

C. Hair

D. DNA

https://dl.doubtnut.com/l/_ma9dd6WhLMAn
https://dl.doubtnut.com/l/_2HiEWGPW7jUh


Answer: D

Watch Video Solution

34. Enzymes belong to which class of compounds ?

A. Polysaccharides

B. Polypeptides

C. Heterocyclics

D. Hydrocarbons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2HiEWGPW7jUh
https://dl.doubtnut.com/l/_WQk0kF0L9swD


Objective Exercise 1 Nucleic Acids

35. According to classification of aminoacids, lysine belongs

to the following

A. Acidic amino acid

B. Basic amino acid

C. Neutral amino acid

D. Non-essential amino acid

Answer: B

Watch Video Solution

1. Primary and secondary structures of nucleic acid reveals

https://dl.doubtnut.com/l/_R8762YyLFypb
https://dl.doubtnut.com/l/_BnTl9EeqAIB4


A. Nucleotide sequence & Single or double helix structure

B. Amino acid sequence & 3D-folding

C. Amino acid sequence & shape of protein

D. Single/double helix structure and Nucleo- tide

sequence.

Answer: A

Watch Video Solution

2. Which of the following constitutes the genetic material of

the cell ?

A. Nucleic acids

B. Proteins

https://dl.doubtnut.com/l/_BnTl9EeqAIB4
https://dl.doubtnut.com/l/_HvIvMuytYceu


C. Lipids

D. Carbohydrates

Answer: A

Watch Video Solution

3. Nuclic acids are called acids mainly because of the presence

of

A.  COOH group

B.  OH group of sugar unit

C.  OH group of the heterocyclic base

D.  OH group of phosphate unit

Answer: D

−

−

−

−

https://dl.doubtnut.com/l/_HvIvMuytYceu
https://dl.doubtnut.com/l/_ivoUYOvY8IxW


Watch Video Solution

4. Which of the following is not a pyrimidine base

A. Uracil

B. Thymine

C. Cytosine

D. Guanine

Answer: D

Watch Video Solution

5. The following does not belong to either purines or

pyrimidines

https://dl.doubtnut.com/l/_ivoUYOvY8IxW
https://dl.doubtnut.com/l/_g5G44QoGdkrj
https://dl.doubtnut.com/l/_BPnzvdcWpDF5


A. Tryptophan

B. Cytosine

C. Uracil

D. Adenine

Answer: A

Watch Video Solution

6. Purine without ketonic group is

A. adenine

B. adenosine

C. cytidine

D. thymidine

https://dl.doubtnut.com/l/_BPnzvdcWpDF5
https://dl.doubtnut.com/l/_XF2LujLClYdC


Answer: A

Watch Video Solution

7. The purine base present in RNA is

A. Guanine

B. Thymine

C. Cytosine

D. Uracil

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XF2LujLClYdC
https://dl.doubtnut.com/l/_cV3seZ0xtUW0


8. The bases that are common in both RNA and DNA are

A. adenine, guanine, cytosine

B. adenine, guanine, thymine

C. adenine, uracil, cytosine

D. guanine, uracil, thymine

Answer: A

Watch Video Solution

9. 6 - amino purine is

A. Adenosine

B. Adenine

https://dl.doubtnut.com/l/_APFt46qhOu0A
https://dl.doubtnut.com/l/_x1ujt2deQhF2


C. Cytosine

D. Thymine

Answer: B

Watch Video Solution

10. Adenosine monophosphane (AMP) is a

A. nucleotide

B. nucleoside

C. insecticide

D. antibacterial

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_x1ujt2deQhF2
https://dl.doubtnut.com/l/_IWP5MqlEW3jy


Watch Video Solution

11. The phosphodiester linkage in a nucleitde is between

A. 5' and 1' carbons

B. 5' and 3' carbons

C. 1' and 5' carbons

D. 3' and 5' carbons

Answer: B

Watch Video Solution

12. Which one of the following is not present in DNA ?

A. adenine

https://dl.doubtnut.com/l/_IWP5MqlEW3jy
https://dl.doubtnut.com/l/_74AcEbIUFqGW
https://dl.doubtnut.com/l/_6BUtLDZmN39m


B. ribose

C. cytosine

D. guanine

Answer: B

Watch Video Solution

13. The pentose sugar in DNA and RNA has  

A. Open chain structure

B. Pyranose structure

C. Furanose structure

D. None of the above

https://dl.doubtnut.com/l/_6BUtLDZmN39m
https://dl.doubtnut.com/l/_fg4K1u1LtNwe


Answer: C

Watch Video Solution

14. Adenosine is an example of a

A. Nucleotide

B. Nucleoside

C. Purine base

D. Pyridine base

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fg4K1u1LtNwe
https://dl.doubtnut.com/l/_PiSZO15rk8sm


15. Nucleoside on hydrolysis gives

A. Pentose sugar and purine base

B. Pentose sugar, phosphoric acid, purine or pyrimidine

base

C. Pentose sugar and a heterocyclic base

D. Heterocyclic base and phosphoric acid

Answer: C

Watch Video Solution

16. Uracil containing nucleotide differs from thymine

containing nucleotide in having

https://dl.doubtnut.com/l/_22WqjbBUNaXZ
https://dl.doubtnut.com/l/_YeCS8Ux5vVQR


A. Hydroxyl group on 2nd carbon in sugar and presence of

 group in nitrogen base.

B. Hydrogen atoms on 2nd carbon in sugar and absence

of group in nitrogen base.

C. Hydroxyl group on 2nd carbon in sugar and absence of

 group in nitrogen base.

D. Hydrogen atoms on 2nd carbon in sugar presence of

 group in nitrogen base

Answer: C

Watch Video Solution

CH3

CH3

CH3

CH3

17. In nucleic acids, the sequence is represented as

https://dl.doubtnut.com/l/_YeCS8Ux5vVQR
https://dl.doubtnut.com/l/_lFz14wOI7PeD


A. Phosphate - base - sugar

B. Sugar - base - phosphate

C. Base - sugar - phosphate

D. Base - phosphate - sugar

Answer: C

Watch Video Solution

18. Dicyclic nitrogen bases are 

I) Adenine 

II) Cytosine 

Ill) Guanine 

IV) Thymine

A. I and III

https://dl.doubtnut.com/l/_lFz14wOI7PeD
https://dl.doubtnut.com/l/_lQhzsvEMSSvm


B. I and II

C. II and III

D. III and IV

Answer: A

Watch Video Solution

19. In nucleic acids, the nucleotides are linked to one another

through

A. Hydrogen bond

B. Peptide bond

C. Glycosidic linkage

D. Phosphate groups

https://dl.doubtnut.com/l/_lQhzsvEMSSvm
https://dl.doubtnut.com/l/_HMTAFWjIZsEe


Answer: D

Watch Video Solution

20. In a nucleotide the phosphate linkage is generally

attached to

A. C - 1 of sugar

B. C - 2 of sugar

C. C - 5 of sugar

D. N - of base

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HMTAFWjIZsEe
https://dl.doubtnut.com/l/_t0uCMjpcDvE1
https://dl.doubtnut.com/l/_zWMRwwdPlBqN


21. Adenine pairs with thymine through

A. two hydrogen bonds

B. one hydrogen bond

C. three hydrogen bonds

D. four hydrogen bonds

Answer: A

Watch Video Solution

22. Hydrolysis of adenosine triposphate involves rupture of

A. Base-sugar bond

B. Sugar-phosphate bond

https://dl.doubtnut.com/l/_zWMRwwdPlBqN
https://dl.doubtnut.com/l/_pwgVvBoawzAd


C. P-O-P bond

D. P-N-P bond

Answer: C

Watch Video Solution

23. The backbone of a nucleotide strand contains the

following sequence of arrangement

A. Base-Sugar

B. Sugar-Phosphate

C. Base-Phosphate

D. 

Answer: B

Base1 − Base2

https://dl.doubtnut.com/l/_pwgVvBoawzAd
https://dl.doubtnut.com/l/_s2jtQbagt2f9


Watch Video Solution

24. The couplings between base units of DNA is through

A. Hydrogen bonding

B. Electrostatic bonding

C. Covalent bonding

D. vander Waals forces

Answer: A

Watch Video Solution

25. The main role of DNA in a living system is

https://dl.doubtnut.com/l/_s2jtQbagt2f9
https://dl.doubtnut.com/l/_2w78oqL2J2zL
https://dl.doubtnut.com/l/_D924pkagM3Ii


A. It is the structural material of cell walls

B. It is an enzyme

C. It carries the hereditary characteristics of the organism

D. It participates in cellular respiration

Answer: C

Watch Video Solution

26. Synthesis of identical copies of DNA is called

A. transcription

B. replication

C. translation

D. reverse transcription

https://dl.doubtnut.com/l/_D924pkagM3Ii
https://dl.doubtnut.com/l/_sQSUgLCllUNF


Answer: B

Watch Video Solution

27. The pentose sugars in DNA and RNA have the structure of

A. Furanose

B. Open chain

C. Pyranose

D. Four membered ring

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sQSUgLCllUNF
https://dl.doubtnut.com/l/_NyrAn5Luucyv


28. Match of the following 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

4 3 2 1

A B C D

1 2 3 4

A B C D

2 1 4 3

A B C D

2 1 3 4

https://dl.doubtnut.com/l/_dngw9xDPcOUC
https://dl.doubtnut.com/l/_kfLApinYXi5U


29. Which of the following is true with regards to nucleosides

A. Nucleoside is formed from nitrogen base + sugar

B. Nucleoside is formed from nitrogen base + sugar +

phosphoric acid

C. Nucleoside is formed only from nitrogen base

D. Nucleoside is formed from nitrogen base + amino ,acid

Answer: A

Watch Video Solution

30. Which of the following bases is not present in DNA

A. Adenine

https://dl.doubtnut.com/l/_kfLApinYXi5U
https://dl.doubtnut.com/l/_O61Lk0ZjxY2H


Objective Exercise 2 Amino Acids And Proteins

B. Guanine

C. Cytosine

D. Uracil

Answer: D

Watch Video Solution

1. The end products of protein hydrolysis are

A. Peptides

B. Monosaccharides

C. Lipids

https://dl.doubtnut.com/l/_O61Lk0ZjxY2H
https://dl.doubtnut.com/l/_alaBsnWh4yGZ


D. -Amino acids

Answer: D

Watch Video Solution

α

2. IUPAC name of Glycine is

A. 2-amino propanoic acid

B. 2-amino butanoic acid

C. Amino ethanoic acid

D. 2-amino pent-I, 5-dioic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_alaBsnWh4yGZ
https://dl.doubtnut.com/l/_PdCNvwUCpZ4b


3. D-Alanine differs from L - Alanine with respect to

A. configuration

B. chemical formula

C. number of -NH groups

D. number of -COOH groups

Answer: A

Watch Video Solution

4. Which of the following does not exit as a zwitter ion ?

A. Glycine

B. Alanine

https://dl.doubtnut.com/l/_X2fRl5nmBO2d
https://dl.doubtnut.com/l/_FVBFDMKBoTjr


C. Sulphanilic acid

D. Picric acid

Answer: D

Watch Video Solution

5. Nature of aqueous solutions of two different amino acids X

and Y are acidic and basic. Now X and Y are.

A. Alanine and Valine

B. Aspartic acid and Aspargine

C. Glutamine and Glutamic acid

D. Aspartic acid and Lysine

Answer: D

https://dl.doubtnut.com/l/_FVBFDMKBoTjr
https://dl.doubtnut.com/l/_YzXmHCI8EwhB


Watch Video Solution

6. Which one of the following Fischer projection formula

represents R - alanine ?

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_YzXmHCI8EwhB
https://dl.doubtnut.com/l/_jJhADSRJY4dn


Watch Video Solution

7. More number of peptide bonds are present in

A. 2

B. 5

C. 3

D. 4

Answer: C

Watch Video Solution

8. Which one of the following statements is incorrect

regarding stereochemistry of most of the amino acids ?

https://dl.doubtnut.com/l/_jJhADSRJY4dn
https://dl.doubtnut.com/l/_kQ8f66lruUWL
https://dl.doubtnut.com/l/_j0U6NFGcDFVF


A. Amino acid containing 3 carbon atoms is optically

active

B. They have L-configuration

C. They have R-configuration

D. Glycine is optically inactive

Answer: C

Watch Video Solution

9. What are the common types of secondary structure of

proteins ?

A. H-bonds

B. Disulphide linkages

https://dl.doubtnut.com/l/_j0U6NFGcDFVF
https://dl.doubtnut.com/l/_1ChebQdbyFy1


C. Ionic bonds

D. Covalent bonds

Answer: A

Watch Video Solution

10. Protein with special three dimensional structure and

biological activity is called :

A. Native protein

B. Conjugative protein

C. Simple protein

D. Globular protein

Answer: A

https://dl.doubtnut.com/l/_1ChebQdbyFy1
https://dl.doubtnut.com/l/_u1vR0GOo9C8I


Watch Video Solution

11. How many tripeptides can be prepared by linking the

amino acids glycine,alanine and phenyl alanine?

A. One

B. Three

C. Six

D. Twelve

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_u1vR0GOo9C8I
https://dl.doubtnut.com/l/_ukAijz9oiHON


12. Which compound can exist in a dipolar (zwitter ion)

structure ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5CH2CH(N = CH2)COOH

(CH3)2CHCH(NH2)COOH

C6H5CONHCH2COOH

HOOCCH2CH2COCOOH

13. which of the following is not a function of proteins?

A. nail formation

https://dl.doubtnut.com/l/_CGlGBVXPlXxb
https://dl.doubtnut.com/l/_1PmWafnO5uzD


B. skin formation

C. muscle formation

D. providing energy for metabolism

Answer: D

Watch Video Solution

14. The amino acids which cannot be synthsised in the body

but must be supplied through diet are

A. Essential amino acids

B. Non-essential amino acids

C. -Amino acids

D. Acidic amino acids

α

https://dl.doubtnut.com/l/_1PmWafnO5uzD
https://dl.doubtnut.com/l/_j11pAnPLG6O0


Answer: A

Watch Video Solution

15. Mark the wrong statement about enzymes

A. Enzymes are highly specific both in binding with

substrates and in catalysing their reactions

B. Each enzyme can catalyse a number of similar reactions

C. Enzymes catalyse chemical reactions by lowering the

energy of activation

D. Enzymes are needed only in very small amounts for

their action

Answer: B

https://dl.doubtnut.com/l/_j11pAnPLG6O0
https://dl.doubtnut.com/l/_TJpuXtaeMuDR


Watch Video Solution

16. Number of peptide linkages in the artificial sweetner

''aspartame'' is

A. 2

B. 21

C. 1

D. 11

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TJpuXtaeMuDR
https://dl.doubtnut.com/l/_hU0j4BqIofEv


17. Which one of the following is not affected by the

denaturation of protein?

A. Primary structure

B. Tertiary structure

C. Secondary structure

D. Quaternary structure

Answer: A

Watch Video Solution

18. Among the following, achiral amino acid is'

A. Glycine

https://dl.doubtnut.com/l/_6Z5XTHKijOqQ
https://dl.doubtnut.com/l/_4iFmXpsUkdrP


B. Alanine

C. Proline

D. Tryptophan

Answer: A

Watch Video Solution

19. If the amino group of Glycine and carboxylic acid group of

Alanine undergo elimination of wter molecule, the name of

the compound thus formed is

A. Alanylglycine(dipeptide)

B. Glycyl alanine(tri peptide)

C. Glycyl alanine(dipeptide)

https://dl.doubtnut.com/l/_4iFmXpsUkdrP
https://dl.doubtnut.com/l/_t4oYWTJa7Ilg


D. Alanineglycine(dipeptide)

Answer: A

Watch Video Solution

20. Regarding secondary structure of a protein, correct

statement(s) is/are 

(A) peptide bonds possess regional planarity 

(B) C = O and  of different peptide chains are held

by Van der Waal attarctions 

(C ) closely packed arrangement so as to minimise repulsion

between ''R'' groups.

A. Only C

B. Only B

−NH −

https://dl.doubtnut.com/l/_t4oYWTJa7Ilg
https://dl.doubtnut.com/l/_2OOClbWO4nuu


C. A and B only

D. A and C only

Answer: D

Watch Video Solution

21. The secondary structure of a protein refers to

A. hydrophobic interactions

B. sequence of -amino acids

C. fixed configuration of the polypeptide backbone

D.  - helical bacbone

Answer: D

W t h Vid S l ti

α

α

https://dl.doubtnut.com/l/_2OOClbWO4nuu
https://dl.doubtnut.com/l/_MqdyB5WK4Ja2


Objective Exercise 2 Nucleic Acids

Watch Video Solution

22. Identify the correct statement

A. Enzymes are active within a narrow range of pH and T

B. They show low reaction selectivity

C. Work under harsh reaction conditions

D. They work only at high T

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MqdyB5WK4Ja2
https://dl.doubtnut.com/l/_KXDIBIVmIb8T


1. Regarding enzymatic reactions, the 4 steps are shown

below 

A)  


B)  


(C)  


D)  


The correct sequence of the steps is

A. A,D,C,B

B. A,B,C,D

C. D,C,B,A

D. A,C,B,D

Answer: A

Watch Video Solution

E + S → E − S

E − P → E + P

E − I → E − P

E − S → E − I

https://dl.doubtnut.com/l/_Uq2oL5Q7soWK


2. The number of hydrogen bonds present in the sequence of

a stretch of a double helical DNA 51 ATGCCTAA 3' is

A. 16

B. 19

C. 24

D. 20

Answer: B

Watch Video Solution

3. The base pairing occurs in double helix of DNA is

A. A to T and G to C

https://dl.doubtnut.com/l/_Uq2oL5Q7soWK
https://dl.doubtnut.com/l/_Ea32SDokGqIb
https://dl.doubtnut.com/l/_GkP9k0fcR8LH


B. A to G and T to C

C. A to C and G to T

D. G to T and A to C

Answer: A

Watch Video Solution

4. The following group/linkage is absent in Adenine but

present in Guanine

A. 

B. 

C. 

D. 

−C ≡ N

−NH2

⟩C = O

−CONH2

https://dl.doubtnut.com/l/_GkP9k0fcR8LH
https://dl.doubtnut.com/l/_oSmT8bFgDFze


Answer: C

Watch Video Solution

5. Phosphate ester of X is called a nucleotide. X is

A. adenine

B. guanine

C. nucleoside

D. thymine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oSmT8bFgDFze
https://dl.doubtnut.com/l/_xzj1on7wGaXN


6. The small pieces of DNA which are synthe- sised

discontinuously are joined together by an enzyme called

A. DNA ligase

B. DNA polymerase

C. RNA polymerase

D. Exonuclease

Answer: A

Watch Video Solution

7. Most important energy carrier in living cell is

A. ADP

https://dl.doubtnut.com/l/_Nneb8jfqIJQQ
https://dl.doubtnut.com/l/_x6o1EGV4UpSH


B. TTP

C. GTP

D. ATP

Answer: D

Watch Video Solution

8. In the nucleotide namely adenosine-5'-tri phosphate, the

sequence of linkages among N(base), C(sugar) and

P(phosphate) is

A. C-P-N-P-P

B. 

C. 

N − C − P − P − P

P − C − N − P − P

https://dl.doubtnut.com/l/_x6o1EGV4UpSH
https://dl.doubtnut.com/l/_A82fK4VyuBRN


D. 

Answer: B

Watch Video Solution

P − P − P − C − N

9. Combination of proteins with nucleic acids gives

A. enzymes

B. polypeptides

C. nucleo proteins

D. dipeptides

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_A82fK4VyuBRN
https://dl.doubtnut.com/l/_ExLbqOcNvm3c


10. In nucleic acids the nucleotide sub units linked by

hydrogen bond 

b) Nucleic acids control heredity at molecular level 

(c) DNA is a dinucleotide and RNA is oligo- nucleotide 

The correct statement is

A. all

B. a,c

C. b only

D. a only

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WDPErO6FncRk


11. DNA finger printing is useful for 

A) Identifying the criminals 

B) Determining the paternity of individual 

C) Identifying the dead bodies

A. A,B

B. A,C

C. B,C

D. A,B,C

Answer: D

Watch Video Solution

12. Which one of the following sequence of groups in AMP ?

https://dl.doubtnut.com/l/_2Ryq1HZTBztD
https://dl.doubtnut.com/l/_rg1ETqZktpCD


A. Sugar - base - phosphate

B. Base - sugar - phosphate

C. Phosphate - base - sugar

D. Phosphate - acid - sugar

Answer: B

Watch Video Solution

13. The important features of genetic code are 

a) It is universal 

b) It is commaless 

c) It is not degenerate 

d) Third base is not always specific.

A. a only

https://dl.doubtnut.com/l/_rg1ETqZktpCD
https://dl.doubtnut.com/l/_wNwxifs9Ce0l


B. b, c only

C. b, c and d only

D. a, band d only

Answer: D

Watch Video Solution

14. Cytosine, Thymine and Uracil are similar with respect to

A. C =O at 2nd position in pyrimidine ring

B.  group at 4th carbon in pyrimidine ring

C. C = O at 4th position in pyrimidine ring

D. absence of C = O group at 2nd position in pyrimidine

ring

NH2

https://dl.doubtnut.com/l/_wNwxifs9Ce0l
https://dl.doubtnut.com/l/_lMHYbWnwec3W


Answer: A

Watch Video Solution

15. The bases that are common in both RNA and DNA are

A. Adenine, Guanine, Thymine

B. Adenine, Uracil, Cytosine

C. Adenine, Guanine, Cytosine

D. Guanine, Uracil, Thymine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lMHYbWnwec3W
https://dl.doubtnut.com/l/_cDWwSO9fux2T


16. Which of the following is correct about H-bonding in DNA?

A. A - T, G - C

B. A - G, T - C

C. G - T, A - C

D. A - A, T - T

Answer: A

Watch Video Solution

17. The base that is not present in DNA is

A. Guanine

B. Uracil

https://dl.doubtnut.com/l/_Vn7x6eo7YztD
https://dl.doubtnut.com/l/_Dowa6nHQXZ1k


C. Adenine

D. Thymine

Answer: B

Watch Video Solution

18. Which of the following is true with regards to nucleosides

A. Nucleoside is formed from nitrogen base + sugar

B. Nucleoside is formed from nitrogen base + sugar +

phosphoric acid

C. Nucleoside is formed only from nitrogen base

D. Nucleoside is formed from nitrogen base + amino acid

https://dl.doubtnut.com/l/_Dowa6nHQXZ1k
https://dl.doubtnut.com/l/_AZa5lg9ZWf8A


Objective Exercise 1 Vitamins

Answer: A

Watch Video Solution

1. Water soluble vitamins are

A. A,D

B. E,K

C. D,E

D. C,B

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AZa5lg9ZWf8A
https://dl.doubtnut.com/l/_8k4CqsRwZkWH


2. Which one of the following is a source of vitamin ''A''' ?

A. Milk

B. Liver

C. Yeast

D. Egg

Answer: C

Watch Video Solution

3. Night blindness is due to the deficiency of

A. Vitamin A

https://dl.doubtnut.com/l/_8k4CqsRwZkWH
https://dl.doubtnut.com/l/_YSnSfsxAGQFJ
https://dl.doubtnut.com/l/_jOogRPf7qoG4


B. Hormones

C. Vitamin 

D. Riboflavin

Answer: A

Watch Video Solution

B12

4. The chief source of vitamin D is

A. Fish liver oil

B. Spinach

C. Cow dung

D. Citrous fruit

https://dl.doubtnut.com/l/_jOogRPf7qoG4
https://dl.doubtnut.com/l/_BB91ZCWm1E3f


Answer: A

Watch Video Solution

5. Antiricketic Vitamin is

A. Vitamin A

B. Vitamin 

C. Vitamin C

D. Vitamin D

Answer: D

Watch Video Solution

B12

https://dl.doubtnut.com/l/_BB91ZCWm1E3f
https://dl.doubtnut.com/l/_khUgPeiAxTr1


6.  

The correct match is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A B C D

IV I III II

A B C D

IV III I II

A B C D

III IV II I

A B C D

IV I II III

https://dl.doubtnut.com/l/_bdufJm2JqyTY


7. The disease beriberi is caused by the defici- ency of vitamin

A. A

B. K

C. 

D. 

Answer: C

Watch Video Solution

B1

B12

8. Dificiency of Vitamin E leads to

A. Neurosis of heart muscles

B. Degeneration of lacrymal gland

https://dl.doubtnut.com/l/_VuusrOLnvqQY
https://dl.doubtnut.com/l/_5fJnGzSy4S50


C. Beri-Beri

D. Dermatitis

Answer: A

Watch Video Solution

9. Anti haemorrhagic vitamin is

A. A

B. B

C. D

D. K

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_5fJnGzSy4S50
https://dl.doubtnut.com/l/_KpKe9do5OEaI


Watch Video Solution

10. Deficiency of Vitamin  leads to

A. Bow legs

B. Cheilosis

C. Pellegra

D. Vision loss

Answer: B

Watch Video Solution

B12

11. The deficiency of which of the following vitamins adversely

affects eye sight? 

https://dl.doubtnut.com/l/_KpKe9do5OEaI
https://dl.doubtnut.com/l/_fVqJ1B5o5MHU
https://dl.doubtnut.com/l/_lFbUW8TFi4d4


A. A

B. D

C. 

D. E

Answer: A

Watch Video Solution

B12

12. Dark red tongue, fissuring at corners of mouth and lips are

the symptoms of the deficiency of which vitamin

A. C

B. A

C. B2

https://dl.doubtnut.com/l/_lFbUW8TFi4d4
https://dl.doubtnut.com/l/_LA7FvucXgV0T


D. D

Answer: C

Watch Video Solution

13. Which of the following is not a source of vitamina-A

A. Fish oils

B. Carrots

C. Yeast

D. Milk

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LA7FvucXgV0T
https://dl.doubtnut.com/l/_vqCboA8BFcXo


14. Vitamin  is rich in

A. Meet

B. Fish

C. Egg

D. all

Answer: D

Watch Video Solution

B12

15. Ascorbic acid resembles the structure of

A. Vitamin A

B. Glucose

https://dl.doubtnut.com/l/_7d3aTrs5jN8r
https://dl.doubtnut.com/l/_rMorBnYIw7EB


C. Cellulose

D. Vitamin D

Answer: B

Watch Video Solution

16. The lack of vitamin C leads to

A. beriberi

B. anaemia

C. blindress

D. scurvy

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_rMorBnYIw7EB
https://dl.doubtnut.com/l/_5SsDOwkykZLM


Watch Video Solution

17. Convulsion is due to deficiency of vitamin

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B1

B2

B5

B6

18. Vitamin  is known as

A. Pyridoxine

B6

https://dl.doubtnut.com/l/_5SsDOwkykZLM
https://dl.doubtnut.com/l/_nT7m7xzx3vvZ
https://dl.doubtnut.com/l/_Hllu644FRuAc


B. Thiamine

C. Tocopherol

D. Riboflavin

Answer: A

Watch Video Solution

19. Vitamin D is called

A. Ascorbic acid

B. Calciferol

C. Thiamine

D. Riboflavin

https://dl.doubtnut.com/l/_Hllu644FRuAc
https://dl.doubtnut.com/l/_SnswxLDF8Wtn


Answer: B

Watch Video Solution

20. Which of the following vitamins is not soluble in water ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C

B1

B2

D

https://dl.doubtnut.com/l/_SnswxLDF8Wtn
https://dl.doubtnut.com/l/_1e4jb8UIsawq


21. The best source of vitamin C is

A. Cod liver oil

B. Egg yolk

C. Citrous fruits

D. Fish liver oil

Answer: C

Watch Video Solution

22. The deficiency of vitamin K causes

A. Haemorrhage

B. Lengthening time of blood clotting

https://dl.doubtnut.com/l/_gEXm5gVQLCcy
https://dl.doubtnut.com/l/_Ns4gg5r9q7iY


C. Inflammation of tongue

D. Both (1) and (2)

Answer: D

Watch Video Solution

23. Nervousness anaemia is caused by the deficiency of

vitamin

A. 

B. 

C. 

D. 

Answer: D

B1

B2

B6

B12

https://dl.doubtnut.com/l/_Ns4gg5r9q7iY
https://dl.doubtnut.com/l/_4v4TRoxmto9i


Watch Video Solution

24. Deficiency of vitamin E causes 

A. Scurvy

B. Loss of appetite

C. Loss of sexual power and reproduction

D. Beri Beri

Answer: C

Watch Video Solution

25. Which of the following is a fat soluble vitamin? 

https://dl.doubtnut.com/l/_4v4TRoxmto9i
https://dl.doubtnut.com/l/_FAKYOdjTKqnQ
https://dl.doubtnut.com/l/_pbXffM76bOeJ


A. Vitamin A

B. Riboflavin

C. Pyridoxine

D. Thiamine

Answer: A

Watch Video Solution

26. The metal present in vitamin  is

A. Fe

B. Mg

C. Co

D. Mn

B12

https://dl.doubtnut.com/l/_pbXffM76bOeJ
https://dl.doubtnut.com/l/_Jd81TYrGbQPO


Answer: C

Watch Video Solution

27. Pick the wrong statement from the following

A. Deficiency of Vitamin  (pyridoxime) results in

convulsions

B. Sources of Vitamin are yeast, milk, green vegetables and

cereals

C. Deficiency of vitamin D causes xerophtha- lamia

D. Consumption of citrus fruits and green leafy vegetables

in food prevents scurvy

Answer: C

B6

https://dl.doubtnut.com/l/_Jd81TYrGbQPO
https://dl.doubtnut.com/l/_Le0G66wOvkCU


Objective Exercise 1 Hormones

Watch Video Solution

1. Receptors of hormones are generally  

A. Carbohydrates

B. Vitamins

C. Lipids

D. Protiens

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Le0G66wOvkCU
https://dl.doubtnut.com/l/_lOLT53U1nP17


2. Which of the following acts as stimulator ?

A. Vitamin

B. Enzyme

C. Hormone

D. Carbohydrate

Answer: C

Watch Video Solution

3. Hormones are secreted by ductless glands of human body.

Iodine containing hormone is

A. Adrenoline

https://dl.doubtnut.com/l/_VEkA6kfn4ZKb
https://dl.doubtnut.com/l/_aFjhTE4lNa2z


Objective Exercise 2 Vitamins

B. Thyroxine

C. Testosterone

D. Insulin

Answer: B

Watch Video Solution

1. Vitamin D deficiency causes

A. Sterility

B. Xerophthalmia

C. Rickets

https://dl.doubtnut.com/l/_aFjhTE4lNa2z
https://dl.doubtnut.com/l/_Zp08hZXq9rLs


D. Beriberi

Answer: C

Watch Video Solution

2. Which one of the following statements is true regarding

vitamin ?

A. Vitamins are needed in large amounts to maintain

good health

B. Vitamins are secreted by ductless glands

C. Vitamins A,D,E,K are 'fat soluble and vitamins B complex

and C are water soluble

D. All vitamins are synthesised in human body

https://dl.doubtnut.com/l/_Zp08hZXq9rLs
https://dl.doubtnut.com/l/_bu3bldSoCPwI


Answer: C

Watch Video Solution

3. The vitamin which is water soluble and acts as antioxidant

is

A. A

B. B

C. D

D. C

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bu3bldSoCPwI
https://dl.doubtnut.com/l/_pgXIxHVU8tCx
https://dl.doubtnut.com/l/_EKqxOEBCaQaE


4. Which one of the vitamin is syntbesised in. our body by

using sun rays ?

A. A

B. B complex

C. C

D. D

Answer: D

Watch Video Solution

5. Which one of the following statements is incorrect

regarding vitamins ?

A. Vitamin A is essential for growth and vision

https://dl.doubtnut.com/l/_EKqxOEBCaQaE
https://dl.doubtnut.com/l/_GGX8MKOOCkuj


B. Vitamin D is essential for development of bones

C. A red coloured carotene in the body breaks into vitamin

C

D. Vitamin K is essential for bloodcoagulation

Answer: C

Watch Video Solution

6. Curd'contain the following vitamin

A. Vitamin 

B. Vitamin 

C. Vitamin A

D. Vitamin C

B12

B6

https://dl.doubtnut.com/l/_GGX8MKOOCkuj
https://dl.doubtnut.com/l/_9DSLDBWtf4L3


Answer: A

Watch Video Solution

7. Vitamin E is also called

A. Cyanocobalamin

B. Tocopherol

C. Lactoflavin

D. Ascorbic acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9DSLDBWtf4L3
https://dl.doubtnut.com/l/_CMRsrdH1qObF


8. Milk contains vitamins

A. A, D and E

B. 

C. 

D. 

Answer: D

Watch Video Solution

A, B12 and D

C, D and K

A, B1 and D

9. Which of the following is stored in liver

A. Vitamin A

B. Vitamin C

https://dl.doubtnut.com/l/_76VmD1vLuhQO
https://dl.doubtnut.com/l/_6WeNNqsaf7Sf


C. Vitamin 

D. Vitamin 

Answer: D

Watch Video Solution

B2

B12

10. The one that is synthesized in skin is

A. Vitamin K

B. Vitamin C

C. Vitamin D

D. Vitamin E

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_6WeNNqsaf7Sf
https://dl.doubtnut.com/l/_5VJkcJc25Tzp


Watch Video Solution

11. Defficiency of the following vitamin leads to bleading gums

A. A

B. 

C. 

D. C

Answer: D

Watch Video Solution

B2

B5

12. The one that is familiar as ascorbic acid is

A. Vitamine A

https://dl.doubtnut.com/l/_5VJkcJc25Tzp
https://dl.doubtnut.com/l/_JolwYlfR7Yij
https://dl.doubtnut.com/l/_DrV2muRxdLnW


B. Vitamine B

C. Vitarnine C

D. Vitamine E

Answer: C

Watch Video Solution

13. Which type of chemical is Vitamin K

A. quinone

B. quinol

C. quinal

D. phenol

https://dl.doubtnut.com/l/_DrV2muRxdLnW
https://dl.doubtnut.com/l/_Qlv90QHmfkT4


Answer: A

Watch Video Solution

14. Diseases caused by the deficiency of vitamin D(X) and

vitamin  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B2(Y )

X Y

Scurvy Cheilosis

X Y

Rickets Cheilosis

X Y

Rickets Scurvy

X Y

Scurvy Convulsions

https://dl.doubtnut.com/l/_Qlv90QHmfkT4
https://dl.doubtnut.com/l/_p8K4bOVwAiaF


Objective Exercise 2 Hormones

1. Which of the following maintains constant sugar level in

blood ?

A. Gibberlins

B. Insulin

C. Glucogen

D. Estrone

Answer: B

Watch Video Solution

2. Which of the following hormones contains iodine ?

https://dl.doubtnut.com/l/_AUo99Bwyaf0N
https://dl.doubtnut.com/l/_dfPiOYNSw0gN


A. Insulin

B. Thyroxine

C. Adrenaline

D. Testosterone

Answer: B

Watch Video Solution

3. Number of six membered rings present in a steroid nucleus

is

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_dfPiOYNSw0gN
https://dl.doubtnut.com/l/_tqibq88fmXzN


D. 4

Answer: C

Watch Video Solution

4. The organic compound that transfer biological information

from one group of cells to distant tissues or organs are

called as

A. Vitamins

B. Proteins

C. Hormones

D. Carbohydrates

Answer: C

https://dl.doubtnut.com/l/_tqibq88fmXzN
https://dl.doubtnut.com/l/_QL4R6XzryxRb


Objective Exercise 3 Previous Neet Aipmt Questions

Watch Video Solution

5. Which one of the following sets of vitamins is fat soluble?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C, D, B6, B12

A, B, E, K

A, D, B1, B2

D, B1, B2, E

https://dl.doubtnut.com/l/_QL4R6XzryxRb
https://dl.doubtnut.com/l/_zJtdYRhjBoxc


1. The hormone that helps in conversion of glucose to

glycogen is

A. cortisone

B. bile salt

C. adrenaline

D. insulin

Answer: D

Watch Video Solution

2. Thymine is

A. 5-methyluracil

https://dl.doubtnut.com/l/_rhjaAQfoGkyU
https://dl.doubtnut.com/l/_mcSghtDlrx7w


B. 4-methyluracil

C. 3-methyluracil

D. 1-methyluracil

Answer: A

Watch Video Solution

3. Cell membrane is chemically composed by

A. phospholipids

B. fats

C. proteins

D. carbohydrates

https://dl.doubtnut.com/l/_mcSghtDlrx7w
https://dl.doubtnut.com/l/_QagPwGfrkL5n


Answer: A

Watch Video Solution

4. Which functional group participates in disulphide bond

formation in proteins ?

A. Thioether

B. Thiol

C. Thiolactone

D. Thioester

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QagPwGfrkL5n
https://dl.doubtnut.com/l/_IbQj10NHUgFi
https://dl.doubtnut.com/l/_a97okwmVWTDj


5. Methyl- -D-glucoside and methyl- `beta-D- glucoside are

A. epimers

B. anomers

C. enantiomers

D. conformational diastereomers

Answer: B

Watch Video Solution

α

6. Which one of the following is a peptide hormone ?

A. Adrenaline

B. Thyroxine

https://dl.doubtnut.com/l/_a97okwmVWTDj
https://dl.doubtnut.com/l/_MsVDTJz8Uslx


C. Glucogen

D. Testosterone

Answer: B

Watch Video Solution

7. During the process of digestion, the proteins present in

food materials are hydrolysed to amino acids. The two

enzymes are involved in the process. 

Proteins  polypeptides  amino acids

are respectively.

A. pepsin and trypsin

B. invertase and zymase

C. amylase and maltase

 Enzyme - A
−−−−−−−→

 Enzyme - B 
−−−−−−−−→

https://dl.doubtnut.com/l/_MsVDTJz8Uslx
https://dl.doubtnut.com/l/_ElOSxjwANYAn


D. diastase and lipase

Answer: A

Watch Video Solution

8. The human body does not produce

A. Hormones

B. Enzymes

C. DNA

D. Vitamins

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ElOSxjwANYAn
https://dl.doubtnut.com/l/_d8eFrBsXSaqa


9. DNA and RNA are chiral molecules due to the presence of

A. Chiral bases

B. Phosphate ester unit

C. D-sugar component

D. L-sugar component

Answer: C

Watch Video Solution

10. Which salt is water soluble

A. vitamin E

B. vitamin D

https://dl.doubtnut.com/l/_Qp5nzhQYhNRS
https://dl.doubtnut.com/l/_pOdyyWzKD7ec


C. vitamin K

D. vitamin B

Answer: D

Watch Video Solution

11. In DNA, the complimentary bases are

A. adenine and thymine, guanine and uracil

B. adenine and guanine , thymine and cytosine

C. uracil and adenine , cytosine and guanine

D. adenine and thymine, guanine and cytosine

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_pOdyyWzKD7ec
https://dl.doubtnut.com/l/_NpHGFALZbobE


Watch Video Solution

12. Which of the following hormones contains iodine ?

A. insulin

B. thyroxine

C. testosterone

D. adrenaline

Answer: B

Watch Video Solution

13. The segment of DNA which acts as the instrumental

manual for the synthesis of the protein is

https://dl.doubtnut.com/l/_NpHGFALZbobE
https://dl.doubtnut.com/l/_25AYnIPMFNBw
https://dl.doubtnut.com/l/_6qqy5yivESxJ


A. nucleoside

B. nucleotide

C. Ribose

D. gene

Answer: D

Watch Video Solution

14. Fructose reduces Tollen's reagent due to

A. asymmetric carbons

B. primary alcoholic group

C. secondary alcoholic group

https://dl.doubtnut.com/l/_6qqy5yivESxJ
https://dl.doubtnut.com/l/_6C2uP4rY630o


D. enolisation of fructose followed by conversion to

aldehyde by base

Answer: D

Watch Video Solution

15. Which one of the following does not exhibit the

phenomenon of mutarotation?

A. (+) Sucrose

B. (+) Lactose

C. (+) Maltose

D. (-) Fructose

Answer: A

https://dl.doubtnut.com/l/_6C2uP4rY630o
https://dl.doubtnut.com/l/_uSVwmXvGeOYd


Watch Video Solution

16. Find the hydrolysis product of maltose

A. -D-glucose +  glucose

B. - D- glucose + - D- fructose

C.  glucose +  D galactose

D.  D - glucose  galacotse

Answer: A

Watch Video Solution

α α − D −

α α

α − D α −

α +α − D

17. Which one of the following statements is not true

regarding (+) Lactose ?

https://dl.doubtnut.com/l/_uSVwmXvGeOYd
https://dl.doubtnut.com/l/_1vpqk6TJQn0R
https://dl.doubtnut.com/l/_64qQKkwlfqW4


A. (+) Lactose,  contains 8-OH groups

B. On hydrolysis it produces (D) + glucose and D(+) gala

C. (+) Lactose is a  glycoside formed by the union of

molecule of D(+) glucose and molecule of D(+)

galactose

D. (+) Lactose is a reducing sugar and does not exibit

mutarotation

Answer: D

Watch Video Solution

C12, H22O11

β −

18. Deficieny of vitamin  causes the disease

A. Cheilosis

B1

https://dl.doubtnut.com/l/_64qQKkwlfqW4
https://dl.doubtnut.com/l/_0T1qGTmPygZ0


B. Sterility

C. Convulsions

D. Beri-Beri

Answer: D

Watch Video Solution

19. Which one of the following sets of monosac- charides

forms sucrose ?

A. -D-Glucopyranose and  -D- fructouranose

B. -D-Glucopyranose and  -D- fructopyranose

C. -D-Galactopyranose and  -D-Glucopyranose

D. -D-Glucopyranose and  -D-fructofuranose

β α

α β

α α

α β

https://dl.doubtnut.com/l/_0T1qGTmPygZ0
https://dl.doubtnut.com/l/_FXdaKQdTZx2s


Answer: D

Watch Video Solution

20. D(+) glucose reacts with hydroxylamine and yields an

oxime. The structure of the oxime would be

A. 

B. 

https://dl.doubtnut.com/l/_FXdaKQdTZx2s
https://dl.doubtnut.com/l/_oQpFG2RrVddb


C. 

D. 

Answer: D

Watch Video Solution

21. Which of the following hormones is produced under the

conditions of stress which stimulate glycogenolysis in the

liver of human beings ?

https://dl.doubtnut.com/l/_oQpFG2RrVddb
https://dl.doubtnut.com/l/_yrosfIb1rlAc


A. Thyroxin

B. Insulin

C. Adrenaline

D. Estradiol

Answer: C

Watch Video Solution

22. In a protein molecule various amino acids are linked

together by

A. Peptide bond

B. Dative bond

C. - glycosidic bondα

https://dl.doubtnut.com/l/_yrosfIb1rlAc
https://dl.doubtnut.com/l/_BxOMofSEJnLh


D. -glycosidic bond

Answer: A

Watch Video Solution

β

23. The correct statement regarding RNA and DNA

respectively is

A. The sugar component in RNA is arabinose and the

sugar component in DNA is ribose

B. The sugar component in RNA is 2'-deox- yribose and the

sugar component in DNA is arabinose

C. The sugar component in RNA is arabinose and the

sugar component in DNA is 2'-deoxyribose

https://dl.doubtnut.com/l/_BxOMofSEJnLh
https://dl.doubtnut.com/l/_1LuyzOjPpkmx


D. The sugar component in RNA is ribose and the sugar

component in DNA is 2'-deoxyribose

Answer: D

Watch Video Solution

24. Which of the following are non - reducing sugars ?

A. Glucose

B. Sucrose

C. Maltose

D. Lactose

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_1LuyzOjPpkmx
https://dl.doubtnut.com/l/_Kcq2HJhaCfHt


Watch Video Solution

25. The central dogma of molecular genetics states that the

genetic information flows from

A. Amino acids  Proteins  DNA

B. DNA  Carbohydrates  Proteins

C. DNA  RNA  Proteins

D. DNA  RNA  Proteins

Answer: C

Watch Video Solution

→ r →

→ →

→ →

→ →

https://dl.doubtnut.com/l/_Kcq2HJhaCfHt
https://dl.doubtnut.com/l/_kC7v4qiz7OG8


26. In a protein molecule various amino acids are linked

together by

A. Peptide bond

B. Dative bond

C.  - glycosidic bond

D. -glycosidic bond

Answer: A

Watch Video Solution

α

β

27. The correct corresponding order of names of four aldoses

with configuration given below  
CHOCHOH

https://dl.doubtnut.com/l/_iaQT819oaQJl
https://dl.doubtnut.com/l/_gl5UiuVdXywf


A. L-erythrose, L-threose, L-erythrose, D- threose

B. D-threose, D-erythrose, L-threose, L- erythrose .

C. L-erythrose, L-threose, D-erythrose, D- threose

D. D-erythrose, D-threose, L-erythrose, L- threose

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gl5UiuVdXywf
https://dl.doubtnut.com/l/_0S4vvUTUdCli


28. Which of the following statements is not correct

A. Denaturation makes the proteins more active

B. Insulin maintains sugar level in the blood of a human

body

C. Ovalbumin is a simple food reserve in egg white

D. Blood proteins thrombin and fibrinogen are involved in

blood clotting

Answer: A

Watch Video Solution

29. The difference between amylase and amylo- pectin is

https://dl.doubtnut.com/l/_0S4vvUTUdCli
https://dl.doubtnut.com/l/_fqqUQ186AK6t


A. Amylopectin have 1 and  4  - linkage and  -

linkage

B. Amylose have  - linkage and  - linkage

C. Amylopectin have - linkage and  -

linkage

D. Amylose is made up of glucose and galactose

Answer: B

Watch Video Solution

→ α 1rar6β

1 → 4α 1 → 6β

1 → 4α 1 → 6α

30. Which of the following compounds can form a zwitterion

?

A. Benzoic acid

https://dl.doubtnut.com/l/_fqqUQ186AK6t
https://dl.doubtnut.com/l/_AbuZbAp9r78Y


Objective Exercise 4 Assertion A Reason R Type Questions

B. Acetanilide

C. Aniline

D. Glycine

Answer: D

Watch Video Solution

1. (A) Fructose has ketone group and does not reduce Tollen's

reagent. 

(R) Fructose in Haworth structure has SiX membered ring.

https://dl.doubtnut.com/l/_AbuZbAp9r78Y
https://dl.doubtnut.com/l/_cY1MPpcUXT65


A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

2. (A) All carbohydrates fit in the general formula 

where x=y 

(R) Acetic acid  gits into the genral formula 

 and considered as carbohydrate.

Cx(H2O)y

(CH3COOH)

Cx(H2O)y

https://dl.doubtnut.com/l/_cY1MPpcUXT65
https://dl.doubtnut.com/l/_wRSSgQMnqirS


A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

3. (A) Glucose shows mutarotation 

(R) Glucose is in pyranose form and has free anomeric

hydroxyl group.

https://dl.doubtnut.com/l/_wRSSgQMnqirS
https://dl.doubtnut.com/l/_CLZsXRA28nKe


A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

4. (A) Sucrose is not a reducing sugar. 

(R) In sucrose, glucose is in pyranose form and fructose is in

furanose form.

https://dl.doubtnut.com/l/_CLZsXRA28nKe
https://dl.doubtnut.com/l/_wcQfI059IVvd


A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

5. (A) When  glucose dissolved in water, specific

rotation of the solution changes from  


(R) :  glucose when dissolved in water, the

α − D

+111∘  to + 52.52

α − D −

https://dl.doubtnut.com/l/_wcQfI059IVvd
https://dl.doubtnut.com/l/_5frextijf0DI


equilibrium mixture of  Glucose and -

Glucose is formed

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

α − D( + ) β − D( + )

https://dl.doubtnut.com/l/_5frextijf0DI


6. (A) Fructose is the sweetest naturally occuring sugar. 

(R) Fructose is a functional isomer of glucose.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h7Rs2hZ5G6FT


7. (A) Cellulose is not digested by human beings. 

(R) Human beings are not having cellulose digestable

enzymes.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yfinU5NoJA5L
https://dl.doubtnut.com/l/_dvkG4B8ZVwnG


8. (A) Hydrolysis of sucrose is called inversion of cane sugar.

(R) Sucrose on hydrolysis gives laevo rotatory glucose and

dextro rotatory fructose

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dvkG4B8ZVwnG


9. (A) In a sucrose molecule, glucose is present in the

furanose form and fructose is present in the pyranose form. 

(R) Pyranose and furanose are homocyclic ring compounds.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0wGY4j024QnK
https://dl.doubtnut.com/l/_2EomAuNt2JnZ


10. (A) Reducing sugars undergo mutarotion. 

(R) During mutarotation, one pure anomer is converted into

an equilibrium mixture of two anomers

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2EomAuNt2JnZ


11. (A) Galactose is the  epimer of glucose. 

(R) Glucose and galactose differ in configura- tion at .

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

C4

C4

https://dl.doubtnut.com/l/_kkYbLHCcsezt


12. (A) Sucrose is an example of reducing sugar. 

(R) Sucrose gives silver mirror test with Tollens reagent.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YcXutxc5K7N5


13. (A) Two different hexoses may give the same osazone. 

(R) Different Hexoses give same osazone if the first and

second carbon atoms have same configuration.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FU0sGa7mhuzN
https://dl.doubtnut.com/l/_CXnNzcJKxtdd


14. (A) -D (+) Glucose and  - Glucose are

enantiomers. 

(R)  Glucose and - Glucose are mirror

images.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

α β − D( + )

α − D( + ) β − D( + )

https://dl.doubtnut.com/l/_CXnNzcJKxtdd
https://dl.doubtnut.com/l/_A1hS8m5CUCaH


15. (A) Reduction of glucose with sodium borohydride gives

sorbitol. 

(R) Sodium borohydride can convert a carbonyl group to

alcoholic group.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_A1hS8m5CUCaH
https://dl.doubtnut.com/l/_P3dLjwa0BvvA


16. (A) Glucose and fructose give the same osazone. 

(R) Glucose and fructose have same configu- ration at

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

Cy, C4 and C5

https://dl.doubtnut.com/l/_P3dLjwa0BvvA


17. (A): Fructose gives positive Tollen's test. 

(R) : Fructose is a Ketose.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4HWRrZwz1khi


18. (A) Cane sugar undergoes inversion in aqueous solution. 

(R) Cane sugar hydrolyses in water to give two

monosaccharides, in which degree of rotation is dominated

by fructose than glucose.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JEZNX4Bcsqa0


19. (A)  is a carbohydrates. 


(R) Most of the carbohydrates have a general formula of

.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

C6H10O5

Cx(H2O)y

https://dl.doubtnut.com/l/_0irJ6BFtXyvD
https://dl.doubtnut.com/l/_fLutPlNjR7Cd


20. (A) Lactose is a reducing sugar. 

(R) Lactose contains glucose and galactose units.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fLutPlNjR7Cd


21. (A) Lactose is a reducing Sugar 

(R) Lactose if formed by glucosidic link between  of (D) -

galactose and  of b- (D) - glucose

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

C1

C4

https://dl.doubtnut.com/l/_uJ6P9Fj4Nxkw
https://dl.doubtnut.com/l/_sMPZDMFlASdD


22. (A) D-Glucose and D-Mannose form identical osazone on

reaction with excess of phenyl hydrazine 

(R) D-Glucose and D-Mannose are epimers differing in

configuration at C-2 only.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sMPZDMFlASdD
https://dl.doubtnut.com/l/_OoAi1KTxdNly


23. (A) Sucrose is reducing sugar where as maltose is non-

reducing sugar.

(R) In disaccharides the reducing property does not depend

upon the position of linkage between two monosaccharide

units.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OoAi1KTxdNly


24. (A) Glucose gives a reddish-brown ppt with Fehling's

solution. 

(R) Reaction ofglucose with Fehling's solution gives CuO and

gluconic acid.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OoAi1KTxdNly
https://dl.doubtnut.com/l/_Ise2yZ5bBhSt


25. (A) Sucrose is a non-reducing carbohydrate. 

(R) In sucrose both the monosaccharides are in acetal form.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ise2yZ5bBhSt
https://dl.doubtnut.com/l/_Q49knGklzMVX


26. (A) Glycogen is known as animal starch. 

(R) The structure of glycogen is similar to amylopectin

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QCQwN989a8c3


27. (A) Acetic acid fit into  gneral formula of

carbohydrates. 

(R) Acetic acid is not a carbohydrate

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

Cx(H2O)y

https://dl.doubtnut.com/l/_2ILKrlvBLWcG
https://dl.doubtnut.com/l/_j7QIBR31jmU3


28. (A) Honey has been used for a long time as an instant

source of energy by vaids in ayurvedic medicine. 

(R) If the body needs glucose, enzymes break the glycogen

down to glucose.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_j7QIBR31jmU3
https://dl.doubtnut.com/l/_72dIxRhv1PSc


29. (A) Starch gives blue colour with iodine. 

(R) Starch form complex with iodine, which is blue in colour.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_72dIxRhv1PSc


30. (A) DNA stores all the hereditary information of a

biological species. 

(R) A change in the usual sequence of bases of DNA molecule

causes mutation.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HE7l5HDHpayX


31. (A) 2-deoxyribose is reducing sugar. 

(R) 2-deoxyribose is constituent of DNA.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gZCfZjqFVaXW


32. (A) Guanine unites with Cytosine but not with Thymine. 

(R) Guanine and Cytosine are purine bases while Thymine is a

pyrimidine base.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_28j6VYe4nKNe
https://dl.doubtnut.com/l/_eb4168oBUMcm


33. (A) Adenine pairs up with thymine but not with cytosine. 

(R) With cytosine, no hydrogen bonds are possible for

adenine.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eb4168oBUMcm


34. (A) The pyrimidine base thymine is present in RNA. 

(R) DNA controls the synthesis of proteins

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4A2EdlCivYFg


35. (A) In double helical structure of DNA, cytosine pairs with

guanine with three hydrogen bonds. 

(R) Cytosine contains one primary amine group, one

secondary amine group and one keto group.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_o7LwWDhKClqN


36. (A) Uracil occur in RNA. 

(R) RNA controls the synthesis of proteins.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e6fZgc10PgI6


37. (A) DNA finger printing is used in forensic labs. 

(R) Every individual has unique finger prints.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GHq5gSi6OYvl


38. (A) DNA is the chemical basis of heredity and may be

regarded as the reserve of genetic information. 

(R) The production of DNA from RNA is called

semiconservative replecation.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DoCpVw9uRqEH


39. (A) RNA on hydrolysis gives equal content of guanine,

cytocine and also give equal content of adenine, uracil. 

(R) The three types of RNA's perform same function.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_o4MZx0obb70R
https://dl.doubtnut.com/l/_wMv9cqjBp0gB


40. (A) Thymine pairs with adenine whereas cytosine pairs

with guanine in DNA molecule. 

(R) The hydrogen bonding between bases of two strands is

highly specific.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wMv9cqjBp0gB
https://dl.doubtnut.com/l/_SCIiSiPcvD9Z


41. (A) Glutamic acid is acidic amino acid.

(R) Glutamic acid contains two acidic groups and one basic

group.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SCIiSiPcvD9Z


42. (A) The simplest  -amino acid is optically inactive. 

(R) Simplest  amino acid has no chiral carbon centre.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

α

α

https://dl.doubtnut.com/l/_8xC3G4opqiEn


43. (A) Glycine is essential amino acid. 

(R) Glycine is optically active  -amino acid

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

α

https://dl.doubtnut.com/l/_KUY1ePrmtzpa


44. (A) The folding of polypeptide chains leads to globular

proteins. 

(R) Globular structure is a part of secondary structure of

protein.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xtGt1xysx63o


45. (A) Alpha amino acids generally exists as zwitterions. 

(R) The basic amino groups of  -amino acids donates a

proton to the carboxylic group.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

α

https://dl.doubtnut.com/l/_Cu7S0oedjnZL
https://dl.doubtnut.com/l/_iII42sTZJVcD


46. (A) The melting points and solubility in water of amino

acids are generally higher than that of the corresponding

halo acids. 

(R) Amino group of amino acids can form hydrogen bonds

but halogen of halo acids can not form hydrogen bonds.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iII42sTZJVcD


47. (A) Enzymes are globular proteins. 

(R) Enzymes provide active site to substrate.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Xh5bzLxlh9So


48. (A) Denaturation of a protein can be done on heating or

by adding a suitable solvent. 

(R) Denaturation of a protein effects its primary structure.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jysayVqU3fvu
https://dl.doubtnut.com/l/_kLlzQ6UBIGqJ


49. (A) All enzymes are proteins but all proteins are not

enzymes.

(R) Keratin is an enzyme.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kLlzQ6UBIGqJ


50. (A) At isoelectric point an amino acid has highest

solubility. 

(R) Isoelectric point ofan amino acid is usually at a pH value

of

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cjdj7T8h26AJ


51. (A) A protein chain tends to fold in a repeating geometric

structure 

(R) A protein chain with more number of hydrogen bonds is

having less energy.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_K1FkAx09cIQp


52. (A) Entropy increases due to boiling of egg. 

(R) Breaking of tertiary structure of protein takes place due

to boiling of egg.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gJyrDASb8e3w
https://dl.doubtnut.com/l/_UGfTQZvRRaNC


53. (A) Amino acid that can be synthesised by human body is

called essential amino acid. 

(R) All  -amino acids are essential amino acids.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

α

https://dl.doubtnut.com/l/_UGfTQZvRRaNC


54. (A) At isoelectric point, the amino group does not migrate

under the influence of electric field. 

(R) At isoelectric point, amino acid exists as a zwitter ion.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zMQF2jev4eZG
https://dl.doubtnut.com/l/_TJvU8rK6UwHd


55. (A) Albumin, present in egg white converting into water

insoluble fibrous protein on heating. 

(R) On heating albumin, present in egg white is denatured.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TJvU8rK6UwHd


56. (A) Rate of the hydrolysis of sucrose in the presence of

acid is less when compared with the presence of sucrase

enzyme. 

(R) Enzyme sucrase reduces the magintude of activation

energy for hydrolysis of sucrose.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5bXK0sJY0T6P


57. (A)  -amino acids have high melting point and show

unusually high solubility in polar solvents. 

(R) The Zwitter ion behaves like a salt.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

α

https://dl.doubtnut.com/l/_5bXK0sJY0T6P
https://dl.doubtnut.com/l/_fnuYiYVynuf1


58. (A) Proteins are step growth polymers of - amino acids.

(R)  - amino acids are bonded to each other through

peptide linkage.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

α

α

https://dl.doubtnut.com/l/_zvS2i4o5mzjh
https://dl.doubtnut.com/l/_75KLuSfjya11


59. (A) The proteins are synthesised by various RNA molecules

in the cell. 

(R) The message for the synthesis of a particular protein is

present in DNA.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_75KLuSfjya11
https://dl.doubtnut.com/l/_miDcUELmfU76


60. (A) Tertiary structure of proteins represents overall

folding i.e. further folding folding of  structure. 


(R)  &  structures of protein stabilized by hydrogen

bonds disulphide linkages, vander waals & electrostatic force

of attraction.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

2∘

2∘ 3∘

https://dl.doubtnut.com/l/_miDcUELmfU76


61. (A) Valine and Leucine are essential amino acids. 

(R) Both valine and Leucine are not synthe-sised by body and

must be supplied only through the diet.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_miDcUELmfU76
https://dl.doubtnut.com/l/_HyRvKHTJm4US
https://dl.doubtnut.com/l/_kVlIXmq4X8CK


62. (A) Leucine and isoleucine are structural isomers. 

(R) Isoleucine has iso butyl group on ex- carbon.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kVlIXmq4X8CK


63. (A) Xerophthalmia is treated with vitamin -  

(R) Xerophthalmia is digestive desorders and burning

sensation of the skin.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

B6

https://dl.doubtnut.com/l/_86fsqdg0B3cV
https://dl.doubtnut.com/l/_xH7Dltoe2Dfs


64. (A) Insulin contains two peptide chains. 

(R) Insulin is an example of dipeptide.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xH7Dltoe2Dfs


65. (A) Vitamin 'C' is ascorbic acid. 

(R) All acids are vitamins

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uTokuUgQfqTl


66. (A) All hormone receptors are proteins, 

(R) All hormones are proteins

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QozMScCxncUJ


67. (A) Water soluble vitamins like ascorbic acid must be

supplied regularly in diet. 

(R) Water soluble vitamins are readily excre- ted in urine and

cannot be stored in our body (except vitamin )

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

B12

https://dl.doubtnut.com/l/_uDxdRIQ7pYgm


68. (A) Vitamins are important in diet. 

(R) Deficiency of vitamins causes diseases.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7RzsqY5ZIFu4


69. (A) Insulin is a steroidal harmone. 

(R) A steroid contains two five membered and two six

membered rings.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Qasc238viGoH
https://dl.doubtnut.com/l/_d1Zxe54rPyp1


70. (A) Vitamins are considered as essential food factors.

(R) Most of the vitamins cannot be synthe- sised in our body

and most of the vitamins available in our diet.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_d1Zxe54rPyp1


71. (A) Vitamins are to be supplimented to the body as an

energy source. 

(R) Vitamins on burning give high energy.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LgFhw5IVOIf9
https://dl.doubtnut.com/l/_2bybxX9gCzDH


72. (A) Deficiency of vitamin K causes excessive bleeding in

injuries. 

(R) Vitamin K is anti haemorragic.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2bybxX9gCzDH


73. (A) Enzyme catalysed hydrolysis of sucrose is faster than

acid catalysed hydrolysis. 

(R) Activation energy for enzyme catalysed reaction is much

lesser than acid catalysed hydrolysis.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_D9Ma8Ni6O1yi


74. (A) Insulin is a globular protein. 

(R) Insulin has two polypeptide chains consist of 51 amino

acids joined by two disulphide linkage.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oK6vRNXtAkY5
https://dl.doubtnut.com/l/_3mcyi4eQcOzD


75. (A) Low level of thyroxine leads to hypo- thyroidism. 

(R) Thyroxine is an iodinated derivative of amino acid

(tyrosine)

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3mcyi4eQcOzD


76. (A) Carbohydrate metabolism is controlled by gluco

corticoids. 

(R) Hormones produced by gonads control the carbohydrate

metabolism.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nSWps16vW4oA


77. (A) Enzymes are needed in large quantities for the

progress of a reaction. 

(R) Enzymes increases the magnitude of activation energy.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ho8Ny22cwfXY
https://dl.doubtnut.com/l/_42WzgtlnibBD


78. (A) Hormones are produced by endocrine glands in the

body. 

(R) Hormones act as inter cellular messengers.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_42WzgtlnibBD


79. (A) The deficiency of vitamins causes specific diseases. 

(R) All vitamins can not be synthesized in our body.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fevved88IkvN


80. (A) Taking excess vitamin pills are harmless. 

(R) All the vitamins are available in our diet.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RHyEvzcpbvwx


81. (A) Vitamins A, D, E and K are stored in liver and adipose

tissues. 

(R) Vitamins A, D, E and K are insoluble in water.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jQLxBjPckMeR
https://dl.doubtnut.com/l/_3J4fh8wJeaCC


82. (A) 'B' group vitamins except B-12 cannot be stored in our

body. 

(R) 'B' group vitamins are insoluble in water.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3J4fh8wJeaCC


83. (A) Epinephrine and nm epinephrine are derivatives of

polypeptides. 

(R) All hormones are d.erivatives of polypeptides.

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CntBqkxLLHDb
https://dl.doubtnut.com/l/_Pmd7hlSyQI0T


84. (A) B-complex vitamins and vitamin-C are not stored in the

body. 

(R) B- complex vitamins and vitamin- C are water soluble

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Pmd7hlSyQI0T

